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Supplementary Material

Alignment of 5S rDNA IGS sequences of Solanum species

Note: This file represents a comparison of sequences of major and minor
variants of 5S rDNA IGS (ribotypes) present in genomes of Solanum

species.



S. abancayense, abn
Majority CTTTTTTGTTGAAATTCGGTCGTGTAGCATTTAAATATTATATT-ATTTTTCTGCAGAAACGACATTCGGATTGAGACGT
10 20 30 40 50 60 70 80
————————— e e e et e s
Abn-CIRL .. i e e e IS S S
abn-CIlRZ ... . e e e I T T
Abn-CIR3 .. e e e e e e S S S
abn-C2RL ... e e e I T T
Abn-C3RI ... e i e e e I S S
abn-C3R2 ...... L AT. .. i T...... T e
abn-C3R3 ...... e AT. ..ot T...... T e e
Majority CGTTAGGACAGGTGATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGTGGAGGCTAGGTCGGTG
90 100 110 120 130 140 150 160
————————— e e A e e it 3
abn-CI1R1 G e i e e e e e e e e e e e e e e T
abn-C1R2 B e e
abn-CIR3 ....... 1
o] 0 R
abn-C3RL ... i e e e e A e
abn-C3R2 ........ ... i, .
o] &) e O
Majority GGGGGCAGGCTAGGGCGTTGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210 220
————————- Fomm Fomm Fomm Fomm Fomm ==
abn-CI1R1
abn-CIlRZ .. ... i i i e ot e 222 bp
o] 0 R O 222 bp
abn-C2RI ... .. i e CC e e 222 bp
o] &3 o e O 222 bp
AbN—C 3R L e e e ettt e e 223 bp
AbN=C 3R Lo e e et 223 bp
abn-C1R1 | abn-C1R2 | abn-C1lR3 | abn-C2R1 | abn-C3R1 | abn-C3R2 | abn-C3R3
xxx 97.8 97.8 98.2 98.7 96.4 96.9 abn-C1R1
* oK x 97.3 98.7 98.2 96.0 96.4 abn-C1R2
x Kk 97.8 98.2 96.0 96.4 abn-C1R3
*oxx 98.7 96.4 96.9 abn-C2R1
x ok 96.9 97.3 abn-C3R1
x Kk 99.6 abn-C3R2
el abn-C3R3
Similarity: 96.0-99.6



S. abutiloides, abu
Majority CCXTTTTGTCGAAATTCGGCACAACTTCGTCTGTTTGATGATATTTTTTTCCCCGXAGAAACGATATTTGGGCCGAGAXG
10 20 30 40 50 60 70 80

LTS 1 6 R 1 B0 Ge ettt e e e e C.
L ST T 01 B 1 S C et e e i e G.

Majority TCGTTGGGACTGGCGATGAGGACGGGCGTXCCAGGCGTCACCACXCGCCGGTGCGTGCAGGCTAGGGCGGTGGGGTGCAG

90 100 110 120 130 140 150 160
————————— B el e et T e e e
PSabu-5S1 ... .. e e Attt iii i Goe e e e e e e e e e e e e
PSabu—-5S4 ... ... e e R et e e e i i e e e e e
Majority GCTAGGGCGGTGGGAGGAATGTGGTTTAATAXAATTTAGAGTGCAAGGAATGAX
170 180 190 200 210
————————— B et e T et Tl ST
PSabu—-5S1 ... e e e ettt et et e e e C 214 bp
PSabu—5S4 ... e e e e Ge et e e e e e e T 214 bp

pSabu-5S1 | pSabu-554

*xx 96.7 pSabu-5S1

xx*x pSabu-5S4

Similarity: 96.7



S. acaule, acl

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAA-TATTATTATTTATTTTTTGTAGAAACGACGTCGTTAGGACTAA

10 20 30 40 50 60 70 80
————————— B nat s et R et itk e
ACaADS .2 e e e e e e e e e S
ACADS .3 i e e e e e et e e T e e eie e B i e e e e et et e e
ACADS . 4 e e e e e e e e B e e e e e e e e e e e e et e e e
=R =0 1S T T e e et e e ettt e e

Majority CAGGTGATGGGGGCGTTGGGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGG

90 100 110 120 130 140 150 160
————————— B natat e e T et s et e
F= 7= 1 1
Fo R o7= G 1 S T
F= 7= s 1
=R =0 1 T T

Majority G-CAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT

170 180 190 200 210 220
————————— B it e et e ekt I TP bR S
acabS .2 Lo e e At e e e e e e e Ao 219 bp
=0 7= 1 1 NG T C 219 bp
Lo 220 bp
L= 1 1 R T 219 bp
acabS.2 acabs.3 acabsS.4 acabsS.5
*A Ak 97.3 98.6 99.1 acabS.2
bk 97.7 98.2 acabs.3
kel 99.5 acabsS.4
*Rx acabsS.b

Similarity: 97.3-99.5



S. achacachense, ach
Majority CCTTTTTGTCGAAATTCGGTCGTGTAATT---—-——-—-———— ATTATTTATTTTTTGCAGAAAGTCGGTCGTTAGGACAGGT
10 20 30 40 50 60 70 80
————————— +-——t e ————— ¢
ach-CIR1 .......iiiiiiinnn. AC....... GAAAAAATATT . . v ittt i it i e CGAC. ...
ach-CIR4 ......... ... .. AC....... GAAAAAATATT....... L CGAC. .. v i i
ACh=CLlRZ i e T T T T e T e e e
ACR=C LR i T T T T T T T T T T e e e e e e e e
ach-C7R1 ... .. i it T T T e e e e e e
Majority GATGGGGGCGTTGAGGATGGGCGTGACGGGCGG----CGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCA
90 100 110 120 130 140 150 160
————————— B e it e e e il o
ach-CIRL .G.iii ittt ittt i ittt i i GGGG. ...l A e e e e
ach-CIlR4 . G...iiiiiiii ittt iiii e GCGG.vvvvinnn A e Gevvnnns
ach—ClRZ2 it it ittt i i e T T e e e e e e e e e e e e
ach—CIlR3 ..t i i ettt T T e e e e ettt e e e e e
ach-C7RL .. i i i i i i e T et e e e e e e e,
Majority GGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— R it e s e
o0 o e O G.... 217 bp
o o O 217 bp
ach-CIR2 ... ... . i Gttt e 202 bp
ACh-CIR3 L e e e i e e e e e 202 bp
ach-C7R1 ... .. i A e e 202 bp
ach-CI1R1 ach-C1lR4 ach-C1lR2 ach-C1lR3 ach-C7R1
el 98.2 87.6 88.5 87.6 ach-C1R1
xAK 87.1 88.0 87.1 ach-C1R4
xAx 99.1 98.2 ach-C1R2
*A K 99.1 ach-C1R3
xxK ach-C7R1
Similarity: 87.1-99.1



S. acroglossum, acg

Majority CCTTTTGGTCGAAATTCGGTCGAGTAATTGAAAAAATATATTATGATTTTTTGCAGAAACGACATTCGGATTGAGACGTC
10 20 30 40 50 60 70 80
————————— +--—— 4 ————————— 1
acg-ClR1 .......... e e e e e e e e e et e e e e ettt ettt e e e cC.
o Ee O C.
ACT=C 2R i e e e e e e e e e e e e e e e e .
Eo a0 B
acg-C4R1 ........ 2
ACO=COR L i e e e e e e e e e e e e e e e e e ettt e et e e e
F= e el O 5 et e e e ettt et e e e et e
Majority GTTAGGACGGGTGATGGGGGCGTTGAGGAAGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGTGGAGGCTAGGCCGGTGG
90 100 110 120 130 140 150 160
————————— B it e e et B i ittt bl o
o e el 5
= el O
Eo e B 0 o
F= e Ll GG
o e el
F= 0 Eel O e
= e Ll O 0 2
Majority GGGTCAGGCAAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCAATGAATGAT
170 180 190 200 210 220
————————— R Rt e et e e i
acg-CIlRL .. i e e e 223 bp
o o O 223 bp
acg-C2R1 ................. et e e e e C 223 bp
o o O 223 bp
acg-C4RL ... . e e et e e e e e 223 bp
o o O 223 bp
acg-C6R1 ................. et e e e e 223 bp
acg-ClR1 acg-ClR2 acg-C2R1 acg-C3R1 acg-C4R1 acg-C5R1 acg-C6R1
x KK 99.1 96.4 98.7 97.8 97.3 97.3 acg-ClR1
el 97.3 99.6 98.7 98.2 98.2 acg-ClR2
HxK 97.8 96.9 98.2 99.1 acg-C2R1
bk 99.1 98.7 98.7 acg-C3R1
el 97.8 97.8 acg-C4R1
xxx 99.1 acg-C5R1
il acg-C6R1
Similarity: 96.4-99.6



S. acroscopicum, acs

Majority CCTTTTGGTCGAAATTCGGTCGTGTAATTGAAAAAATATATTTATTATTTTTGCAGAAACGACATTGGGATTGAGACGTC
10 30 40 50 60 70 80
————————— Bt T e s B e i
= = et Gevvvvennn
Eo @ Rl O
TRl O 2
acs-C2R1 Covvvnnnnn ottt e e e ettt e e e et et e e e e et e ettt e et e e
Tl G 1 2
Fo R = Fel O
acs-C5R1  ............ CT.C.TT....cuvvv... e e e e e e e e ettt e ettt e et et e e
acs-COoR1  ....ceiieeeen.. Cut e et iieee e e et e e e e e e et et et eeaeeeaeeeeaaeeeeeeennneeens
acs-C7R1 S
acs—-C7TR2 .+ . iiieiennnnnnn ettt e e et et e e ettt ettt e et e e et e e e e e e
ACS=CBRL ittt e e e e e e e et e e
Majority GTTAGGACAGGTGATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCGTGCGTCGGTGCGCGGAGGCTAGGTCGGTGG
90 110 120 130 140 150 160
————————— B e e e i R it
Fo = Ll
T Tl G 1
Eo @ Rl O 5
Tl O = e
Fo = el GG
Fo = Rl O
F= R = Fel O
Fo @ Rl O 0
F= K= Fel O
Eo =R O
Tl O = 2 e
Majority GGGGTCAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTT-AATAGAATTTAGAGTGCTATGAATGAT
170 190 200 210 220
————————— B it i e it e e
= e O T T 224 bp
ACS—CIRZ L e e e e e e T e e e e Covvnnt 224 bp
acs-CI1R3 T T T Covnnn.. 224 bp
ACS=C 2RI i e e e et et T et et e 224 bp
acs—C3RL ... i i T 224 bp
ACS—CARL . e e e T e Covvnn.. 224 bp
ACS—CORL L e e e e e e T e e e e Covvnnt 224 bp
ACS=CORL it e e T e e e e Gevveenns 225 bp
acs—CTRL . im i i i T 224 bp
ACS—CTRZ =i e Ce e T e e 224 bp
acs—CBRI ... - i i i T 224 bp
acs- acs- acs- acs- acs- acs- acs- acs- acs- acs- acs-
C1R1 C1R2 C1R3 C2R1 C3R1 C4R1 C5R1 Co6R1 C7R1 C7R2 C8R1
KA K 98.7 98.7 98.7 98.7 99.1 96.4 98.2 98.2 97.8 98.2 acs-C1lR1
bk 99.1 98.2 98.2 99.6 96.9 97.8 97.8 97.3 97.8 acs-ClR2
bk 98.2 98.7 99.6 96.9 97.8 98.2 97.8 98.2 acs-C1R3
KAK 98.2 98.7 96.9 98.7 97.8 98.2 97.8 acs-C2R1
KAK 98.7 96.0 97.8 99.6 99.1 99.6 acs-C3R1
KAK 97.3 98.2 98.2 97.8 98.2 acs-C4R1
b 97.3 95.6 96.0 95.6 acs-C5R1
b 97.3 97.8 97.3 acs-Co6R1
KAk 98.7 99.1 acs-C7R1
xR 98.7 acs-C7R2
xxx acs-C8R1
Similarity: 95.6-99.6




S. aculeatissimum, acu

Majority CCTTTTTTGTCGAAATTCGGTCTGATCTCGTCTATCTATATTATTT-TTGGCTCAGGCGACATTTGTTTGGGTCGGGACG

10 20 30 40 50 60 70 80
————————— e e e st e e
P SaCUL i e e e e e e e e e o
ST = K 2 o
pSacu3  ....... ot e e e e e e e et e e e e e e e 2
ST = K o
1S 1S T K 1 T e e e e e e et et e e

Majority TCGTTAGGACGGTTGAGGAAGAAGGGCGTGGCCCTTTGGCGGTGGTGATGCAGGAGGCTAGGGCGTCGTGAGGAATGAGG

90 100 110 120 130 140 150 160
————————— i e e et e e bt TP e e
pSacul  ..... [
TS5 2
PSACUS ittt et e e e e e e e et e e e e ettt et ettt ettt A.
ST = K .
ST = K 1 T

Majority TTTAATAGAATTTAGAGTGGTAGGAATGAT

170 180 190
————————— o
pSacul e e e e e e e 189 bp
PSACUZ ittt ettt e et 189 bp
PSACUS3 ittt et et e e e et 190 bp
PSaCUd e e e 189 bp
PSaACUD it e e e e e e e 189 bp
pSacul pSacu? pSacu3 pSacu4 pSacub
el 98.9 96.8 98.9 98.9 pSacul
* Kk x 97.9 100.0 100.0 pSacu?
xkox 97.9 97.9 pSacu3
KAk 100.0 pSacu4
*okx pSacub

Similarity:

96.8-100.0




S. aethiopicum, aet
Majority CTTTTTTTGCCGAAATTTCGTCGTCTATTCGGCGAATGATTATTTTTTTTGGCGGTTTGGG-—————————=—— GAGAGA
10 20 30 40 50 60 70 80
————————— +-——t e ————— ¢
oS e TCGTTTGCTTGGG. ... ..
o e Sttt
oS e itttk PN
aet-C6R1 ........ ittt
Majority CGTCGTTAGGACGGTTGAGGAAGGGCGGTGGCGTGCATGGCTAGGGCGTGGGGGGAGGAATGAGGCTTAATAGAATTAAG
90 100 110 120 130 140 150 160
————————— -t ¢
aet-CIRl ... .. i e T e e T
aet—C2RL . i e e o e e e e e
oS e
o e O A e
Majority AGTGCTAGAAATGAC
170
_________ +_____
aet-CIRI ............... 175 bp
aet-C2R1 ............... 162 bp
aet-C4R1 ............... 162 bp
aet-Co6R1 ............... 162 bp
aet-ClR1 | aet-C2R1 | aet-C4R1 | aet-C6R1
xxx 90.9 90.9 90.3 aet-CIlR1
xxx 98.9 98.3 aet-C2R1
*xx 98.3 aet-C4R1
*xx aet-C6R1
Similarity: 90.3-98.9



S. ajanhuiri, ajh

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAATATTATTATTTATTTTTTGTAGAAACGACGTCGTXAGGACTAAC

10 20 30 40 50 60 70 80
————————— T T Tt STt B Ttttk TR
BIN=CLRL ettt ettt e e e e e e e e e e Covenennn.
N o 023 = B e Teennn..
o oc) = PP Covenennn.
BIN=CARL oottt et e e e e e N Teeenn..

Majority AGGTGATGGGGGCGTTGGGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGX

90 100 110 120 130 140 150 160
————————— Bt et e e ettt
N ot o= U PP A
o o2 = N G
Y s oc - O A
aFR=CARL ot eteeieieie A Guveeeeeee G

Majority CAGGCTAGGXCGTTGGGAGGAAGGAGGTGTTTAATAXAATTTAGAGTGCTATGAATGAT

170 180 190 200 210
————————— e e et e e e
ajh-C1RL  +euen.... T e e e e e Gt e e e 219 bp
ajh-C2RL  veen.... Gouveeeee T Guveeeeeeen N 219 bp
ajh-C3R1 ......... T e e e e e e e e e e e e e e Coe et e e e ettt e e 219 bp
ajh-C4RL  +enen.... Gt e Gt et e 219 bp
ajh-C1R1 | ajh-C2R1 | ajh-C3R1 | ajh-C4R1
xxK 95.9 99.5 96.3 ajh-CI1R1
xxK 96.3 96.8 ajh-C2R1
xR 96.8 ajh-C3R1
kK ajh-C4R1
Similarity: 95.9-99.5



S. albornozii, abz
Majority CCTTTTGGTCGAAATTCGATCGTGCAATTTTAAAAATATATAATTATTATTTTTGCAGAAACGACATTCGGACGGAGACG
————————— B ettt e T T e e e
10 20 30 40 50 60 70 80
abz-C1R1 ..... Gt e e L
SN e O
abz-ClR3 .. e e e I
SN e 0
oY e G 2
Majority TCGTTAGGACAGGTGATGGGGGGAGTCACGCGTCGGTGCGT----————~ GGTCGGTGGGGGTCAGGCTAGGGCGTTGGG
————————— o
90 100 110 120 130 140 150 160
A Z = LR i e T T T T T T T T e e e e e
A Z LR i e e e e T T T T T T T T T e e e e e
AP Z LR i e e e T T T T T T T T e e e
abz-C2R1 ... e i L it S
abz-C3R1 ... i i e Cee i GGGGGGCTA . vt ittt ittt ittt ettt e e
Majority AGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
————————— R et e e
170 180 190 200
Fo 0 o/ O 193 bp
A Z—C LR e e e e et 193 bp
abz=ClR3 .. i it e e [ 193 bp
A Z—C 2R L i e e e e e e 193 bp
Fo o/ O 202 bp
abz-ClR1 | abz-ClR2 | abz-ClR3 | abz-C2R1 | abz-C3R1
i 99.0 99.0 96.5 94.1 abz-CI1R1
i 99.0 97.5 95.0 abz-C1R2
*k K 96.5 94.1 abz-C1R3
*okx 95.5 abz-C2R1
xRk abz-C3R1
Similarity: 94.1-99.0



S. albostellatum, als

Majority CTTTTTTT------—- TGCCTTCCGGAATTTGGTGGTGTATAGGTCGGTTGAGGGAGGGCTTTAGGCGGTTGGGTCGTTTG
10 20 30 40 50 60 70 80
————————— R e s e ittt
Bl C LRI L T T T T e e et e e ettt e e
als-C2R1 ........-——————..... . e
als-C3R1 ........ N )
Majority CTTGGGCAGGGACGTCGTTAGGACGGCTGAGGAAGGGCGTCGTCGGCGCGTGGAGGCTAGGGCGGTGGCATTGGGGGGAG
90 100 110 120 130 140 150 160
————————— e e e e e e
o I e O AL e e
als-C2RI ...t i e e Covvnnnn A..... e i e Covnns
AlS=C3RL it ettt e
Majority GACTAAGGTTTAATAGAATTAAGAGTCGCTGGAATGAT
170 180 190
————————— e e
als-CIR1 L Ao, 191 bp
als—C2RL ..t i e e 191 bp
als—C3RL .. e i e e e 198 bp
als-ClR1l | als-C2R1 | als-C3R1
* oKk 92.4 %94.4 als-C1R1
el 92.9 als-C2R1
xR K als-C3R1

Similarity: 92.4-94.4



S. ambosinum-1, ambl

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAATATXATTATTTATTTTTTGXAGAAACGACGTCGTTAGGACAGGT

10 20 30 40 50 60 70 80
————————— B e i e e e e bt PRt e S
ambl-CIR1l ......cciieeeeenon. B e e e e A C et e e e e e e e e e e
ambl-C2R2 ............ T e e e e e e e e ettt e T e e e e e i e e C ottt e e i e e
Fo 41 @ R O 2 [ T e e e e e e et ettt
ambl-C4R1 ... ..ttt it Coe e e e e [ T e e et e e et i e e et

90 100 110 120 130 140 150 160
————————— B e i e e e e ittt e e S
ambl-CI1IR1 ........... TGAGGAT GGGl G T . vttt ittt ettt et e et e e eeeoseeseeaseeeseoseesseaneensanns
ambl-C2R2 A.......... TGAAGATGGGCGT .. v oo v e .. Ge e e et et e e et e e e e e A e e
Fo 41 o R O 2 et
o 41 @ N R O et

170 180 190 200 210
————————— B e et e
E= 041 @ N e 213 bp
ambl-C2R2 . ... oo e e e e e e et e e e e e et e e e e 213 bp
Eo 41 @ R O 200 bp
ambl-C4R1 ...ttt ittt e e Covinnn Coe et e 200 bp
ambl-C1R1 ambl1-C2R2 ambl1-C2R4 ambl-C4R1

KAk 96.7 92.5 91.1 ambl-C1R1

kel 90.6 89.2 amb1l-C2R2

KA AK 98.6 amb1-C2R4

KAk amb1l-C4R1

Similarity: 89.2-98.6



S. ambosinum-2, amb2

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAATATTATTATTTATTTTTTGTAGAAACGACGTCGTTAGGACTAAC
30

amb2-C1R1
amb2-C1R2
amb2-C1R3
amb2-C1R4
amb2-C1R5
amb2-C1R6
amb2-C1R7
amb2-C1R8
amb2-C1R9
amb2-C1R10
amb2-C1R11
amb2-C1R12

Majority AGGTGATGGGGGCGTTGGGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGG

10

20

40

50

70

90 100 110 120 130 140 150 160
————————— B e e e e S &
o 041 @ D2
amb2-ClR2 ittt ittt e Gttt e e et et e e e e e e ettt et e e ettt e e
Fo 041 @ D2 O 2
amb2-C1R4  .............. Bt T e e e e e e e e e e ettt e ettt e ettt e e e
Fo 41 @ D2 O 2
F= 041 @ D2 O 2
amb2-CIR7 e e i i et T e e e e e e e et et ettt e e e e e e e
amb2-C1R8  ..... S
Fo 041 @ D2 O
amb2-ClRI0 ..ttt ittt e e et L e e e e e e e e et e et ettt e e e
Fo 041 @ D2
o041 @ D2
Majority CAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— Bt s ittt et ST T L e e
amb2-C1R1 B et e e 219 bp
Fo N 10T @) O 2 219 bp
amb2-C1R3 T e e e et e ettt e e e e e e e e 219 bp
amp2-C1R4  ............. Coa ettt et ettt eeeaneeeeeeesenanaeennnenas 218 bp
ampb2-C1R5  ....... A e T e e e e e 219 bp
amb2-ClRO it ittt ettt T e e e e e ettt et eaee e eeeeeeanaaaeeean 219 bp
amb2-C1R7 e e e e e e e 213 bp
o 10Y 032 O 2 G 218 bp
amb 2 —C LR L e e et 219 bp
F= 10T 0 )22 O 2 219 bp
F= N 10T 0322 O 2 219 bp
amb2-ClR1Z ..t e e e T 219 bp
amb2- | amb2- | amb2- | amb2- | amb2- | amb2- | amb2- | amb2- | amb2- | amb2- | amb2- | amb2-
C1R1 C1R2 C1R3 C1R4 C1R5 C1Ro6 C1R7 C1R8 C1R9 C1R10 | C1R11 | C1R12
KEKX 98.2 97.7 97.3 96.3 97.3 94.1 97.3 98.6 97.7 97.7 97.7 amb2-C1R1
bk 98.6 98.2 97.3 98.2 95.0 98.2 99.5 98.6 98.6 98.6 ampb2-C1R2
KA 97.7 96.8 97.7 95.0 97.7 99.1 98.2 98.2 98.2 amb2-C1R3
KA 96.3 97.3 94.1 97.3 98.6 97.7 97.7 97.7 amb2-C1R4
bk 97.3 93.2 97.3 97.7 97.7 97.3 96.8 amb2-C1R5
xA K 94.1 98.2 98.6 98.6 98.2 97.7 amb2-C1R6
bk 94.1 95.4 94.5 94.5 94.5 amb2-C1R7
*A K 98.6 98.6 98.2 97.7 amb2-C1R8
bk 99.1 99.1 99.1 amb2-C1R9
xxx 98.6 98.2 amb2-C1R10
bk 98.2 amb2-C1R11
xR amb2-C1lR12
Similarity: 94.1-99.5




S. americanum-1, amel

Majority CCTTTTTGTCGAAGTTCGGCATGATTTCGTGTATTTGATAATATATATTATTATTTTTTTGCAGAAACGGCATTCGTGCC
10 20 30 40 50 60 70 80
————————— B it e e et e e ittt
amel-C4R1 ... ... 7
Eo LS R O
amel-C4R3 A e e L 2 Cvetii i i e
AME L —CLlORL ittt it ittt ettt e ettt ettt e A
AME L —C L 2R ittt e e e e e e e e et et e . T e e e e ettt e et e e
Fo LS e
amel-C20R1 T.A...... Bt e e e e e e e e ettt e e e et ettt e e e e
Majority TAGACGTCGCTAGGACGGGCGACGGAGGCGCTGAGGACGGGCGTGACAGGCATGACGTCGGTGCGTGGAGGCTAGGGCGG
90 100 110 120 130 140 150 160
————————— o
Fo LS R O Y At
amel-C4R2  ..... ottt e e e e e et e e e e ettt e e e e e e ettt e e et e et
AME L —CA R ittt i et ettt ettt et e et e e e R Y
amel-CIlO0RL ...ttt iieeeeannn At e e e e e e e e e e e C I
amel-Cl2R]l ..ttt ittt et e e e e e e e e e ettt et et eaeeeeeeeenaeaaeeeeaneeaaneas
amel-CLl7RL ..ttt ittt i e ettt Bl e e e e e e e et et e et e e e
amel-C20R1 .......oiiinn. Bl et e e e e e e e e et e e et e et e e
Majority CGGGGGAAATGCTATGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGCGCAATGAATGAT
170 180 190 200 210 220
————————— e
amel-C4AR1 .. ... i e e e e e e e e e 226 bp
amel-C4R2  ...... e e e e et e et e e e 226 bp
amel-CAR3 .. et et e 226 bp
amel-C1O0RL ... ...t i i i e i 223 bp
amel-Cl2RL ... . i e et e e 225 bp
amel-Cl7RL ... i i e A e e e e 226 bp
amel-C20R1 .................. A e e e e e e 226 bp
amel-C4R1 amel-C4R2 amel-C4R3 amel-C10R1 | amel-C12R1 | amel-C17R1 | amel-C20R1
*A Ak 97.8 95.1 95.6 97.3 98.2 96.5 amel-C4R1
el 95.6 95.6 97.8 98.2 96.9 amel-C4R2
bk 93.4 95.1 95.6 94.7 amel-C4R3
KAk 95.1 96.0 94.2 amel-C10R1
il 98.2 96.5 amel-C12R1
il 96.9 amel-C17R1
KAk amel-C20R1
Similarity: 93.4-98.2




S. americanum-2, ame2

Majority CCTTTTTGTCGAAGTTCGGCATGATTTCGTCTATTTGATAATATATATTATTATTTTTTTGCAGAAACGGCATTCGTGCC
10 20 30 40 50 60 70 80
————————— B it e e et e e ittt
AME 2= C LR it e e e e e e e e e ettt e e et e ettt
AME 2= C LR it ittt e e et e e et e ettt e ettt e e
AME 2= C 2R i e e e e e ettt e e et e et e Goe et e it e e e e -
ame2-C10R1 .......... 72 Y T . e e e e et et
AME 2= C L 2R it ittt e e e e e e e ettt et e ettt ettt -
ame2-C19R1 S
Majority TAGACGTCGCTAGGACGGGTGACGGAGGCGCTGAGGACGGGCGTGACAGGCATGCCGTCGGTGCGTGGAGGCTAGGGCGG
90 100 110 120 130 140 150 160
————————— B it e i e e e it Tl
AME 2= C LR i e e e et e e e et et e e et ettt
AME 2= C LR it ittt e e e ettt et e e ettt e et e
AME 2= C 2R oo oo o e e e e e e et et et e e e et e Attt
ame2-C10R1 S e
ame2-C1l2R1 -——-=-—-———=........ Bl et e e e e e e e e ettt e et e et e e
ame2-C19R1 ........ 2
Majority CGGGGGACATGCTATGTCGTTGGGAGAAAGGAGGTGTTTAATAGAATTTAGAGCGCAATGAATGAT
170 180 190 200 210 220
————————— e
ameZ2-—ClRL L. et e A.. 226 bp
AMEZ2—C LR Lt e ettt e 226 bp
Ame 2 —C2R L Lt e e 217 bp
ame2-C10R1 T e e e e e e et e e e e Ao, 226 bp
ameZ2-Cl 2R L .. et A...... 217 bp
ame2-C19R1 A Ol e e e e i e e e e e e e 226 bp
ame2-C1R1 ame2-C1R2 ame2-C2R1 ame2-C10R1 ame2-C12R1 ame2-C19R1
kel 99.6 94 .7 96.5 94.7 97.3 ame2-C1R1
kel 95.1 96.9 95.1 97.8 ame2-C1lR2
KAk 92.5 98.2 92.9 ame2-C2R1
KAk 92.5 94.7 ame2-C10R1
il 92.9 ame2-C12R1
*A Ak ame2-C19R1
Similarity: 92.5-99.6




S. americanum-3, ame3

Majority CCTTTTTGTCGAAGTTCGGCATGATTTCGTGTATTTGATAATATATATTATTATTTTTTTXCAGAAACGGCATTCGTGCC

10 20 30 40 50 60 70 80

————————— B it T e it e e &

E2 LS e A
AME 3= COR L 4ttt ittt et ettt ettt ettt e e e A e e e e

Majority TAGACGTCGCTAGGACGGGCGACGGAGGCGCTGAGGACGGGCGTGACAGGCATGACGTCGGTGCGTGGAGGCTAGGGCGG
90 100 110 120 130 140 150 160

Eo LS e
Fo LS R O Y 2

Majority CGGGGGAAATGCTATGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGCGCAATGAATGAT

170 180 190 200 210 220
————————— B i it L s S st
AME 3= C 3R it ittt e e e e e e e ettt ettt e e e 226 bp
Lo TR B O 0 226 bp
ame3-C3R1 ame3-C6R1
*k Ak 99.6 ame3-C3R1
lakd ame3-C6R1

Similarity: 99.6



60 70 80

140 150 160
fomm fomm +
214 bp

215 bp

214 bp

S. andreanum, adr
Majority CCTTTTGGTCGAAATTCGAACGTGTAATCGAAAAAATATATTTATTATTTTT-GCAGAAACGACATTCGGATGGAGACGT
10 20 30 40 50
————————— Rt e i At B
S0 it O e
adr-CIlR2 ................ T e e e e T......
adr—CIR3 i i e e e Gt e T
Majority CGTTAGGACAGGTGATGGGGGGGTTGAGGACGGGCGTCGTCATGCGTCGGTGCGTGGAGGCTAGGTCGGTGGGGGTCAGG
90 100 110 120 130
————————— -t
o ol
oY ol
adr—CIlR3 it e e e e e A
Majority CTAGGGCGTTGGGAGGAGGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— B e e it Sttt
adr-CIRIL ... i i e e A i e e
Adr—ClRZ L e e e et e e et e e e
adr-CIR3 .. i i i e e L
adr-ClR1 | adr-C1lR2 adr-C1R3
el 98.6 98.1 adr-C1R1
xA K 97.7 adr-C1R2
*xK adr-C1R3
Similarity: 97.7-98.6



S. anguivi, ang
Majority CTTTTTTCGTCGTCTATTCGGCGAATGATTTTTTTTTTTTXX-GCGGTTGGGTXGTTTGCTTGGGGAGAGACGTCGTTAG
10 20 30 40 50 60 70 80
————————— +--——t 4t —————————+
=0 0 e Eel o e e e ettt e e i e e
ANg-=C2RL i e e e e e e T iiiee e e e e e e e e e et e e e
ANg=C 2R i e e e e e e e e e e e TT—. i e 1 [
ang-Cl0R1 T........ (G T R € C TTT..vveieenn Tt e e i i e
F= 0 0 e Eel O e e e ottt e e i e e
ANg=CLARZ i ittt ittt i e et et e e TTT.eveeeene.. e e e e e e e e e e e e e
Ang—CLlORL it e e e e e e e e e e e e ettt e e i e e
ANg=CLORZ Lttt e e e e et T T T T T T e et e et e e e e e e
Majority GACGGTTGGGGAAGGGCGTCGCGGTAGCAAAAAGGGCTATGGCGGTGGTGTGCATGGCTAGGGCGTGGGGG-AGGAATGA
————————— e e e st e el
90 100 110 120 130 140 150 160
————————— e e e i e e el
ang-CIRI ...ttt i Bl e e e e e e e e e e e e e Gevvvnnnn
ang-C2R1 ... i e e e Bl e e e e e e e e e e e e e e et e e Govvvnnnn
ang-C2R2  ........ Bl e e e e e et ettt et e e e T..o.... N
ang-Cl10R1 ........ B e e e e e e e e e e e e e
ang-Cl4R1l ...ttt ittt Bl e e e e e e e e e e e e e e et e e e GG...... G
ang-Cl4R2 ........ B e e e e e e Goe e e e e e e e e e e e e e
F= 0 0 e Ll O ) e e
Lo oL R O 2 e e e
Majority GGTTTAATAGAATTAAGAGTTCTAGGAATGAT
170 180 190
————— fom Fom— +--
ang-CIR1  ........ .., GG..oviiil. 189 bp
ang-C2R1  ...... ... .., GGt 190 bp
ang-C2R2 ... i e 190 bp
ang-CIORL ... ... i i i e 188 bp
ang-Cl4R1 ........ ... ... GG..ov it 189 bp
ang-Cl4R2 ...t i i i i e e 191 bp
ang-CI5R1l ........ .. .. ... Gevvniiin il 187 bp
ang-Cl5R2 ... ...t it T....... 185 bp
ang-C1R1 ang-C2R1 ang-C2R2 ang-Cl0R1 | ang-C1l4R1 | ang-C14R2 | ang-C15R1 | ang-C15R2
xx K 99.0 94.8 90.6 99.0 94.8 94.8 95.8 ang-C1R1
x K 95.8 91.7 97.9 95.8 93.8 94.8 ang-C2R1
xxK 93.8 93.8 97.9 94.8 94.8 ang-C2R2
e 89.6 94.8 91.7 90.6 ang-C10R1
*okok 93.8 93.8 94.8 ang-C14R1
xxx 95.8 94.8 ang-Cl4R2
xR K 97.9 ang-C15R1
KA x ang-C1l5R2
Similarity: 89.6-99.0




S. anomalostemon, ano

Majority CCTTTTTGTCGAAATTCGGCGTGATTCCGTCCATTTGATGATATTATTTTTCGCGGAAACGACATTTGGGCCGAGAGGTC
10 20 30 40 50 60 70 80
————————— B anat s et R e itk
= 0 el
ano—CLlIRL ..ttt ittt et ee e C ottt e e e et et e ettt et ettt e et e e e et e e
ano-CLl2R1 ...ttt ittt L e e e e e e e e et e et ettt a e e et e e
P 0 Ll O Y
AanoO—CLl4R2 it ittt ittt e e e o e e e e e e e et ittt et e e e e e
Majority GTCAGGACAGGTGACGGAGGGGCAGAGGATGGGAGCGCCAGGCGTCACCACGCGCCGGCGAGCGGAAAGGCGAGGGCGTT
90 100 110 120 130 140 150 160
————————— -t
=0 @ Rl
F= 0 Y el o Coviiieeen T e e e e e et it e
P 0 Y el O O O
ano-Cl4R1 ........... ot e e e e e et e e et e et e e e e e ettt e et e ettt e e e
Fo 0 Rl Ol R Y T e i eeeen
Majority GGGGCGCAGGCCGGGAGGAATGAGGTTTAATAGAATTTCGAGCGCAAGGAATGAC
170 180 190 200 210
————————— -t
ANO=C7RL i ettt 215 bp
AnO—CL IRl . e e e e e ettt e 215 bp
ano—CLl2RL ..t e e e T....G.... 215 bp
ANO—CLARL .t e e e et e et e 215 bp
ANO—CLlARZ ittt et 215 bp
ano-C7R1 ano-C1l1R1 ano-C12R1 ano-C1l4R1 ano-C14R2
el 98.6 98.1 99.5 99.1 ano-C7R1
kel 96.7 98.1 97.7 ano-Cl1R1
*kx 97.7 97.2 ano-C12R1
KAk 98.6 ano-Cl4R1
il ano-C14R2

Similarity: 96.7-99.5



S. appendiculatum-1, apel

Majority CTTTTTTGTCGAAATTCGATCGAGTATTTTGTAATGTATATTTCTTTTTGCGGAAACGACATTCGGATCGAGACGTCGTT
10 20 30 40 50 60 70 80
————————— +--—— 4 ————————— 1
APE=C LR i e e e e e e e e e e ettt e e e T oo e e e e e
Lo ST T 0 o
ape-C3R1 ....... Ao, CG Covvn - N C.A T
Majority AAGACAGGTGACGGGGGCGATTAAGATGGGCGTGACAATCGGCGTCATGCGTCGGTTCGGGGAGGCTAGGTCGGTGGGGG
90 100 110 120 130 140 150 160
————————— B it e e et B i ittt bl o
ape-CIR1 ........ e T..oo...
ape—C2RL .. e e e e e A iiinnnn. e e e e e e e e et e et e ettt e e
ape-C3R1 ..... T, T iii i GGG A .T. A..G A.A T,
Majority GCAGGCTAGGGCGTXCGGAGGAAGGAGGTGTTTAATAGAATTTACAGTGGTAGGAAAXAT
170 180 190 200 210 220
————————— -ttt 4
ape-CIRl .............. A e e e e e e e A 220 bp
ape-C2R1 .............. T A e e c 220 bp
ape-C3R1 .............. -T A e Gevvviiiei il G 218 bp
ape-ClR1 ape-C2R1 ape-C3R1
*xK 96.4 85.5 ape-C1R1
bk 85.5 ape-C2R1
xx*x ape-C3R1

Similarity: 85.5-96.4



S. appendiculatum-2, ape2

Majority CTTTTTTGTCGAAATTCGATCGXGTATTTTGTAATGTATATTTCTTTTTGCGGAAACGACATTCGGATCGAGACGTCGTT
10 20 30 40 50 60 70 80
————————— R et e e et i it
ape2-ClRL ...ttt ittt Bt et e e e e e e e e e et et e e e et e
ape2-C2R1 .A. ...ttt it Covivvnnnn. T. N A i e e
ape2-C3RL ...ttt it Bl et e e e e e e e e e e e et ettt e e e
ape2-C4R1  ....... Ao, CG Covvnn T ALCLALLAT e C.A Teveeieen..
ape2-C5R1  ....... Ao TG...C....... T Al T A T [C
ape2-C6R1 ... ..ttt i 2 Tt e e e e e e e e e e
Majority AAGACAGGTGACGGGGGCGATTAAGATGXGCGTGACAATCXGCGTCATGCGTCGGTTCGGGGAGGCTAGGTCGGTGGGGE
90 100 110 120 130 140 150 160
————————— ittt e it et A s
ape2-ClRL it e e e e e e e Aveiiiien. T e e e e e e et e et ettt Ao
ape2-C2R1 ...... A e e e e e G.T..ovn.. L T.A
ape2-C3RL .. e e e e e Aveviiinnnnn T e e e e e e e et e e ettt et e e
ape2-C4R1 ..... L, G Govvvnnn GGG.G..A....T A..G A.A Teveeieen..
ape2-C5R1  ..... I G Gt GGG.G..A.. ... Gevvviiinn Toveiiieen
ape2-COR1L .. it e Ao, e e e e e e e e et e et et e
Majority GCAGGCTAGGGCGTXCGGAGGAAGGAGGTGTTTAATAGAATTTACAGTGGTAGGAAAGAT
170 180 190 200 210 220
————————— R T e et
ape2-C1R1 .............. B e e e e 220 bp
ape2-C2R1  .............. A e e e e e e 220 bp
ape2-C3R1  .............. T A e e e e C.. 220 bp
ape2-C4R1  .............. e P 219 bp
ape2-C5R1  .............. “TT. . A C.o..... Geee e 219 bp
ape2-C6R1  .............. D T..C.. 220 bp
ape2-C1lR1 ape2-C2R1 ape2-C3R1 ape2-C4R1 ape2-C5R1 ape2-C6R1
xk A 94.5 98.2 85.9 87.3 97.3 ape2-C1R1
xRk 93.6 84.1 85.5 92.7 ape2-C2R1
xRk 85.5 86.8 99.1 ape2-C3R1
xxK 95.5 84.5 ape2-C4R1
xxx 85.9 ape2-C5R1
xA K ape2-C6R1

Similarity: 84.1-99.1



S. arcanum, arc

Majority CCTTTTT-GTTGAAATTTGATCTCGTAATTGAG-AAAAAAATATACTAATTTATTTTTTTTGCGGAAAATACGTTCGGAT
10 20 30 40 50 60 70 80
————————— B it e e e e Rk e
arc-ClR1 ....... S T e e e e et ettt e e e e e et e e
arc-ClR4 ....... T e e e e et et e ettt eeeeenn I
arc-C2R1 ....... T e e e e e e e e e e T e e e e e e B et e e e et A
Majority TGAGACGTCATTAGGATATGGGATGGTGGCGTCGGTGATGGGCGTGACGGGCGTCGT-CGTGCGTCGGTGCGTGGAGGGT
90 100 110 120 130 140 150 160
————————— o
= R o T ol e e e e e et e et e ie e e
= el @ O T e e e e et e e e
ArC—C2R L ittt e e e e e e ettt e S Y
Majority TTTAAAGCGGGGGGCGGGCTAGGGCGTTGGGAGGAAGGTTGTGTTTAATAGATTTTAGAGTGCAATGAATGAC
170 180 190 200 210 220 230
—_——————— t—— e to— o o o +-——=
o o 231 bp
ArC—CIRA i i et et ee et e 232 bp
o o 229 bp
arc-C1lR1 arc-ClR4 arc-C2R1
el 98.3 97.4 arc-C1lR1
kel 97.4 arc-ClR4
KAk arc-C2R1

Similarity: 97.4-98.3



S. aviculare, avi

Majority CCTTTTTATCGAAATTCATCATAATTTTATCTATTTGGTGATTAATTTTATTTTTTAATTTTTGCGGAAAGGACATTCGG
10 20 30 40 50 60 70 80
————————— R et e e et i it
pSavi-5S2 ... ... ..., e e e e e e e e ettt ettt e e e ettt e e et e e
PSavi=5S3 L e e i e e e e e e e e e e e e e e e e e e e et e e e
F TS A7 Rt 1 1 T
Majority GTGGAGACGTCGTTAGGACAAGTGATGGAGGCGTTTGAAATTGGCGTGAAAGGCGGCACCATGCGTCGGCAGGCTAGGGC
90 100 110 120 130 140 150 160
————————— o
pSavi-5S2 ... P
FS TS A7 R 1 1 T
LTS A7 R 1 1 T
Majority GTTGGGAGGAAGGAGGTGTTTAATAAAATTTGGAGTGCTAGGAATGAC
170 180 190 200
————————— i e e e
PSaVI=08 2 i e e e i e e 208 bp
PSavVi—083 e e e 208 bp
PSaVIi=508 i e e i e e 208 bp
pSavi-5S2 pSavi-5S3 pSavi-5S5
xk A 98.6 99.0 pSavi-552
bk 99.5 pSavi-5S3
KA pSavi-5S5

Similarity: 98.6-99.5



S. avilesii, avl
Majority CCTTTTTGTCGAAATTCGGTCGTGTAATTGAAAAAATATATTTATTTATTTATTGCAGAAACGAAACGACGTCGTTAGGA
10 20 30 40 50 60 70 80

avl-C1lR1
avl-ClR4
avl-C1lR2
Fo Y et O T Tt e e e e et e e
avl-C2R1
avl-C2R2
avl-C2R3

Majority CAGGTGATGGGGGCGCTGGTGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGACGGTGGGGGGL

90 100 110 120 130 140 150 160
————————— g BB
F= I e 0 Y
Fo I e Y
Fo Y O
AVI-CIRO vt ittt it te it Cove et e e e e et e R 2
Fo Y O Y
BV Lm0 2R vttt e e e e e e e e e e e C.
AVI=C2R3 ittt ittt e T ot e e e e e e e e e e e e e e e
Majority AGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— T T e B et T A
AVI=CIRL ittt ittt et e e e A 166
AV L= C IR ittt ittt ettt e ettt ettt ettt et ettt et ettt 166
AVI-CIRZ it ittt iiiiiiieienenneeeeGi ittt Gl 218
AVI=CIlRO vttt ittt ettt et e T o e e e e e e e e e e ettt e et 218
P O 218
Fo Y O 218
Fo Y O G T 218
avl-ClR1 | avl-ClR4 | avl-ClR2 | avl-ClR6 | avl-C2R1l | avl-C2R2 | avl-C2R3
*xx 99.1 72.9 72.5 75.2 74.8 74.3 avl-ClR1
*okk 73.9 73.4 76.1 75.7 75.2 avl-ClR4
*xK 94.5 97.2 96.3 96.3 avl-C1lR2
w kK 97.2 96.3 97.2 avl-C1lR6
xR K 99.1 99.1 avl-C2R1
* kK 98.2 avl-C2R2
KKK avl-C2R3
Similarity: 72.5-99.1




S. berthaultii-1, berl

Majority CTTTTTTGTCGAAATTCGGTCGTGTAATTGAAAGAATATATACATTTATTTTTTGCAGGAACGACGTCGTTAGGACAGGT

10 20 30 40 50 60 70 80
————————— s e et T e s
T T
ber 58.2 L i e e e e e e e e i e e,
T o T
oS o T B
ber 5S8.5 e e i e et e et et e et e e e e

Majority GATGGGGGCGTTGAGGATGGGCGTGACGGGGGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGCGGGGGGCAGGCT

90 100 110 120 130 140 150 160
————————— e e e e e e
o o S S
ber 58.2 ... ..o o i B e ettt ettt e et et e
0TS a1
T o s T
o o S T

Majority AGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT

170 180 190 200 210
————————— R S ikt s
ber 58l L e et 213 bp
ber 55.2 .......... A e e e e e e e 213 bp
ber 58,3 LA e e et 213 bp
ber 58 4 A e e e et e e 213 bp
ber 58,5 e e e 213 bp
ber 55.1 | ber 5S.2 | ber 55.3 | ber 5S.4 | ber 5S.5
*oxx 98.6 99.5 99.5 99.5 ber 5s5.1
*oxx 98.1 98.1 99.1 ber 55.2
* oK x 100.0 99.1 ber 5S.3
*oxx 99.1 ber 55.4
*oxx ber 5S.5

Similarity: 98.1-100



S. berthaultii-2, ber2

Majority CTTTTTTGTCGAAATTCGGTCGTGTAATTGAAAGAATATATTCATTTATTT----TTTGCAGGAACGACGTCGTTAGGAC

10 20 30 40 50 60 70 80
————————— B e i e e e e bt PRt e S
Y O O Ao, e e e e e e e e ettt
ber2-C1R3 .C....... Gttt e e e e e e e e e e Ao, T e
Y O Ot P e e e e e e e e et
DEer2=ClRE .C. ittt ittt et ettt et e eeeaeeeann Ao Toooeea.. 2
Y O 2 P e e e e e e e e et
DEr2=ClRT7 TC . it ittt ettt ettt eeeaeeaeeennn A...... AT........ i
YT G P e e e e e e e ettt

Majority AGGTGATGGGGGCGTTGAGGATGGGCGTGACGGGGGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGCGGGGGGCA
90 100 110 120 130 140 150 160

T e
T G 2
T G AA......
T G 2
ber2-C1R6 ....... L e e e e e e e e et e e e e T T T T T T T i e e et ettt et e et e e
T ettt
T G -

Majority GGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT

170 180 190 200 210
————————— B bt e ettt T e
0T 0 2 213 bp
1 a2 O 5 213 bp
0T O 213 bp
ber2-C1R5 ..... T A et e e e et e e Gevun T...A...... 217 bp
DL 2= ClRE vttt it ittt e e e e e e e e e e e e e 201 bp
1 O 172 bp
ber2-CIlR8 . ...ttt Acviiiininn. L 213 bp
ber2- ber2- berz- ber2- ber2- ber2- ber2-
C1R1 C1R3 C1lR4 C1R5 C1R6 C1R7 C1R8
*xK 97.7 98.6 94.0 93.5 77.9 98.6 ber2-C1R1
kol 97.2 95.4 92.2 79.3 97.2 ber2-C1R3
kel 93.5 93.1 78.3 98.2 ber2-C1R4
*xK 88.5 75.6 93.5 ber2-C1R5
ol 73.3 93.1 ber2-C1R6
HxK 77.4 ber2-C1R7
xR K ber2-C1R8

Similarity: 73.3-98.6



S. betaceum, bet

Majority CCCCTXGGAAGTCCTCGTGTTGCATCCCTCGTTTTTGTCGAAATTGGGCATAACTATTTGATGGTATTTTTTTTTCGCXG
10 20 30 40 50 60 70 80

pBet-1  ..... I T.
pBet-2  ..... Bl e e e e e e e e e e e e e e e ettt ettt e e A.

Majority AAGCGACATCTGGGCCGAGACGTCGCTAGGACAGGCGCCGAGGATGGGCGTGGGTGGCGCCACCACGCGCGGGTGCGTGG
90 100 110 120 130 140 150 160

ST e
2T

Majority AGGCTAGGGCGTTGGGAGGAATGTGGTTTAATAGAATTTAGAGTGCTAGGAATGXTGGATGCGATCATACCAGCACTAAC

170 180 190 200 210 220 230 240
————————— Bt e I et e e &
S 2T i A e e i e e
2T Goe e e e e e e e
Majority XCACCGGA
pBet-1 Ao, 187 bp
pBet-2 [C 187 bp
pBet-1 pBet-2
* %k 98.4 pBet-1
* Kk * pBet-2

Similarity: 98.4



S. blanco-galdosii, blg

Majority CCTTTTGGTCGAAACTTCGTGCCGAGTAAAACAATCAAAAAAATATTTATTATTTTTGCAGAAACGACATTCGGATGGAG

10 20 30 40 50 60 70 80
————————— T T Tt STt B Ttttk TR
DLG=CLRL  t ettt ettt e e e e e e e e Gt e e
DLG=C2RL ettt ettt e e Tt e e e e e e e
DLG=C2R2 ettt it ie et Coee e Too... Bt e
DLG=C2R3 ettt ettt e e T o e e e e e

DLGC3RL  t ettt e e e e e e e e e e

Majority ACGTCGTTAGGTCAGGTGATGGGGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGTGGGGGCTAGGACGGTGGGGG

90 100 110 120 130 140 150 160
————————— e Rt e e st e
DLG=CLRL  Guote v ettt e et e e e e e e e e e e e
D Lg=C 2R ittt e e e e e e e et e e e e et e e et e e e e e
T Ee O
PIg-C2R3 .ttt ittt B et e e e e e e e e e e e e e e e e e
DLG=C3RL ettt ettt e e e e

Majority TCAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT

170 180 190 200 210 220
————————— R e e et e e e el
blg-ClR1 .......... Covinn et e e e e e e ettt e e et e e e 220 bp
o8 e e 220 bp
T e O N 220 bp
o e e 0 220 bp
21 et GG I Goe et e e 220 bp

blg-C1R1 | blg-C2R1 | blg-C2R2 | blg-C2R3 | blg-C3R1
*o ok 97.7 96.4 97.3 97.7 blg-C1lR1
*o ok 97.7 99.5 99.1 blg-C2R1
*kok 97.3 97.7 blg-C2R2
ok x 98.6 blg-C2R3
*o ok blg-C3R1

Similarity: 96.4-99.5



S. boliviense, blv

Majority CCTTTTTGTCGAAATTTGGGTCGTGTAATTGAAAAAATATTATTATTTATTXTTTGCAGGGACGACGTCGTTAGGACAGG

10 20 30 40 50 60 70 80
————————— T T e T e
Plv-ClRl ......iiiinn.. T e e e et e e e e T oo e e ettt e e e e e e i e T
T Gttt e e e e e
T e G Lo e e e e e e e e e
DIV-C3R2  tiiteiieeneennn. PP O
Majority TGATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGGC
90 100 110 120 130 140 150 160
————————— B Rt b e i
o T T.
o T
o e G
DLV oC3R2 ettt ettt e e et e e e e e e e e e e e e e e B e
Majority TAGGGCGTTGGGAGGAAGGAGGTGTTTAXTAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— R Rt e ettt T e PR B
DLV=CIRL  Butteneeeeeunnnnneeeennnnn Bttt 213 bp
DLV=C2RL  tttueeeeeeeeiaaeeeeeennnnn N 214 bp
DIV-C3RL  tveerrnnnnnnn. Toeeieeenns e 214 bp
DLV=C3R2  ttteeneeeeeinnnnneennnnnn [ o 214 bp
blv-C1lR1 blv-C2R1 blv-C3R1 blv-C3R2
*Kk 97.7 96.7 96.3 blv-ClR1
xx*x 98.1 98.1 blv-C2R1
el 97.2 blv-C3R1
il b1lv-C3R2
Similarity: 96.3-98.1



S. brevicaule, brc

Majority CCTTTTTGTCGAAATTTGGTCGTGTAATTGAAAAAATATTATTATTTATTTTTTGCAGGAACGACGTCGTTAGGACAGGT

10 20 30 40 50 60 70 80
————————— B it T e it e e &
o a2
P C—C LR A i ittt ittt ettt ettt eeaeeeeeeeenaeeaaeenns Geveweennn T oo e e e e et ettt
ot L O 2 G
o a2 U

Majority GATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGGCT

90 100 110 120 130 140 150 160
————————— B et i st e
e Bl e e e e e e e e e e e
brc-=ClR2 ..ttt B e e e e e e e e e e et e et e e e e
o e O I I
brc-C2R1 .......... Goe e e e e e et e e e e e e e e e Coe et e e e e e e i e
Majority AGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— B e e et e
a2 213 bp
a2 213 bp
o @ et O 2 213 bp
a2 205 bp
brc-CI1R1 brc-C1R2 brc-C1R3 brc-C2R1
HxK 97.7 99.1 94.8 brc-C1lR1
e 97.7 93.4 brc-C1lR2
el 94.8 brc-C1R3
xR x brc-C2R1
Similarity: 93.4-99.1



S. bukasovii f£. multidissectum-1, bukml

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATTTGTTTATTATTAT TATTTATT TATTGCAGAACCGACGTCGTTAGGAGAGGT
10 20 30 40 50 60 70 80
————————— T e e et
bukml-C6R1 Tevvnnn. PP A.-..A.A...... -...AT...TC....... A A.T-C....-.C.T
LB 4
B 1 R G O
o B 1 e O
bukml—-C35R3 .. i i e i e et e i e e e e e e e
Majority GATGG-GGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGGC
90 100 110 120 130 140 150 160
————————— et et T et e
bukml-C6R1 € P e e
bukml-C7R1  ..... e e e e e e it e e et e e e e e e e e e e e e e e e e
bukml-C35R1 ..... . ottt et et i e it i e e e e e e e e i e e e
bukml-C35R2 ..... T
bukml-C35R3 ..... e e e e e e e e ettt et e e e e e e
Majority TAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
—— - oo oo oo oo to——-
bukml-C6R1  vevvunnn... U, ettt e e e 207 bp
BUKIL=CTRL 1 ettt ettt ettt ettt ettt et e eeeeenn 213 bp
DUKIML=C35RT 4 et tee et tee e e tee e et ee e et tee e ee e ee e ee e aee e 213 bp
BUKIL=C35R2 4ttt tttteeeeeeeee ettt et eeeeeenn 213 bp
DUKIML=C35R3 4 e vteeeeeneeieeennenannnnnns Tttt et ee e iiee e 213 bp
bukml-C6R1 bukml-C7R1 bukml-C35R1 | bukml-C35R2 | bukml-C35R3
el 87.4 87.4 87.9 86.9 bukml-C6R1
*xk 99.1 99.5 98.6 bukml-C7R1
xxK 99.5 98.6 bukml-C35R1
xxK 99.1 bukml1l-C35R2
il bukml-C35R3
Similarity: 86.9-99.5




S. bukasovii f£. multidissectum-2, bukm2

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAATATTATTATTTATTTTTT-GCAGAAACGACGTCGTTAGGAC——-
10 20 30 40 50 60 70 80

————————— B e e et e e

bukm2-C1IR1 ... ..ttt it Gttt e et e e et e e e e e e e T e i e -——=
PUKIM 2 = C R ittt ittt ittt e ettt ettt ettt T ettt e e e e ettt e e -
X (U O T -——=
DUKM 2 = C 3R L Lttt ittt et et e e et et ettt ettt ettt e e e S TAA
X (0 O o T TAA

Majority -AGGTGATGGGGGCGTTG--AGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGG

90 100 110 120 130 140 150 160
————————— B et e et S
bukm2-ClR1 —. ...t iiiiiieennnn e Y
bukm2-C1R2 —. .. ... ... T e e e e e et et e ettt et e et e e
bukm2-C2R2 —. ...ttt iiiieennn Y At
bukm2-C3R1 C.....ciiiiennn. [ N
Pukm2-C2R1 C..viiiiiiieeennnn. P
Majority GCAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210 220
————————— B et ittt St T e
PUKM 2 =C LR ittt it ittt et ettt et et eeneeeeeeeennaaens A e e 214 bp
X (D2 O 214 bp
bukmZ2-C2R2 ... e e e Al 213 bp
X (D2 O 219 bp
PUKMZ—C 2Rl . i ettt 219 bp
bukm2-C1R1 bukm2-C1R2 bukm2-C2R2 bukm2-C3R1 bukm2-C2R1
el 98.6 98.2 94.5 95.0 bukm2-C1R1
kel 98.6 95.9 96.4 bukm2-C1R2
xx*x 95.5 95.9 bukm2-C2R2
KAk 99.5 bukm2-C3R1
il bukm2-C2R1

Similarity: 94.5-99.5



S. bukasovii f£. multidissectum-3, bukm3

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATTGAAAAAAXTATTATTATTTATTTTTTGCAGAAACTCGGTCGTTAGGACAGG
10 20 30 40 50 60 70 80
————————— B e e et e e
PUKM3=CLlRL Lttt et ettt e et e e et e B e e e et e e et e e e e e
PUKME=C2R L ittt it ittt ettt et et eeeaaaaaaanas T e e e e e ettt ettt e e e e
PUKM3=C4RL L ittt ettt et e e ettt e B e i e e et et e e e e e e
bukm3-C8R1 ..... 2 T e e e e e e et ettt e e e
Majority TGXTGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCAXGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGGC
90 100 110 120 130 140 150 160
————————— B e e e et e e =
bukm3-C1R1 R Cote e iie e T e e e e e e et ettt ittt e e
bukm3-C2R1 R A....... N
bukm3-C4R1 I T e e e e et e it ettt ittt e e
bukm3-C8R1 C e e e e e e e e e et e et e e e e N
Majority TAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— Bt e ittt L P
PUKIM B =C LR ittt e et et e e ettt e ettt e e e 214 bp
PUKIM S =C 2R ittt et ettt e ettt e ettt e e e 213 bp
DUKM3=CART 4t e e e e e e e et e e e et e e e et e e e e e ee e e e 214 bp
PUKIM B =C BRI ittt ittt ettt ettt ettt e e e e e e et 213 bp
bukm3-C1R1 bukm3-C2R1 bukm3-C4R1 bukm3-C8R1
*xx 97.7 99.5 97.7 bukm3-C1R1
bk 98.1 99.1 bukm3-C2R1
*kx 98.1 bukm3-C4R1
KA bukm3-C8R1
Similarity: 97.7-99.5

S. bukasovii-1, bukl

DIRECT SEQUENCING

- 222 bp



S. bukasovii-2, buk2

Majority  CTTTTTTGTTGAAATTCGGTCGTGTAATATTTAAATATTATATTATTTTTCTGCAGAAACGACATTCGGATTGAGACGTC
10 20 30 40 50 60 70 80
————————— T i T et T e e
LB G.
PUK 2= C R it e et e e e e e ettt e e e A e
LB e
LB G
Majority  GTTAGGACAGGTGATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGTGGAGGCTAGGTCGGTGG
90 100 110 120 130 140 150 160
————————— T i T et T T s
B
B2 O
LB
N B2 G
Majority  GGGGCAGGCTAGGGCGTTGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210 220
————————- pmmmm e e e e +-=
DUK2=CIRL  t e teee e e e eeteaaee e eeeiaaaaeeanns P 222 bp
DUK2=CLIR2  t et ee e e e et tee e e e e ettt e e e e e e e e e e e e e e e 222 bp
buk2-C2R1 G e e e e e e 222 bp
oD o1 3 222 bp
buk2-C1R1 buk2-C1R2 buk2-C2R1 buk2-C3R1
KAx 98.6 98.6 99.1 buk2-C1R1
il 99.1 99.5 buk2-C1R2
xR x 99.5 buk2-C2R1
xx*x buk2-C3R1
Similarity: 98.6-99.5



S. bukasovii-3, buk3

Majority  CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAATATTATTATTTATTTTTTGTAGAAACGACGTCGTTAGGACAGGT
10 20 30 40 50 60 70 80
————————— T T et et e s
DUK3=CIRL ¢ ettt ttttt ettt ettt ettt ettt et ettt ettt et ettt ettt
DUK3=C2R1 4ttt ettt ettt ettt ettt e ettt et ettt ettt e ettt e e e e e
SO R ol <
SO0 3 R oL <
DUK3=COR2 Tttt ettt ettt ettt ettt ettt et ettt ettt et ettt ettt
Majority  GATGGGGGCGTTGGGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGG
90 100 110 120 130 140 150 160
————————— it T i T atatatat RS
DUK3-CIRl  eeivennnn... o e e e e e
DUK3=C2R1  t et ettt ettt ittt ettt ettt ettt ettt ettt et ettt e
SO0 3 ol
DUK3-C5R1  «vvvvvnennn... T, Bt T e ettt e e
DUK3=C5R2 4ttt ettt ettt ettt ettt ettt e et et e e e e e e e e e e e e A
Majority  CTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— i et s STt L
BUK3=CIRL 4t ettt ettt ettt ettt ettt ettt ettt 213 bp
DUK3=C2R1 4t ettt ettt et ettt ettt ettt ettt e 215 bp
DUK3=C3R1 4ttt ettt ettt ettt ettt ettt ettt 215 bp
DUK3=CORL 4t ettt ettt ettt ettt ettt ettt e 213 bp
DUK3=C5R2 4ttt ettt ettt ettt ettt ettt ettt e 215 bp
buk3-C1R1 buk3-C2R1 buk3-C3R1 buk3-C5R1 buk3-C5R2
*kk 99.1 98.6 98.6 98.1 buk3-C1R1
*okk 99.5 97.7 99.1 buk3-C2R1
*ok 97.2 99.5 buk3-C3R1
*okk 96.7 buk3-C5R1
*kk buk3-C5R2

Similarity: 96.7-99.5



S. bukasovii-4, buk4

Majority  CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAATATTATTATTTATTTTTTGTAGAAACGACGTCGTTAGGACAGGT
10 20 30 40 50 60 70 80
————————— T T T et TR
B e
buk4-ClR2 ......... et et e e i i i et e ittt i e e i e et i i i e e e e e
B e
PUuk4-C2R2 ittt ittt it e e e T e e e e i e e e e e e et e e e
buk4-C3R1I .............. A e e e e e e e e e e e e e e e
B O ) 2
] B GG e
buk4-C6R1 .............. e
Majority  GATGGGGGCGTTG--AGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGG
90 100 110 120 130 140 150 160
————————— T T s e |
buk4-CIR1I ............. e
buk4-ClR2 ............. R T T T S
buk4-C2R1 ............. Y T
buk4-C2R2 ............. R T S
buk4-C3R1 ............. e
buk4-C5R1 Bt e e e e e e e e e e e e e e
PUKA = C R i T T T T T T T T T T T T T e e et et et e e e e e
buk4-C6R1 T e e e e e e e e e e e e
Majority  CTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— T T ST
DUKA=CIRL 4 e e e tee e e te e et e e e et ee e e te e e ta e e tee e ae e eaaeeens 213 bp
BUKA=CIR2 4 et tttetteet ettt ettt 213 bp
DUKA=C2RL 4 e e e te e e te e e e e e e e ee e e e e et e e et 215 bp
BUKA=C2R2 4 et teteeete ettt ettt 213 bp
DUKA=C3RL 4 e e e te e et e e et ee e e ee e e te e e ta et 215 bp
bUK4-C5R1  +vvvvrnnn... PP RPAPRP 198 bp
DUKA=CBRZ 4 e e e tee e e te e e e ee e e ee e e te e et e e 198 bp
BUKA=CORL v vvtteteeeeeeennenennnnnnnn, I 198 bp
buk4-C1R1 | buk4-C1lR2 | buk4-C2R1 | buk4-C2R2 | buk4-C3R1 | buk4-C5R1 | buk4-C6R2 | buk4-C6R1
xxKk 99.5 98.6 99.5 98.6 92.1 93.0 91.6 buk4-C1R1
x KK 98.1 99.1 98.1 91.6 92.6 91.2 buk4-C1lR2
*xx 98.1 99.1 90.7 91.6 90.2 buk4-C2R1
xR 98.1 91.6 92.6 91.2 buk4-C2R2
x Kk 90.7 91.6 90.7 buk4-C3R1
xR 99.1 98.6 buk4-C5R1
KKK 98.6 buk4-C6R2
*xK buk4-C6R1
Similarity: 90.2-99.5




S. bukasovii-5, buk5

Majority  CCTTTTTGTCGAAATTCGGTCGTGTAATTTGTTTATTATTATTATTTATTTATTGCAGAACCGACGTCGTTAGGAGAGGT
10 20 30 40 50 60 70 80
————————— T T et et e s
DUKS-CIRL  tevvvnennnennnn.. T e e e e e e e e e e e e e e
DUKS=CIRZ 4t ettt ettt ettt ettt ettt ettt ettt ettt et e ettt et et
DUKS=CIR3 ¢ ettt ttttttttt ettt ettt ettt ettt ettt ettt ettt
DUKS=C2R1 4ttt tttttt ettt ettt ettt e, R
DUKS=CTRL  « ettt ettt ettt ettt ettt ettt ettt ettt ettt ettt G.
Majority  GATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGGCT
90 100 110 120 130 140 150 160
————————— it T i T atatatat RS
DUKS=CIRL 4 ettt et ettt ettt ettt e ettt ettt ettt ettt et ettt ettt ettt
DUKS=CLRZ  « e ettt ettt ettt ettt ettt ettt ettt ettt ettt ettt ettt
DUKS=CIR3 4ttt et ettt ettt ettt ettt ettt ettt ettt ettt ettt ettt
DUKS=C2R1  t et ettt ttttt ettt ettt ettt ettt ettt ettt ettt ettt
DUKS=CTRL 4t ettt ettt ettt et ettt ettt ettt ettt ettt et ettt et e
Majority  AGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————- fommmm— fommmm fommmm fommmm +-—=
DUKS=CIRL 4ttt et ettt ettt ettt ettt ettt 213 bp
DUKS=CIRZ et ettt ettt ettt ettt ettt ettt et 213 bp
buk5-C1R3 ..... N 213 bp
DUKS-C2R1  wvvveennnn... PP 213 bp
DUKS=CTRL 4t ettt ettt ettt ettt ettt ettt et 213 bp
buk5-C1R1 buk5-C1R2 buk5-C1R3 buk5-C2R1 buk5-C7R1
*okk 99.5 99.1 98.6 99.1 buk5-C1R1
*kk 99.5 99.1 99.5 buk5-C1R2
*okk 98.6 99.1 buk5-C1R3
*kk 98.6 buk5-C2R1
*x buk5-C7R1

Similarity: 98.6-99.5



S. bukasovii-6, buké6

Majority CCTTTTTGTCGARATTCGGTCGTGTAATAGAAAAAATATTATTATTTAT TTTTTGTAGAAACGACGTC---GTTAGGAC-
10 20 30 40 50 60 70 80
————————— T e Rt T
buk6-CIR1I  .T....... Tttt C TTT e e imeeee - .AT....C..Cuuvnrn... A.TCGGA..GA...G
o] 5 el e -
buk6-C1IR3  .T....... Tt et TTT. .= - .AT....C..Cuuvnrn... A.TCGGA..GA...G
o] 6 el O ) e -
buk6-Cl6R1 ................ N inia i -
Majority —-——-TA--ACAGGTGATGGGGGCGTTGGGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGT
90 100 110 120 130 140 150 160
————————— T T e et T e
DUK6-CIRL  TCGT..GG.vsvvvmveunnnennennn. e T
buk6-C1R2 P
DUK6-CIR3  TCGT..GG.vvvvveveuennennennn. e T
buk6-C9R1 T T e T e e e e e e ettt et e et e e A.......
o] b S O O S e
Majority CGGTGGGGGGCAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGT GCTATGAATGAT
170 180 190 200 210 220
————————— T Tt T s AT
DUKGE=CIRL  te et tee et tee e et et e et e e e e e e e et e e et e e e e e e e e 222 bp
BUKB=CIR2 4ttt ttteeeee ettt et ettt ettt ettt ettt 219 bp
BUK6-CIR3  tttttnnnnnnnnnnnnnn.. e e 222 bp
BUKB=CORT 4 et ttttteeeeeeeeeee e ee e et ettt et ettt e, 219 bp
IO oI N c 219 bp
buk6-C1R1 buk6-C1lR2 buk6-C1R3 buk6-C9R1 buk6-Cl6R1
e 86.0 99.1 85.6 84.7 buk6-C1R1
*xk 86.0 99.6 98.7 buk6-C1R2
*xx 85.6 84.7 buk6-C1R3
xxK 98.3 buk6-C9R1
*xx buk6-Cl6R1
Similarity: 84.7-99.6



S. bukasovii-7, buk7

Majority  CCTTTTTGTCGAAATTXGGTCGTGTAATAGAAAAAATATTATTATTTATTTTTTGXAGXAACGACGTCGTTAGGAC--—-
10 20 30 40 50 60 70 80

————————— e S e s

buk7-C1R1 ....... .o Tooooiii.. L C..Govvvvnn Ao, -———=
buk7-C1R2 .......cciivee.Ciiiiiiion C.C.G.Covvviiinn.. T..AC. . ittt -———-
buk7-C1R3 ....... .o Tooioiiia. Tt e e e e e it e e P -———=
buk7-C2R1  ..G.....cvvvveeCuiiiiiiiionn Gt T -
Puk7=C2R2 il e e e e et e e e e T A i i -———=
buk7-C2R3 ..... .. i Tooo oo, Tt e e e e et it i e e L -———=
buk7-C2R4 ......... o Toooooiin.. T oot e e et e e e e i e e C..G.oovvvn Ao, -
buk7-C3R1 ....... .o Tooo oo, Toveeieoann Covennn Govvnnn CoiGuviiiiiii i i -———=
buk7-C3R2 ....... . Tooooiii, T oottt e e e e e i i e CoiGuovniiii i il -
PUuk7=C3R3 oottt e e e e e e e e e e T A i i -———=
buk7-C3R4 .......ciiii.Ciiiiiiiiiiinn Gev e R -———-
Puk7=CIlR4 . et et e ettt i e e e T A e et e i TAAC

Majority AGGTGATGGGGGCGTTG--AGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGG

90 100 110 120 130 140 150 160
————————— S
buk7-CIR1 .. ... P e e e e et e ettt e ettt et e e e et e e e e
buk7-ClR2 .. ittt it e e e e e I
buk7-C1lR3 ...ttt iii i S
buk7-C2R1 ...t iii i T e e e e et e et ettt e e ettt e et e e [
buk7-C2R2 .. it i i i i —— .. T e e e e e e e e e e e ettt ettt eeeeeeeeeeeeeeeeeeeeeeeeeeenanan
buk7-C2R3 ...ttt it P e e e e et et e ettt ettt ettt e e et e et e e e
buk7-C2R4 ... it SN A e e e e e e e
buk7-C3R1 .. ...t iii i Y L
buk7-C3R2 .. it ii i i i PP 7
buk7-C3R3 ...ttt iii i P e e e e e et e ettt ettt ettt e e e et e et e e
buk7-C3R4 . ... . G oe e o e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e [
buk7-C1R4 .. ... ... [ OOt
Majority  CAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— 1
DUK T = C LR ittt ittt e e et e e e et e e e e e e e et e e e e e e e e e e e e 213 bp
DUKT=C LR ittt et e et ettt e [ 213 bp
DUKT=CIR3 ettt ettt et e et e e e e e e e e e 213 bp
DUK 7= C 2R ittt ittt et e et e et ettt et e et et et e e Ao 213 bp
DUKT=C2R2 ottt ettt e e e et et e e e (T, 213 bp
DUKT=C2RE ittt e et et et e e Y 213 bp
DUKT=C2RA ettt et e e e e e e e e e e e e e 213 bp
o1 S At O S Y 213 bp
DUKT=C3RZ ettt et et e e et e e e e e e e 213 bp
L1 At G G J G. 213 bp
DUKT=C3RA Bttt e ettt e e et e e e e e e e B 213 bp
o1 S A O 2 Y 219 bp
buk7- | buk7- | buk7- | buk7- | buk7- | buk7- | buk7- | buk7- | buk7- | buk7- | buk7- | buk7-
C1R1 C1R2 C1R3 C2R1 C2R2 C2R3 C2R4 C3R1 C3R2 C3R3 C3R4 C1lR4
* Rk 94.5 98.6 95.4 96.8 98.6 99.1 97.7 98.6 97.3 95.0 94.1 buk7-C1R1
*k ok 94.5 96.3 95.9 95.4 94.1 93.6 94.5 96.3 95.9 93.2 buk7-C1lR2
* ok ok 95.4 96.8 99.1 98.6 98.2 99.1 97.3 95.0 94.1 buk7-C1R3
xRk 96.8 95.4 95.0 94.5 95.4 97.3 96.8 94.1 buk7-C2R1
*k ok 96.8 96.3 95.9 96.8 98.6 96.3 95.4 buk7-C2R2
*okx 98.6 98.2 99.1 97.3 95.0 94.1 buk7-C2R3
*kx 97.7 98.6 96.8 94.5 93.6 buk7-C2R4
KAk 98.2 96.3 94.1 93.2 buk7-C3R1
*okx 97.3 95.0 94.1 buk7-C3R2
*xx 96.8 95.9 buk7-C3R3
K Rx 94.5 buk7-C3R4
A K buk7-C1R4
Similarity: 93.2-99.1




S. bulbocastanum-1, blbl

Majority CCTTTTTGTAGAAATTCGGTCGCGAAAATATATATTATTATTTATTTGGAGAAACGACGG-GGGGGGGTTTGAAAATGGG

10 20 30 40 50 60 70 80
————————— et et e e
1S3 0 = G T T e e e
1SS )= 3G T T
pSbB3.3 ......... ottt e e et e e e e e e e e e e e e e A e

Majority CGTGACGGGAGGCGTCATGCGTCGGTGCGTGGAGGCTGCGTCGGTGGGGGGCAGGCTAGGGCGTTGGGAGGAAGGAGGTG

90 100 110 120 130 140 150 160
————————— s et et e e Rt e
PO B3t 6 et e e e T.....
15307 = 5
S5 )= G 2 T

170 180 190
————————— o
PSEB3 .6 it e e e 189 bp
PSbhB3 .2 i et 189 bp
PSEB3 .3 i e e 190 bp
PSbB3.6 pSbB3.2 PSbB3.3

xk A 99.5 98.4 PSbB3.6

* Kk 98.9 PSbB3.2

x ok pPSbB3.3

Similarity: 98.4-99.5



S. bulbocastanum-2, blb2

Majority  CATTTTTGTCGACATTCGGTCGCGAAAAAAAATATTATTATTTATTTGGAGAAACGACCGGGGGGGGTTGAGGATGGGCG
10 20 30 40 50 60 70 80
————————— T T et et e s
DID2=C2RL 4t ettt ettt e et et e e e e e e e e e e e e e e e e e e
BID2=CIRL 4 ettt ettt et e e e et et e e e e e et e e e Tovennn. T eennns
DID27C2R2 4ttt ettt e e et et e e e e e e e e e e e e e e e e e
Majority  TGACGGGGGGCGTCATGCGTCGGTGCGTGGAGGCTGCGTCGGTGGGGGGCAGGCTGGGGCATTGGGAGGAAGGAGGTGTT
90 100 110 120 130 140 150 160
————————— it T i e s
BID2-C2R1T  weveenennnnnn.. P
DID2=CLIRL 4ttt ettt ettt ettt e e e e e e e e e e e e e e e e e
DID2=C2R2 4 et e e ettt et e e et et e e e e e e e e e e e e e e e e e A.
Majority  TAATAGAATTTAGAGTGCTATGAATGAC
170 180
_________ +_________+________
DID2-C2RL 4ttt e e eaeeie e e 188 bp
BID2=CIRL 4 e eeeeeeeeeaaeieeeenns 188 bp
DID2=C2R2 4 et eeeee e eaeeie e 188 bp
b1b2-C2R1 b1b2-C1R1 b1b2-C2R2
*ok 97.9 98.4 b1b2-C2R1
*ok ok 98.4 b1b2-C1R1
*ox ok b1b2-C2R2

Similarity: 97.9-98.4



S. cajamarquense,

cjm

Majority CCTTTTTGTCGAAATTCGGTCGTGCAATTGATTTTTTATTATTATTTATCTTTTTGCXGAAACGGCGTCGTTAGGACAGG
10 20 30 40 50 60 70 80
————————— R ettt e e et e R ettt Tt
LR 1 A e e
LT 0 2 Rt At e e e
LR 1 2 ettt et e e e e e
LT (0 O = Rt C et i i
Majority TGATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCCGGTGGGGGGCAGG
90 100 110 120 130 140 150 160
————————— R ettt e e et e ettt Tt
LR 1
LT (0 O 2
L 1 3 2
LT (0 O =
Majority CTAGGGCGTTGGGAGGAAGGAAGGAAAGGAGGTGTTTAAAAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210 220
————— Fom——— Fo———— Fo———— Fo———— Fo———— +-——-
cjm-CIRL ......iiiiiiiii.. et 220 bp
Lo 4 O 224 bp
Lo T 224 bp
cJm=C6RL ... . T oo e e e e e e 224 bp
cjm-C1lR1 | ¢cjm-C1lR2 | ¢cjm-C3R1 | ¢cjm-C6R1
xRk 99.5 99.1 97.7 cjm-CI1R1
x KA 99.6 98.2 cjm-C1R2
xR X 98.7 cjm-C3R1
el cjm-C6R1

Similarity: 97.

7-99.6



S. canasense, can
Majority CCTTTTTGTCGAAATTCGGTCGTGTAAT-—-—-——-——- TATTATTTATTTTTTGCAGAAAGTCGGTCGTTAGGACAGGT
10 20 30 40 50 60 70 80
————————— B ettt e T T e e e
CAN=CIRL ittt titeeet et AGAAAAAATAT. .o vvvun... Gevennnnn CGAC. .t vtveeeennnn
Lo T= 00 Rl G et
[0 T= 0 Kl O e e Gevevinnn
[ 0 el Ot

Majority GATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGGCT

90 100 110 120 130 140 150 160
————————— B et i st e
L= o e 2
CaAN=—C LR ittt ittt ettt e e et ettt e e e e e e e e e e e e e e e
L= o E e 2
L= 0 Rl O
Majority AGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— B e e et e
{020 Kl o Tt eeiiee 213 bp
L0 T= o Rl O G. 202 bp
can-ClR3 ....... Goe e e e e e e e e e e Ge et 202 bp
[0 = 00 Rl O 202 bp
can-CI1R1 can-C1lR2 can-CI1R3 can-CIlR4
bl 91.1 90.6 92.0 can-ClR1
bk 97.7 99.1 can-ClR2
xx*x 98.6 can-C1R3
*ok ok can-C1lR4
Similarity: 90.6-99.1



S. candolleanum, cnd

Majority CCTTTTTGTCGAAATTXGGTCGTGTAATTGAAAAAATATXATTATTTATTTXTTGCAGXAACGACGTCGTTAGGACAGGT

10 20 30 40 50 60 70 80
————————— B it T e it e e &
cnd-C1IR1  ......ciiii... Gttt e e e e e e e e AC. .. viennn A...... A e e e e
cnd-C3R1 ...ttt T e e e e e e e e e e ettt et T e ieeeen T...... Y
cnd-C3R2 e AT . et i et e e e e e Teeeveeeeen. T.oo... Y
cnd-C5R1 ...ttt iiieee. Cor et e i e e et et i et e e AT. ... A...... A e e i e

90 100 110 120 130 140 150 160
————————— B it e i e e it P
{039 e Kl C vttt e e e it ittt e e e e T
039 e Kl O3 2 T e et e e e e e e ettt et eenaaaaan I
[0 0 e Kl GG T et e e e e e et et et et Gevevvnnnn
CNA=CORL i i it e e e et e i e e e C ettt et e e e e e Covivnnn LT

Majority TAGGGCGTTGGGXGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT

170 180 190 200 210
————————— B e e At et e e e e F e
cnd-C1R1 ............ e e e e e e e ettt e et ettt et e 213 bp
cnd-C3R1  ......... ... Bttt e e e e e e e e et e e e 214 bp
cnd-C3R2 ... B e e e e e e e e e e e 213 bp
cnd-C5R1  ............ 1 C ottt e e e e e e e e e e e e, 213 bp
cnd-C1R1 cnd-C3R1 cnd-C3R2 cnd-C5R1

bl 96.3 95.3 98.6 cnd-C1R1

e 98.6 95.3 cnd-C3R1

KA 94 .4 cnd-C3R2

ol cnd-C5R1

Similarity: 94.4-98.6



S. cardiophyllum, cph

Majority CCTTTTTGTCGAAATTCGGTAGTGCGGTTGAAAAAATATATTATTATTTATTTGCAGAAACGACATTCGGATTGAGACGT

10 20 30 40 50 60 70 80
————————— B e e e T e
[0 0 o Kol O3 CCevviviiie e
(0303 o e 2
(0] 0 0 Bl G O A....
(0303 o e 2
1) 0 0 Kol G

Majority CGTTAGGACAGGTGATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCACGCGTCGGTGCGTGGAGGCTAGGTCGGTG

90 100 110 120 130 140 150 160
————————— o
[0 03 o 0 o Covnnn
cph-C3R1 . ... .. T e e e e e e ettt eee e e e e e e e e e
[0 03 e 2
0] 0 o Kl O3 5
cph-C3R4  ........... et e e e e e et et e e e e e ettt ettt e e e e
Majority GGGGGCAGGCTAGGGCGTTGGGAGGAAGGGGGTGTTTAATAGAATTTAGAGTGCTGTGAATGAC
170 180 190 200 210 220
——————— Fo————— Fo——— Fo——— o o +-——-
CPN=C 2R i e ettt e 224 bp
CPh-C3RL o e e e i e T 224 bp
CPh—C3RZ . e e i T 224 bp
(0 0 o O 224 bp
CPh-C3R4 ... i e Gt e i e e 224 bp
cph-C2R1 cph-C3R1 cph-C3R2 cph-C3R3 cph-C3R4
xk A 96.4 96.9 98.2 97.3 cph-C2R1
xRk 96.9 98.2 97.3 cph-C3R1
o 98.7 97.8 cph-C3R2
x K 99.1 cph-C3R3
xxx cph-C3R4
Similarity: 96.4-99.1

S. chacoense-1, chcl

DIRECT SEQUENCING - 213 bp



S. chacoense-2, chc2
Majority TCTTTTTGTCGAAATTCGGTCGTGTAATTGAAGAAATATATTTATCTATTTTTTGCAGAAACGGCGCCGTTAGGACAGGT
10 20 30 40 60 80
————————— e e s e Rt ettt b bt 3
o o O c
chc2-C1lR2 ... ... i, . C
Lo e O
chc2-C1R4 C.........iiiioan.. e TA. T T...C.o..oool.
ol oo O 2 G..C
chc2-ClR6  ....... T e e e R GG..... G...Govniatl
chc2-C1lR7 C..iviiiiiiiininnnn, L L Teeiii i,
ChcZ2-ClRO i i i i i it G e
ChC2=C IR0 .ttt i it ittt ettt et ettt c
Majority GATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTGGGTCGGTGGGGGGCAGGCT
90 100 110 120 140 160
————————— e e e et e s
chc2-C1R1 ............. A L
ChC 2 =C R Lt it ittt ettt e T.......
O e G
chc2-C1lR4 .......... ... L S
Chc2-ClRS .. e e e .
chc2-ClR6  ............. Gt e L
chc2-C1R7 B L A e
o e O
ChC2-ClRI0 .t i ittt e i e e et e G.
Majority AGGGCGTTGGGAGGAAGGAGGCGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200
————————- Fomm Fomm Fomm Fomm ==
chc2-C1lRl ........... . ..., A. G Ao, 213 bp
ChC2=C IR it i i it e e et e e 213 bp
0 T O 213 bp
chc2-C1R4 ... i T e e 213 bp
ChC2-ClR5 ..ttt it i i iien e CG.CC........ C. 213 bp
ChC2=ClRE ittt i i i i e et e et e 213 bp
chc2-C1IR7 .....coiiiiiinnnnee T Govvviiieeens 213 bp
chc2-C1R9 ................ et e e e e e e e 213 bp
chc2-C1lR10 ........... G..CG..G Gl G.Gevneei i 213 bp
chc2- chc2- chc2- chc2- chc2- chc2- chc2- chc2- chc2-
C1R1 C1R2 C1R3 C1R4 C1R5 C1R6 C1R7 C1R9 C1R10
*xx 95.3 95.8 92.0 92.0 93.0 91.5 94.8 93.0 chc2-C1R1
xxx 98.6 93.9 94.8 94.8 93.4 97.7 94.8 chc2-C1R2
*oxx 95.3 95.3 96.2 94.8 99.1 95.3 chc2-C1R3
xxx 90.6 92.5 98.6 94.4 90.6 chc2-C1R4
ol 92.5 90.1 94.4 92.0 chc2-C1R5
*xx 91.5 95.3 91.5 chc2-C1R6
*xx 93.9 90.1 chc2-C1R7
*xx 94.4 chc2-C1R9
el chc2-C1R10
Similarity: 90.1-99.1




S. chaucha, cha
Majority CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAATATTATTATTTATTTTTTGTAGAAACGACGTC---GTTAGGAC-
10 20 30 40 50 60 70 80
————————— e e e Attt bt
cha-CI1R1 Tooeon. Tooeoeoiiiiiiian, G..TTT EEEEE -...AT CoConiii A.TCGGA..GA...G
(O 0o O il PR -
o 0 R i PR -
cha-C7R3 i e e e O it P -
o 0 O ) i PPN -
o 0 OO it P -
Cha-CT7RA i G i i i i it e e e e et e e e i PR -
o 0 O it P -
Cha-Cl3R2 .t i i i i it e i e e Gt i i i i i e i SR -
Cha=Cl O R .ttt ittt ittt it et it P -
Majority ————TA--ACAGGTGATGGGGGCGTTGXGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGT
90 100 110 120 130 140 150 160
————————— e e e
cha-CI1R1 TCGT..GG. v v v i i i T e e e e e e e et e e ISP
cha-C7R1  —=====—=—=. ... .. i ... et e e it e e i e e e e
cha-C7R2  ——==——————=......... A...... . A e
cha-C7R3  ——=——————— ... ... .., T e e e e e e et e e e et e e e
cha-Cl5Rl ——==—=————. .. .. ... ... e
cha-C6R1 T T T e e e e P
Cha=CTRA === = == ittt Be ettt e e Tttt
cha-CI3Rl -——=-..-=. ...t L T ieiiiiinaanns
Cha=CIl3R2 —=—= . .= ittt Bt et e e e e e e e e e
cha-CI5R2 ——=—..—= ...ttt L Tttt ittt tesaaasanaanns
Majority CGGTGGGGGGCAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210 220
————————— e e e
cha-CIRl ... .. i T e e e et 222 bp
cha-C7R1 ... i i e A e e e e e 213 bp
Cha=C R it i it et et e e e 213 bp
O 0 R 213 bp
cha-CIl5R]L ... e A e 213 bp
Cha—CoOR L it i i it i et e e et et e e e 219 bp
Cha—C R i it i i e et Al........ 219 bp
Cha—Cl B3Rl .t i i it i et et e et e e Ao, 219 bp
Lo o R O G Ao, 219 bp
Cha—Cl O R Lttt i ittt ettt ettt et et e 219 bp
cha- cha- cha- cha- cha- cha- cha- cha- cha- cha-
C1R1 C7R1 C7R2 C7R3 C15R1 C6R1 C7r4 C13R1 C13R2 C15R2
cha-
. 83.8 83.4 83.4 83.4 86.0 84.7 85.2 85.2 85.6 C1R1
e cha-
98.3 98.3 98.3 96.5 95.2 95.6 95.6 96.1 CTRL
. cha-
98.3 98.3 96.5 95.2 95.6 95.6 96.1 CTR2
. cha-
98.3 96.5 95.2 95.6 95.6 96.1 CTR3
. cha-
96.5 95.2 95.6 95.6 96.1 C15R1
. cha-
98.7 99.1 99.1 99.6 C6R1
. cha-
99.6 98.7 98.3 C7RA
. cha-
99.1 98.7 C13R1
. cha-
8.7 C13R2
* % % cha-
C15R2
Similarity: 83.4-99.6




S. cheesmaniae, che

Majority CCTTTTTGTTGAAATTTGATCTCGTAATTGAAAAAAAAAATATACTCATTTATTTTTTTTT-GCGGAAAATACGTTCGGA

10 20 30 40 50 60 70 80
————————— B it T e it e e &
[0 0 S T e e et e e
che-ClR2 .. .. iiiieeeennnn L e e e e e e e
Che—C2R L ittt ittt e i ettt e e E I Tt e e e i et
Che=C 3Rl ittt it i ittt ettt et e ettt aee et taeeeeee e T eeeenn. e e e e et

Majority TTGAGGCGTCATTAGGATATGGGATGGTGGCGTCGGGGATGGGCGTGACGGGCGTCGTCGTGCGTCGGTGCGTGGAGGGT

90 100 110 120 130 140 150 160
————————— B e e e i R it
[0 0 S
[0 0TSl O
[0 0 S 0 7
[0 8 S G 2 Cou et e e e e e e e

Majority TTTAAAGCGGGGGGCGGGCTAGGGCGTTGGGAGGAAGGTTGTGTTTAATAGATTTTAGAGTGCAATGAATGAC

170 180 190 200 210 220 230
————————— t———————— t———————— t———————— fomm fomm fom—————— +-—=
che-ClIR1 ............. e e e e e e ettt e e ettt et et e e 231 bp
[0 0 S 232 bp
L ST O o Ao, 232 bp
[0 0 S 3G 232 bp
che-C1R1 che-C1R2 che-C2R1 che-C3R1
*x K 99.1 97.9 98.7 che-C1R1
bk 97.9 98.7 che-C1R2
FHHE 97.4 che-C2R1
o che-C3R1

Similarity: 97.4-99.1



S. chilense, chi

Majority CCTTTTTGTTGAAATTTGATCTCGTAGTTGAAAAAAA-TATACTCATGTATTTATTTTTGCGTTAAATACGTTCGGATTG

10 20 30 40 50 60 70 80
————————— B s s s s JE et it &
Chi=ClRL ittt ittt ettt ittt eeeeeeeeeeennns Bttt e e e e e e e e e e e e e e
[0 o T e O e e e e e e e e ettt e e e
Chi=ClRE ittt ettt ittt eeeeeeeeeeennns e e e e e e ettt e et e et e e
[0 o T e O 2 e e e et e e ettt e e e

Majority AGAGTTCATTAGGATACGGGATGGTGGCGTCGGGGATGGGCGTGACGGGCGTCGTCGTGCGTCGGTGCGTGGAGGGTTTT

90 100 110 120 130 140 150 160
————————— BT m T e et e ettt &
o) o I = B e e e e e e e e e e e e e e e e e
[0 o T e O
[0 o R O T et e e e e e et ettt e e
[0 o T Al O 2

Majority AAAGCGGGGGGCGGGCTAGGGCGTTGGGCGGAAGGTTGTGTTT--AATAGATTTTAGAGTGCAATGAATGAC

170 180 190 200 210 220 230
————————— fom—————— Fo——————— Fo——————— F———————— F———————— t———————— +—=
[0 e I = I Tl e e e e et e ettt eeeeeeeeeennns 232 bp
[0 e R O 2 O N 229 bp
chi-ClR4 ......... e e e e e e e e e e e T..... e 229 bp
Chi=CAR3 ittt ittt ettt ittt ettt ettt e eeeenaaneeeenens e e e e Coue ettt ettt eeeannn 229 bp
chi-C1R1 chi-C1R2 chi-C1lR4 chi-C4R3
KAk 98.3 97.0 97.8 chi-C1R1
* ok ok 98.7 99.6 chi-C1R2
el 98.3 chi-C1R4
*Hx chi-C4R3

Similarity: 97.0-99.6



S. chmielewskii, cml

Majority CCTTTTT-GTTGAAATTTGATCTCGTAATTGGAAAAAAAA-TATACTAATTTATTTTTTTTTXGCGGAAAATACGTTCGG
10 20 30 40 50 60 70 80
————————— B i e e e il e it o
cml-C2R1 ....... Y S R LR T e e e e e e et eeeeen
cml-C2R2 ....... T e e e e e e e e et e et e et E I Tt e et e e e
cml-C3R1 ....... T e e e e e e e et A........ B e e e e e e e e e e e e e
cml-C5R1 ....... S E I T e e e et
Majority ATTGAGACGTCATTAGGATATGGGATGGTGGCGTCGGGGATGGGCGTGACGGGCGTCGTCGTGCGTCGGTGCGTGGAGGG
90 100 110 120 130 140 150 160
————————— B i e e S bl e it o
[0 (0 e N © S
[03 (0 e O
cml-C3R1 ..AA. ... ciieeeeen. ettt e e et et e e et ettt et e e e e e e e e e e
L3 00 e 7 -
Majority TTTTAAAGCGGGGGGCGGGCTAGGGCGTTGGGAGGAAGGTTGTGTTTAATAGATTTTAGAGTGCAATGAATGAC
170 180 190 200 210 220 230
————————— fmmm Fmm— Fmm— Fomm Fomm o +———=
o e O A e e e e e 232 bp
cml-C2R2 ... i e B e e 233 bp
CMI-C3RI ..ttt i e i e e A e e e e e e 232 bp
cml-C5R1 .A....... A e e e e i e e Comiiii il 231 bp
cml-C2R1 cml-C2R2 cml-C3R1 cml-C5R1
* Kk 97.0 92.2 94 .4 cml-C2R1
bk 91.8 94 .4 cml-C2R2
* ok ok 93.5 cml-C3R1
KAk cml-C5R1
Similarity: 91.8-97.0



S. chomatophilum, chm

Majority CCTTTTGGTCGAAATTCGGTCGAGTGATTGAAAAAATATATTATTATTTTTTGCAGAARACGACATTCGGATTGAGACGTC

10 20 30 40 50 60 70 80
————————— -t
chm-CIR1l ... ...ttt iiiiieennnn P
ChmM=C LR . ittt et ittt e e ettt et eeeeee s AT..C...... C ettt e e e e e e i i e e
[0 201 Eeal O 2
chm-C2R1 . ...ttt it Gttt e e e et e e e e e e e e e e e e e e e e e
ChM=C 2R i it i ittt e et et et e ettt et ee e eeeeneean AT..C...... Gttt e i et et e ettt et e

Majority GTTAGGACGGGTGATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGTGGAGGCTAGGCCGGTGG

90 100 110 120 130 140 150 160
————————— BT m T e et e ettt &
[0 004 Lol o
[0 201 Eel O
Chm=ClIlR3 .. ittt ittt e i eeeeeannn Bl ettt e e e e e e e e e e ettt e e e
ChM=C2R L &ttt ittt ettt ettt eeeeeennnn A e e e e e e B e e e e e e e
[0 0 (4Ll O3

Majority GGGTCAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCAATGAATGAT

170 180 190 200 210 220
————————— o o o Fo— Fo— +-—=
Chm=C IRl ..ttt ittt e et e e ettt eaennns C ottt e e e e e e e e e e e e e e e e e 223 bp
L o 10 e O 223 bp
[0 004 Eel O 2 223 bp
L 10 e o 223 bp
[0 004 Eel O3 223 bp
chm-C1R1 chm-C1R2 chm-C1R3 chm-C2R1 chm-C2R2

bl 97.3 98.7 98.7 96.9 chm-C1R1

bk 97.8 96.9 99.6 chm-C1R2

bl 99.1 97.3 chm-C1R3

xR x 96.4 chm-C2R1

KA chm-C2R2

Similarity: 96.4-99.6



S. chrysotrichum, chr

Majority CCTTTTTTGCGGAAATTCCGTCGTCTATTCTATTCGGCGAATCATAATTTTTTTTGGCGGAARACGACGTTTGCTTGGGAC

10 20 30 40 50 60 70 80
————————— -t
[ 0 et o
chr-C5R1 .......... Cor et e e e et e e e e e e e e e e e e T o e e e e e e e et i e e i e e
[0 o el O 2R R

Majority AGTTGAGGAAGGGCCAGGAACGCGCGCCGTCGCATATGGAGGCTAGGGGCGGTGGTGTGGAGGCTAGGAATGAGGCTTAA

90 100 110 120 130 140 150 160
————————— B natat e e T et s et e
[0 0 Bl o
[ 0 el ) Ao,
chr-C5R2 ........... At i e Tttt e et e e et ee e G..A.......... Tttt e e et eeee A...oooo..

Majority TAGAATTAAGAGTGCTAGGGATGAT

170 180
_________ +_________+_____
Chr-ClRl ...ttt it i it 185 bp
chr-C5R1 ..........0vo... T 185 bp
Chr=C5hR2 ... ittt it i i iiieee 185 bp

chr-C1R1 chr-C5R1 chr-C5R2

*xK 97.8 96.2 chr-CI1R1
el 94.1 chr-C5R1
*xK chr-C5R2

Similarity: 94.1-97.8



S. circaeifolium subsp. quimence,

Majority CCTTTTTTGTCGAAATTCGGTCGTGTAA-CTAAGAAAATATATTTATTTTATTTGCAGAAACGACATTCGGATTGGGACG

crcC

10 20 30 40 50 60 70 80
————————— Bt e bt e e Rttt e
PSCBA .l e e e e e
PSCBA .5 e e e e e T e e e ettt e e e e e et e e e
CrC5S .2 e e e e e e e e e e et e et e e ettt e e
CrcbS.3 e R et e et e e e e e e
CrcbhS .4 e i e e e e e et e e et e et ettt e et e e e e
CrCOS .0 i e e e e e e T e e e ettt e e e e e e e e e e e
[@ el @1 1 T e
CrC5S .7 i e e e e e T
Majority TCGTCGTTAGGAGAGGTGACGGGGGCGTTGAGGATGGGAGTGACGGGCGGCGTCATGCGTTGGTGCGTGGAGGCTAGGTC
90 100 110 120 130 140 150 160
————————— Bt e et e et e it P T et
S35 T
ST T
[ a3
[ a1 T
[ a1 1 A e e e e e e
L ol @1 1 T
[ a3 it
[ a1 e it
Majority GGTGGGGGGCAGGCTAGGGCGTTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTACGAATGAT
170 180 190 200 210 220
————————— B et e e e A
S35 PR 229 bp
ST = S T 228 bp
[0 el @ 1S 1 228 bp
[ @ el @ 1S 1 229 bp
[ a1 Tooen... 228 bp
L a1 T 228 bp
[0 a1 Toooo... 222 bp
@ el @ 1S 1 T....... 220 bp
pScB4.1 pScB4.5 crc5S.2 crc5S.3 crch5S.4 crc5S.5 crc5S.6 crc5S.7
xx*x 99.6 99.6 99.1 98.3 99.6 96.5 95.2 pScB4.1
KA 100.0 98.7 98.7 100.0 96.1 95.6 pScB4.5
bk 98.7 98.7 100.0 96.1 95.6 crc5S.2
bk 97.4 98.7 95.6 94.3 crcb5S.3
el 98.7 95.6 95.2 crc5S.4
xK 96.1 95.6 crcbhS.5
xxx 98.7 crc5S.6
at crchs.7

Similarity:

94.3-100.0




S. clarkiae, cla

Majority CATTTTTTGCCGAGATTTCGTCGTCTGTTCGGCGAATGATTATTTCTTTCGGCGGTTGGGTCGTTTGCTTGGGCAGAGAC

10 20 30 40 50 60 70 80
————————— B it e T e e ittt P
L = e o
cla-ClR2 ... .iiiiinnnnnn. Y
L = e
L e
Cla-CoRIl .ttt e e e e e e e A e e T e eeeeen B e e e e

90 100 110 120 130 140 150 160
————————— o
L o -
[0 = e o -
Lo = Tl 2 G
cla-C4R1 ........ Bl e e e e e e e e e e e et e e et et ettt e et e e -
L e ) -
Majority ATGAATGAGGTTTAATAGAATTAAGAGTGCTAGGAATGAC
170 180 190 200
————————— o ——— ¢
cla-CIRl1 ..... A e e e e e 199 bp
Cla-ClRZ . et e e e e 199 bp
Cla—C2RL it i e e e e 200 bp
Cla-CaARL ..t i e e e e 199 bp
Cla—ChRI .Gttt i e e e e e 199 bp
cla-ClR1 cla-ClR2 cla-C2R1 cla-C4R1 cla-C5R1
xx*x 99.0 99.0 99.0 97.5 cla-ClR1
*A Ak 99.0 99.0 97.5 cla-ClR2
il 99.0 97.5 cla-C2R1
*A K 97.5 cla-C4R1
KAk cla-C5R1
Similarity: 97.5-99.0




S. cleistogamum, cle
Majority CTTTTTTCGXXXXXXXXXXXTCGTCTATTCGXCCGATGACXATTTTTTTTTGCXGXAGGGCCXTTTGCTTGGGCAGAGXC
10 20 30 40 50 60 70 80
————————— e e s e Rt ettt b bt 3
cle-CIR1  ......... CCGAAATTTCG. ... ... A C Gevvvnnnaaa G.C...... T T
cle-C4R1  ......... CCGAAATTTCG. ..o v v nn .. AL, Gueveei e G.C...... T T
cle-CIlR2 ... .. .. -mmmmm s e Gooovinl Teoiion, T.T...... G Ao, A
cle-C8RI  ..... ... .-~ ——T-Tooo L. Govvnnns T, T.T...... P A
Majority  GTCGXTAGGACGGCTGAGGAXGG-XGTCGGCGGCGCGCGGAGGCTAGGGCG-ACGGGGTGCXGTAATGAGGTTTAATAGA
90 100 110 120 130 140 150 160
————————— e e s e Rt ettt b bt 3
cle-CIR1 Coviin. T...... G..=A. . A i e N T
cle-C4R1 Coniii i G.o=C e I AGiviiiiniiinnanss
cle-CIlR2 T A..GC. . e T.T....... S
cle-C8R1 Tooono.. Aol A..TA Al iiiiie CT EEEEREEE Teeeeeeiiiiiiia.,
Majority ATTAAGAGTGCTACGATTGAC
170 180
_________ +—-————————4-
cle-CIRI ... it 179 bp
cle-C4R1  ............. (€ 179 bp
cle-CIlR2 .. ... i 170 bp
cle-C8RI ... i, 169 bp
cle-CIlR1 | cle-C4R1 | cle-ClR2 | cle-C8R1
*oxx 95.0 78.8 84.0 cle-ClR1
folehd 82.9 83.4 cle-C4R1
xAx 89.9 cle-CI1R2
*kx cle-C8R1
Similarity: 95.0-78.8




S. clivorum, cli

Majority TTTTTCCGATCGAAATTCTTCATAATTTCGTGTATTTGATAATATTTATTTATATTTTTTTGCGGAAACGTCATTCTGAT
10 20 30 40 50 60 70 80
————————— T s et et S it
0
Lo
CLli-C3RL ittt i e e e e e et e e e e
L e
Majority CGAGACGTCGTTAGGACCTGTGAGGGGGGCGTGACAGGCGGCGTTGTGTGGAGGGTCGGTCGGTAGGGGTGCAGGATAGG
90 100 110 120 130 140 150 160
————————— Bt et e e ettt
0
CLAmC 2R ettt e et e e e e e e e e e e e e e e e G.
e 1
L e
Majority GCGTTGGTAGGAAGGAGGTGTTTAATAAGATTAGAATGCAATTACTGAT
170 180 190 200
————————— Bt et it
O o 5 209 bp
I .3 5 209 bp
cli-C3R1 L e e e i e 209 bp
CLi=C4RL  veveeeeenennnnnnn. e 209 bp
cli-CIR1 | cli-C2R1 | cli-C3R1 | cli-C4R1
xxKk 99.5 99.0 99.5 cli-C1R1
*kk 98.6 99.0 cli-C2R1
*xK 98.6 cli-C3R1
ok cli-C4R1
Similarity: 98.6-99.5



S. cochoae, coc

Majority CCTTTTTGCCGAAATTCGGCATGATTCGGTGTGTCTGACGGCCGGTGCATTTTTTCCGCAGAAACGGGCGTGCCG---GG

10 20 30 40 50 60 70 80
————————— B s s s s JE et it &
[0 @l R -——..
COCTC LR ittt it e et ettt et e e et eeeeeeeeeeeeeeeeeeeaeeeeeeeeeneeeeeeeenneeeneeennns -——..
[0 el GG CCG..
coC-CO9R1 ...t iiiiiiii A e e e C ottt e et e e e e e e et e e e e e -——..
coc-CO9R2 . ... ... Bl et e e e e e e e e e e e et e et e e e e -——..

Majority GGTCGCAACGCGCCGGTGCGAGGGGGCTAGGGCGGTGGGGCGCTGAGGCTTAATAGAATTTGGAGCGCTAGGGATGAC

90 100 110 120 130 140 150
————————— -t -
CcoC—CIRI ... ittt e 155bp
[0 @ O 155bp
[T Y R 2 158bp
COC—CORL ittt it ettt e e e e e et T ot e e e e e et e e et e ettt e et e 155bp
[T Y R 0 155bp
coc-C1R1 coc-C1lR2 coc—-C3R1 coc—-C9R1 coc—-C9R2
kel 99.4 97.5 97.5 98.7 coc-C1lR1
bk 98.1 98.1 99.4 coc-C1lR2
kel 96.2 97.5 coc-C3R1
KA 98.7 coc-C9R1
ol coc-C9R2

Similarity: 96.2-99.4



S. commersonii-1, cmml

DIRECT SEQUENCING - 224 bp

S. commersonii-2, cmm2

Majority CCTTTTTTTGTCGAAATTCGGTCGTGCAATTGAAAAAATGTATTTATTTATTTTTTGCAGAAACXACGTCGTTAGGACAG
10 20 30 40 50 60 70 80
————————— B i s s e e et e e &
(30410102 A [
(03 0410402 Tt et i e
cmm2-C2R1  ........ e e et e e e e ettt ettt e et e e et e [
cmm2-C3R1  ............ Bl et e e e e e e e e e e e e et e e e e Tt e e i e e
Majority GACAGGTGATGXGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTGGGTCGGTGGGGG
90 100 110 120 130 140 150 160
————————— B i s s e e et e e &
cmm2-C1R1  ........... [
cmm2-C1lR2 .......... AT e e e et e e e e e e e e e et et et et
cmm2-C2R1 ... Gttt e e e e e e e e e e e B e e e e e e e e e e e et e e,
cmm2-C3R1 Cooo.. e et e e e e e et e e e e ettt e e et
Majority GCAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210 220
————————— B i e s s Tt
CMMZ2—C LRl .t e ettt 220 bp
cmmZ2-C1lR2 ... e e T et e i e e 220 Dbp
CMMZ2—C 2R .ttt et e e 219 bp
CMMZ—C 3R Lt e e et 220 bp
cmm2-C1R1 cmm2-C1R2 cmm2-C2R1 cmm2-C3R1
el 98.2 99.1 98.2 cmm2-C1R1
Kk 97.3 98.2 cmm2-C1R2
KAK 97.3 cmm2-C2R1
KAk cmm2-C3R1

Similarity: 97.3-99.1



S. corneliomuelleri, crm

Majority CCTTTTTGTTGAAATTTGATCTCGTAGTTGAAAAAAATATACTCATGTATTTATTTTTGCGTTAAATACGTTCGGATTGA

10 20 30 40 50 60 70 80
————————— B it T e it e e &
crm-C1R1 ............. S
CrM=C 2R ittt it e ittt ettt e et e e e e e e e ettt et e e e e
[0 (Ll 3 1

Majority GAGTTCATTAGGATATGGGATGGTGGCGTCGGGGATGGGCGTGACGGGCGTCGTCGXGCGTCGXTGCGTGGAGGGTTTTA

90 100 110 120 130 140 150 160
————————— o
CrM=C LR ittt it it e et ettt et ettt e e -.A..G...... T e e e e ee e
L 1l 0 e A
crm-C3R1  .....ciiiie.... C ettt e e e e e e e e e CA. . iiiiienn.. T...... A

————————— B et e et T e
170 180 190 200 210 220
————————— B e e e e s R L
L 10 227 bp
Crm—C2RL it e e e e e e G mmm e e o e e e e e e e e e 210 bp
[0 1l 3 229 bp

crm-C1lR1 crm-C2R1 crm-C3R1

*A Ak 90.0 96.1 crm-C1lR1
KA AK 89.5 crm-C2R1
kel crm-C3R1

Similarity: 89.5-96.1



S. crinitum, cri

Majority CCTTTTTTTXCCCGTCGAGCATTCGGCGAATCATTCATTATTATTATTATTTTTXGGCGGAAACGACATTTCGTTAGGGC

10 20 30 40 50 60 70 80

————————— B e T et it

pScril  ......... Bl et et e e e e e et ettt e e e e e e T oo et e e e e e e i e
pScriz2  L........ S S

Majority AGCCGAGGAAGCGCGCGCCGGTGCGTGGAGGCCAGGGGCGGTGGTGTGCCGGCTAGGGCGTCGGGAGGAATGAGGTTTAA
90 100 110 120 130 140 150 160

170 180
_________ +_________+_____
pScril e e A... 185 bp
PSCri2 e e G... 183 bp
cril criz
KEK 98.4 cril
*A Ak cri2

Similarity: 98.4



S. curtilobum, cur
Majority CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAATATTATTATTTAT-TTTTTGXAGAA-————————————~ ACGACG
10 20 30 40 50 60 70 80
————————— B e i e e e e bt PRt e S
L e e T, ... .—-———————————— . .....
[ B e T....-————————=———— ... ...
cur-C3R1 T e e e e e e ettt ettt eeeneaaaaaennns At et e T....————————————— .. ....
L B e T....-————————=———— .. ....
CUE=COR ittt i ittt ettt et e ettt eeeeeeeeeeaaeeaaaeenanenn e Coveemm——————————— .. ....
cur-CIlORL ...ttt ittt C...T..TTTTT. e v v i eeennn Covinnn C. S ...G.
cur-Cl6R1 ........ Covvnnnn. Cooon G.T. Coon e -..G...... C....CGACATTCGGATTGA. ...
L B O e Coveemmmm———==———— .. ...
Majority TCGTTAGGAC----AGGTGATGGGGGCGTTXXGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCT
90 100 110 120 130 140 150 160
————————— B i e e e ettt PR e e S
cur-ClR1 .......... TAAC . ¢t it it it i e e e e 1
cur-C2R1 .......... TAAC . ¢ i et e e et eaen GGt it ittt it ittt et e e e e e e e e e e
cur-C3R1  .......... e e e e e e e R
cur-C5R1 .......... TAAC. ¢ e i i i ee e e R
cur-C5R2  .......... T e e e e A
cur-C10R1 .......... T e e e e e e o C
cur-Cl6R1l .......... it e e e O e e e e
cur-C22R2 .......... it TR e e e e e et e e e e e e e e e e e e e e e e e,
Majority AGGTC-GGTGGGGGGCAGGCTAGGGCGTTGGGAGGAAGGA-—-—--— GGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210 220 230
————————— B e e et e st
cur-CIlR1 ..... I T T T S o 219bp
cur-C2R1 ..... T e e e 219bp
cur-C3R1 ..... T s Ao, 215bp
cur-C5R1 ..... St T S S 219bp
cur-C5R2 ..... T S it 213bp
cur-C1lO0R1l ..... Gt e e e e e e e BAGGA. ...cu.n. B e 220bp
cur-Cle6R1l ..... B T T T i B 223bp
cur-C22R2 ..... R 2 T T S S 213bp
cur-C1lR1 | cur-C2R1 | cur-C3R1 | cur-C5R1 | cur-C5R2 | cur-C10R1l | cur-Cl6R1 | cur-C22R2
b 99.6 96.2 99.6 97.1 90.0 85.8 96.7 cur-C1lR1
xH K 95.8 99.2 96.7 89.5 85.4 96.2 cur-C2R1
* ok ok 95.8 96.7 89.5 85.4 96.2 cur-C3R1
kK 96.7 89.5 85.4 96.2 cur-C5R1
kK 92.9 88.7 99.6 cur-C5R2
*kox 83.3 92.5 cur-C1l0R1
il 88.3 cur-Cl6R1
*A A& cur-C22R2
Similarity: 83.3-99.6




S. demissum, dem

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAATATTATTATTTATTTTTTGTAGAAACGACGTCGTTAGGACTAAC

10 20 30 40 50 60 70 80

————————— s e et T e s

[0 L (s T T

[0 LS 1 B T
dem 5S.6

Majority AGGTGATGGGGGCGTTGGGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGE

90 100 110 120 130 140 150 160
————————— e e e e e e
dem 58 .4 i e e i e et e e it et e e e A e e i e
[0 L (s 3 T
L0 1

Majority CAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT

170 180 190 200 210
————————— i e e ittt
[0 T s B T 219 bp
dem 58 .0 L i it Ao, 219 bp
[0 L (s B T 219 bp

dem 5S.4 | dem 5S.5 | dem 5S.6
* Xk 98.6 99.5 dem_5S.4
* oKk 99.1 dem_5S.5
xokx dem 5S.6

Similarity: 98.6-99.5



S. dimorphandrum, dim

Majority CTTTTTGTCGAAATTTCGGCACGGTTTCGCCTATTTGATAATATATGTTTTGGCAGAAACGGGATTTGGGCCGATACGCC

10 20 30 40 50 60 70 80
————————— e e S e A et e LS
[ 8 L 0
dim=C2RI ..ttt et e e e Gttt e e et it ittt e ettt i et i e e e e e
L 8 T 02
dim-C4R1 .......ciiiiiina.. Bt e e e e et e e e e e e e e e

Majority GCGAGGAAGGTGATGXXXXXXXXXXXXXCGGGCGTGCAGGCTAGGGCGGTGGGAGGAAAGAGGTTTAATAGAATTTAGAG

90 100 110 120 130 140 150 160
————————— e s e T Tt
Aim=CLRL .ttt e T T T T T T T T T e e e e e e e e e e e et ettt e e e
dim-C2R1 ............... GGGG Gl G AG G A . i it ittt ettt ittt ettt et tneetaneeneeneeaneenees
dim-ClR2 .........ocv... GGGG G Gl AGG A . v ittt ittt ittt ettt ettt e e e
AImM=CARL &ttt T T T T T T T T T T e e e et ettt ettt e et e e e

170
—_———— e ——— +___
dim-CIR1 ............. 160 bp
dim-C2R1 ............. 173 bp
dim-ClR2 ............. 173 bp
dim-C4R1 ........... G 160 bp
dim-C1R1 | dim-C2R1 | dim-C1R2 | dim-C4R1
bl 91.9 92.5 98.8 dim-C1R1
e 99.4 90.8 dim-C2R1
KEK 91.3 dim-C1R2
ol dim-C4R1

Similarity: 90.8-99.4



S. diversiflorum, div

Majority CTTTTTTTGCCGAAATTTCGTCGTCCAXTCGGCGAGTGATTATTTTTTCCGGCGGTCGGGTCGTTTGCTTGGGCAGAGAC

div-C2R1
div-C3R1
div-C3R2
div-C3R3

div-C2R1
div-C3R1

10 20 30 40 80
————————— i Tt Fomm e
........................... ettt e e et i ittt ettt ittt it i e e e e e
N et it et it ettt it i i e e i e e e e
........................... Lo e e e e et e e e e i e et e e e e e e e e e e
........................... A €

90

100

110 120

160

170 180 190
————————— Bt E
div-C2R1 ............. T e e e e e e ettt e 198 bp
div-C3R1 ............. Cor e e e e e e e e e e e 198 bp
div-C3R2 ............. T e e e e e e e e e e e e e 198 bp
div-C3R3 ........in. ettt e e e 198 bp
div-C2R1 div-C3R1 div-C3R2 div-C3R3
*AK 97.5 98.5 97.0 div-C2R1
* kK 98.0 97.5 div-C3R1
xRk 98.5 div-C3R2
* oAk div-C3R3
Similarity: 97.0-98.5



S. dulcamara,

dulc

Majority CCTTTTTGTCGGAATTCGGCACGGTTTCGTCTACTCGACAACAAGTATTTTTTT-GCGGACACGACATTCGGGGCCTAGA
10 20 30 40 50 60 70 80
————————— e e it e
[0 O e T Tt eie sttt
AULC 55,2 i e e i e e .
AULC 58,3 i i e e e e e e et e e Tt e e i e
AULC 58 .4 i e i et P
[0 O e T Tttt eee st ettt
Majority CGCCGTTAGGACGTGCGATGGAGGCGCTTAGGACGGGCGTGACAGGCGGCAGGGTGCGTCGG-TGCGT--GGAGGGCAGG
90 100 110 120 130 140 150 160
————————— e e et e e e
o o 1 L e PR
[0 O I T EEEE P USPUPPORN
AULC 58 .83 i e e et i e e e PR
[0 O e T G.o.... .
AULC 58 . i e e e et et i e e e PR
Majority GC-GCATGCCGGGGCGTT-GGGAGGGGAAGGGGGTGTTTAATAGAATTTAGAGCGCTAGGAATGAT
170 180 190 200 210 220
————————— i e et Rt
dulc 5S.1 I I, e e e e et i e -..Teooo.. 219 bp
dulc 5S.2 R e e e e ittt e, 220 bp
dulc_ 5S.3 T e e et e e i e e e et e Govvinnlt 222 bp
dulc 5S.4 e T Teenl.. 222 bp
dulc 5S.5 I I, T e et et et e et e e e 221 bp
dulc 5S.1 | dulc_5S.2 | dulc_5S.3 | dulc_5S.4 | dulc_5S.5
* Kk 99.1 97.8 97.3 98.7 dulc 5S.1
folehd 98.7 97.3 99.6 dulc 5S.2
* Xk 96.0 99.1 dulc 55.3
ol 96.9 dulc 5S.4
x Kk dulc 5S.5
Similarity: 96.0-99.6



S. ehrenbergii, ehr
Majority CCTTTTTGTCGAAATTCGGTCGTGTAATTGAAAAAGTACATTATTATTTATTTGCAGAAACGACATTGGGATTGAGACGT
10 20 30 40 50 60 70
————————— B it T e it e e &
S0 0 e 0 ot e e e i i e e i e e e e e
1Y o e 7
10 o a3 0 O
ehr-C4R1 ..... ... .. Bt i i e e e et e e et e e ettt e
e —C3RZ i it e e e e e e e L e e e e e et e ettt ettt e e e e e e
Majority CGTTAGGACAGGTGATGGGGGGCGTTGAGGAGGGGCGTGACGGGXGGCGTCGTGCGTCGGTG-———~ AGGCTAGGTCGGT
90 100 110 120 130 140 150
————————— B e i e e e e ittt e e S
LS o a0 A—mmmmm e e e e e e
S0 0 e 3 A—mm e i e
ehr-C3R1 ...ttt S - NP B e e e
ehr-C4R1 ... ... ittt A e e e Coat et e e e e et
[ o e 1 P Coe et e e CATGG. . v v v v v iienn
Majority GGGGGGCGGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTGGAGTGCTATGAATGAC
170 180 190 200 210 220
————————— Bt e s e ah At LT e e e
Ehr—C IR . e ettt e e 202 bp
ehr-C2R1  ........ ... L. ettt e e e e e e 202 Dbp
Ehr—C R — . e e et e e 205 bp
ehr-C4R1  —. ... . e Coniiii i Al 206 bp
Ehr—C R . e e e e e e e 225 bp
ehr-C1R1 ehr-C2R1 ehr-C3R1 ehr-C4R1 ehr-C3R2
ool 99.1 83.6 83.1 88.4 ehr-C1R1
xx*x 83.6 83.1 88.4 ehr-C2R1
* ok ok 96.4 89.3 ehr-C3R1
HxK 89.3 ehr-C4R1
KAk ehr-C3R2
Similarity: 83.1-99.1



S. elatius,

ela

Majority CTTTTTTTGCCGAAATTTCGTCGTCTATTCGGCGAATGATTATTTTTTTGGGCGGTTGGGTCGTTTGCTCGGGCAGAGAC
10 20 30 40 50 60 70 80
————————— B it T e it e e &
L e 0
€1la-ClR2 ittt i ettt e e e e 202 Y
ela-C2R1 Covivnnnn A Coviiiieee e Tt e e et e e Chuovniniiienn
S R 1 O E SR
Majority GTCGTTAGGACGGTTGAGGAAGGGCGTCGCCGGGGCGTGGAGGCTAGGGCGGTGGTGTGCAGGTTAGGGCGTGGGGGGGA
90 100 110 120 130 140 150 160
————————— B e e e R it
L e 0
LS R 0 G
€la-C2RL i e e e e e [ B e e e e e e e e e T
LS R 1
Majority GGAATGAGGTTTAATAGAATTAAGAGTGCTAGGAATGAT
170 180 190
————————— B it s
ela-ClRL .. i e i e e 199 bp
€la-ClRZ .. i e e e e 199 bp
€la-C2RL ... e Covviinnn 199 bp
ela-C3RL ... i e e Govvnnnns 198 bp
ela-ClR1 ela-ClR2 ela-C2R1 ela-C3R1
xx*x 98.0 95.5 99.0 ela-C1lR1
*kk 93.5 97.0 ela-ClR2
bk 94.5 ela-C2R1
*A K ela-C3R1
Similarity: 93.5-99.0



S. erianthum,

eri

Majority CCTTTTTGTCGAAATTCGGCACAACTTCGTCTATTTGATGATATTTTTTTCCCGCGGAAACGGCATTTGGTCCGGGAGGT
10 20 30 40 50 60 70 80
————————— B it T e it e e &
LS e 0
LS R 0 C o e m e e e e e e e e e e e e e e
eri-CIR3 ...ttt et e e e e e e e ettt e e ettt e e e ettt e e e
LS R 0 Y Y
eri-C1R5 e e e e e e e e e et e et eae e et ee e A e e e e e e
LS A 0 Y Bl e e e e e e e e e e e e
Majority CGTTAGGACAGGCGATGAGGACGGGCGTGCCAGGCGTCACCACGCGCCGGTGCGTGTAGGATAGGGCGGTGGGGTGCAGG
90 100 110 120 130 140 150 160
————————— B e e et B e e
LS e 0
L e 0 [ Y
Sl e 0 OO T e e e e e e e e e et e et T
eri-ClR4 ...... e e it e e e e e e e et e e e e eeeaeeeeeeeeeaeeeeeeeeaneeeeeeeeaeeeeeeeenneeeneeennns
LS R 0 T.
eri-ClRO ittt ittt et i et T..... T e e e e e e e et e ettt eeeeaeeeeeaaaaaanens A.......
Majority CTAGGGCGTTGGGAGGAATGTGGTTTAATAGAATTTAGAGTGCAAGGAATGAT
170 180 190 200 210
————————— Bt it B s e e
eri-C1R1 Sl e e it e e 213 bp
Eri-ClRZ ittt i it e e e i 212 bp
eri-ClR3 .......... T T e e e e e e 213 bp
eri-ClR4 ...t i 213 bp
eri-C1lRS ............ A e e e T..... c 213 bp
LS ol e O 213 bp
eri-C1R1 eri-C1lR2 eri-C1R3 eri-C1lR4 eri-C1R5 eri-C1lR6
*kx 97.2 97.2 98.1 96.7 97.7 eri-CI1R1
*kk 95.3 97.2 95.3 96.2 eri-C1R2
bk 96.2 94.8 95.8 eri-CI1R3
*kx 95.8 97.2 eri-C1lR4
KAK 95.3 eri-CI1R5
*kox eri-C1R6
Similarity: 94.8-98.1



S. esuriale, esu

Majority CTTTTTTTTGCCTGCCGGAATTCGGTGGTGTCGTTAGGTCGGTTGATTATGCCTTTAGGCGTTTGCTTGGGCAGGGACGT
10 20 30 40 50 60 70 80
————————— B it T e it e e &
ESU=C LR i e e e e e e e e e et e ettt ettt e
esu-C3R1 ....... I
ESUTC AR i e e e e et e e e e e e et e ettt e e
esu-CbR1  ............... L o e e e e e e e e e et et et e e o ae o ee s aesaeeeeeseeeaeeoeeeeeeeeteeeeeeeeens
Majority CGTTAGGACGGCTGAGGAAGGGCGTCGCCGGCGGGTGGAGGCTAGGGCGGTGGCGTTGGGGGGG-AGGACTGAGGTTTAA
90 100 110 120 130 140 150 160
————————— B e e e i R it
LSS0 e 0 I [
esu-C3R1 ... eennn. Bt e e e e e e e e e et et et e et e T e e e e e et
esu-C4R1 ...... L T e e e e
LSS el 0 1 S C.
Majority TAGAATTAAGAGTGXTAGGAXTGAX
170 180
_________ +_________+_____
esu-ClRl .............. C.o.... A...C 185 bp
esu-C3R1  .............. A..... T...T 184 bp
esu-C4R1  .............. A..... T...T 184 bp
esu-C5R1  .............. C.o.... A...C 184 bp
esu-C1lR1 esu-C3R1 esu-C4R1 esu-C5R1
xA K 96.8 96.8 98.4 esu-C1lR1
*kk 97.8 96.2 esu-C3R1
el 96.2 esu-C4R1
x KK esu-Cb5R1
Similarity: 96.2-98.4



S. etuberosum,

etb

Majority ACATTTTGTAGAAATTCGGTCGTGTATTTGAAAAATATATATATATTTTTTGCAGAAACGACATTCGGATTGATCGGTCG
10 20 30 40 50 60 70 80
————————— s e e s R s et
etb-CI1R1 Sl i i i i i e e e i e e st e Attt i i
etb-C1lR2 D e e ettt e et e et e e e
etb-CIR3 ... e e A i i i i i i e L
etb-ClR4 ......... e
etb-CIRS ... e Gt e Gt e e
etb-C1R6 T B e e e et e e e e e e e et e e e
o <R O Gt e e
Majority TGTAGGACAGGTGACGGGGGCGCTTAGGATGGGCGTGAAAGGCGGCGTCAAGCGTCGGTGCGTGGAGGCTAGGTCGGTGG
90 100 110 120 130 140 150 160
————————— T e i e i el bt et
etb-CIR1 ........ ... .. ... T o e e e e e e e i ettt e e e e e e e
ST <R O
etb-ClR3 .......... ... .. T.o.o..... A e i e e e N S
etb-ClR4 ...... ..., e
L T o O
T <R O A.
EED R T i e e et e Govvviiie
Majority GGGGCAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210 220
————————— e e e e et b
L R 2 223 bp
EED=C R L e e e e e e 223 bp
etb-C1lR3 ...... A e e ettt 223 bp
EED=C R L e e et e e 223 bp
Ll R O 2 T L 222 bp
Lo <L O 223 bp
LS o R O Ceee e 223 bp
etb-C1lRl | etb-ClR2 | etb-CI1R3 | etb-C1R4 | etb-ClR5 | etb-ClR6 | etb-ClR7
*oxox 99.1 94.6 97.8 96.9 98.2 97.3 etb-C1R1
*oxx 95.5 98.7 97.8 99.1 98.2 etb-C1lR2
*kk 95.5 95.1 94.6 95.5 etb-C1R3
* K x 97.3 97.8 97.8 etb-ClR4
*oxx 96.9 97.8 etb-C1R5
x Kk 97.3 etb-C1R6
xR X etb-C1R7
Similarity: 94.6-99.1



S. ferocissimum, fer

Majority CATTTTTTGCCGAAATTTCGTCGTCTATTCGGCGAATGATTATTTTTTTTGGCGGTTGGGTCGTTTGCTTTGGCAGAGAC

10 20 30 40 50 60 70 80

————————— -t

e R Gevvevnnnn
fer-C2R1 ....... ... 2

B el G2 o

Majority GTCGTTAGGACGGTCGAGTAAGGGCGTCGCCGGCGCGTGGAGGCTAGGGCATGTAATGGTGTGCAGGTTTAGGGCGTGGT

90 100 110 120 130 140 150 160
————————— BT m T e et e ettt &
B el O
B el 2 o
B el G

Majority GGGAGGAATGAGGTTTAATAGAATTAAGAGTGCTAGGAATGAC

170 180 190 200
————————— fom fom fom +---
e 203 bp
S a2 A 203 bp
Fer—C2R it e e e e e e e C. 203 bp

fer-ClR1 | fer-C2R1 | fer-C2R2

*kx 98.5 99.0 fer-C1R1
KAk 98.5 fer-C2R1
kel fer-C2R2

Similarity: 98.5-99.0

S. galapagense, gal

ONE RIBOTYPE - 233 bp



S. gourlayi-1, grll

DIRECT SEQUENCING - 213 bp

S. gourlayi-2, grl2

Majority CCTTTTTGTCGAAAATTTGGTCGTGTAATTGAAAAAATATTATTATTTATTTTTTGCAGGAACGACGTCGTTAGGACAGG

10 20 30 40 50 60 70 80
————————— ittt e it et A s
Lo a0
Lo a2
grl2-CIR3 .....ciiiunn.. T e e et e e e L G...

Majority TGATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGGL

90 100 110 120 130 140 150 160
————————— R it s s e Rt e
Lo B 2 0
Lo B e 0
Lo B e 0 G

Majority TGGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT

170 180 190 200 210
————— R Fo———— Fo———— Fo————— +-——-

L B 2 214 bp

GLL2-CLR2  Cut it ittt ittt ettt ittt ittt ittt 214 bp

Lo a2 0 [ 213 bp

grl2-C1lR1 grl2-C1lR2 grl2-C1R3

*xK 99.5 97.7 grl2-C1R1
il 97.2 grl2-C1lR2
xRk grl2-C1R3

Similarity: 97.2-99.5



S. guamense, gua

Majority CCTTTTTTGCGGAAATTCCGTCGTCTATTCTATTCGGCGAATCATAATTTTTTTTGGCGGAAACGACGTTTGCTTGGGAC
10 20 30 40 50 60 70 80
————————— R ettt e e et e R e Tt
pSgua-5S1 7 A
pSgua-5S2 .......... ettt e e et e e e e e e e e e e e e et e e e e ettt et et e ettt e
15T 16 = o 1 1 T A e e
1S B = Bl 1 e
Majority AGTTGAGGAAGGGCCAGGAACGCGCGXCGTCGCATATGGAGGCTAGGGGCGGTGGTGTGGAGGCTAGGAATGAGGCTTAA
90 100 110 120 130 140 150 160
————————— R ettt e e et e R e Tt
pSgua-5S1 ... e T..... ottt e et e e e et e e e e e e et ettt e e
PSgua—5S2 L. e e e ottt et e e e e et e e e e e et et e e e e i e
pSgua-5S3 A e L
pPSgua-5S4  ........... Beveeennn. A Tt e e - Buvnnnn.
Majority TAXAATTAAGAGTGCTAGGGATGAT
170 180
_________ +_________+_____
pSgua-5S1 ..G......... Ao, 185 bp
pPSgua-5S2 . .G.....i.i i 185 bp
pSgua-5S3 A e e 185 bp
pSgua-5S4 ..A............G... ..o 185 bp
pSgua-5S1 pSgua-5S2 pSgua-5S3 pSgua-5S4
xk A 96.8 94.6 93.0 pSgua-5S1
*k K 95.7 94.1 pSgua-5S2
KAk 94.1 pSgua-5S3
xx*x pSgua-5S4
Similarity: 93.0-96.8



S. habrochaites, hab

Majority CCTTTTTGTTGAAATTTGATCTCGTAATTGAAAAAAAAAATATACTCATTTATTTATTTTTGCGGAAAATACGTTCGGGT
10 20 30 40 50 60 70 80
————————— T s et et S it
hab-CI1R1 B e e et i i e e e e e e e e e
hab-C2RL . e e e S
hab-C2RZ . e e e e e A e e e e
Majority TGAGACGTCATTAGGATATGGGATGGTGGCGTCGGGGATGGGCGTGACGGGCGTCGTCGTGCGTCGGTGCGTGGAGGGTT
90 100 110 120 130 140 150 160
————————— i T s Kt ettt
hab-CIR1 ............ L et e e i et i i i e e e e e
SIS Ll O
hab-C2R2  ..i.iitinnnenennn. B e e e e
Majority TTAAAGCGAGGGGGGCGGGCTAGGGCGTTGGAAGGAAGGTTGTGTTTAATAGATTTTAGAGTGCAATGAATGAC
170 180 190 200 210 220 230
———— e e B e ittt e ittt fommm fo——
0YoY o ol 5 P 234 bp
= R 233 bp
hab-C2R2  ....... B e e 232 bp
hab-C1R1 hab-C2R1 hab-C2R2
xxK 97.9 96.6 hab-C1R1
*xx 97.9 hab-C2R1
o hab-C2R2
Similarity: 96.6-97.9



S. hindsianum, hin

Majority CCTTTTTXCGCCGAAATTCCGTCGTCTATTCGGCGAATCATTATTTTTGTTGGCGGTTGGGTCGTTTGCTTGGGCCGAGG
10 20 30 40 50 60 70 80

pShin-5S4 ....... e e e e e e e et ettt e e ettt e
pShin-5S7 ....... T e e e e e e e et e e et e e e e ettt e

Majority CGTCGTTAGGACGGTTGAGGAAGGGCGTCGCCGGCGCGTGGAGGCTAGGGCGGTGGTGTGCAGGCTAGGGCGTGGGTGAG
90 100 110 120 130 140 150 160

TS0 T o Eee 1
FS TS0 T o K 1 1

Majority GAATXAGGTTTAATAGAATTAGGAGTGCTAGGAATGAC
170 180 190

PShin=5S4 ... Gt e 197
PShin=587 .. A e e 198

pShin-5S4 pShin-5S7

*o 99.0 pShin-554

* k% pShin-587




S. hondelmannii, hdm

Majority CCTTTTTGTCGAAATTTGGTCGTGTAATTGAAAAAATATTATTATTTATTTTTTGCAGGAACGACGTCGTTAGGACAGGT
10 20 30 40 50 60 70 80
————————— s e e s R s et
T 1T O
hdm-ClR2 ............. Gttt e et
hdm—C3RL .t i i e e e N
T 1T O
hdm-C4R2  ......... ... I
Majority GATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGG--———~
90 100 110 120 130 140 150 160
————————— S e L e e A
0 I CAGGCT
hdm-CIR2 ...............o0n.. ittt tae s toeesusasossveasnstooosusasossvasonssoses ===
T 1T O )
hdm-C4R1 ............ A e e e e e e Gevvvivensuneom—m—=
hdm-C4R2 ... .. ... it N
Majority —-----—-—-—----—-- CAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210 220 230
———————- Fomm Fomm Fomm Fommm Fommm Fomm +-—=
RAM=CLRL  AGGGCGTTGGGGGG - « « ¢ v e e e e e e e e et et et et et et et et e e e ettt ettt et eaaens 233 bp
hdm-C R —mmmmm oo oo o e et e Govvvnnn 213 bp
e O B Gevviniii 213 bp
Lo O S e 213 bp
L R O 213 bp
hdm-C1R1 | hdm-C1R2 | hdm-C3R1 | hdm-C4R1 | hdm-C4R2
*oxx 90.1 90.6 90.6 90.6 hdm-C1R1
*oxx 97.9 97.9 97.9 hdm-C1R2
x Kk 98.3 98.3 hdm-C3R1
el 98.3 hdm-C4R1
*oxx hdm-C4R2

Similarity: 90.1-98.3



S. horridum,

hor

Majority CTTTTTTCGX-XXXXXXXX-TCGTCTATTCGGCCGATGACTATTTTTTTTT--GCXGXAGGGCCGTTTGCTTGGGCAGAG
10 20 30 40 50 60 70 80
————————— B i e e S il e et
NOT=C3R1l ittt i T T T e e e e e ettt e O A Y
NOTr—=C2 2Rl i T T T T T T T T e e e e e et et i e 1
NOT—=C23R]l ittt e m T T o e e e e e e et et e O
hor-C9R1  ......... ATGAAATTTCG. v v v e v e Cit ittt e et it it e ie e e e C
hor-CO9R2  ......... ACGAAATTTCG. v v v v v v v v n. T = GG e
hor-C11R1 ......... ACGAAATTTCA . ¢ vt et et et e e e At -= LGl LA e e
Majority XCGTCGXTAGGACGGCTGAGGAXGGC-GTCGGCGGCGCGCGGAGGCTAGGGCGXATGGGGTGCXGXAATGAGGTTTAATA
90 100 110 120 130 140 150 160
————————— B i e e e it e it o
hor-C3R1 A..... Tt e i e e 7 R T..... AA. . i
hor-C22R1 A..... T, A i iieien 2 R T..... AA. . i i
hor-C23R1 A..... To.ooooo o Tooo. A..GC. A e i i e - TT. .o ALA. . i
hor-C9R1 T..... C..Coviviiinnn. Gt e e e e e e e e e e e e e e e T e e e T
hor-C9R2 T..... Cuviriiiii e G. T e e e e e et e e Coaa T.T.. .
hor-Cl11R1 T..... Cu et i i i e e Gt e e e e e e e e e e e Covinn T
Majority GAATTAAGAGTGCTAGGATTGAC
170 180
—_——— e ——— + _________ +___
hor-C3R1  ........coo.... T, T 170 bp
hor-C22R1  .......ceeee...Too.... 172 bp
hor-C23R1 A e e 170 bp
hor-CS9R1  ......... A .. 179 bp
hor-CO9R2  ...............C...... 179 bp
hor-ClIRL ..ttt ittt i iieeeenns 178 bp
hor-C3R1 hor-C22R1 hor-C23R1 hor-C9R1 hor-C9R2 hor-C11R1
* ok ok 97.8 94.0 84.2 85.2 84.7 hor-C3R1
bk 94.0 83.1 84.2 83.6 hor-C22R1
*Hx 82.5 83.1 83.1 hor-C23R1
KAK 94.5 94.0 hor-C9R1
*kox 96.2 hor-C9R2
xKEK hor-C11R1
Similarity: 82.5-97.8



S. huaylasense, hua

ONE RIBOTYPE - 229 bp

hypacrarthrum, hcr
Majority CCTTTTTGTCGAAATTTGGTCGTGTAATTGAAAAAACAAGTTATGTATTTATTTTTTTGCGGAAACGAAAATTCGTATTG
10 20 30 40 50 60 70 80
————————— B e e it e
0 e I
e o I
e e I B
hcr-C2R1  ............. ..., T e e e e e i e ettt et e ettt
hcr-C3R1 ... .. i N
Majority AGACGTCGTTAGGAGGCGTGACGGGGGGCGTCATGCGTCGTTGCGTGGAGGCTAGGTCGGTGGGGGGCAGGCTAGGGCGT
90 100 110 120 130 140 150 160
————————— +-————
her-ClRL . i e e i e e Gttt it i i s e et s i s e
O e O
NCr—C IR L e e e e e T T T T T T T e
O e Covniiln
e e
Majority TGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200
————————— i i e
her—ClRL . i i e e e 206 bp
her—ClRZ . i e e e e 206 bp
e 187 bp
her—C2RL . e e e e e 206 bp
her-C3RL . i e e Covvinnlt 206 bp
hcr-C1R1 | hecr-ClR2 | hcr-ClR3 | hcr-C2R1 | hcr-C3R1
* Xk 99.5 90.3 98.5 98.5 hcr-C1R1
* %k 90.3 99.0 99.0 hcr-C1R2
x A 89.3 89.3 hcr-C1R3
x kK 98.1 hcr-C2R1
* Kk hcr-C3R1
Similarity: 89.3-99.5



S. incamayoense, inm

Majority CCTTTTTGTCGAAATTTGGTCGTGTAATTGAAAAAATAT---TATTA--ATT-ATTTTTTGCAGGAACGACGTCGTTAGG
10 20 30 40 50 60 70 80
————————— B it T e it e e &
ANM=C LR ittt it et et e e e e e ettt e e —_—— . -= —AL e Teeeeeeeen.
INM=ClR2 ittt ittt ettt ettt ettt e e e e —-—— ... -— e e et e e e
inm-CIR3 . ......iiiiee.o.. Coe e e e et e e G...... ATT..... TA T ieeeeen. A [
inm-ClR4 . ... ..t At e ——— ... -= T e e e e e e e e e e e e e
Majority TTAGGTGATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGG
90 100 110 120 130 140 150 160
————————— B e e e i R it
INM=CLlRL ittt ittt et ittt ettt e e e T e e e e e e e e et e e et ettt et e e e
0 0 10 el O 2 Y
INM=CLlRE  AC . ¢ e C ittt ittt et et e et ettt eeeeeeeaaeeeeeeeeeeeaaeeeeeeeeeeenaaeeeseeeeeeennaens A
I 0 10 el O R [
Majority CAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGXATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— B it it et Mt e L L P
inm-ClR1I ............ Al Gevennnnns Geveeeneen e Gevennnnns 213 bp
Inm-CLlRZ . i i i i et e e A e 213 bp
inm-C1R3 e et e e e i e P 219 bp
Inm-CLlRA .. i i i e e A e 213 bp
inm-C1R1 inm-C1R2 inm-C1R3 inm-C1R4
ool 96.8 90.4 95.9 inm-C1R1
*kk 92.7 99.1 inm-C1R2
bk 91.8 inm-C1R3
*A K inm-C1lR4

Similarity: 90.4-

99.1



S. incanum, inc

Majority CTTTTTTTGCTGAAATTTCGTCGTCTATTCGGCGAATGATTATTTTTTTTGGCGGTTGGGTCGTTTGCTCGGGGAGAGAC

10 20 30 40 50 60 70 80
————————— BT s T i e it e
I oL =
I o el O 2 O
inc-C4R1 ............. Ble e et e e et e e et et e ettt e ettt e e et e
I o Rl G o A
I8 o B O 2 O A e e e e e

Majority GTCGTTAGGACGGTTGAGGAAGGTCGTCGCGGTGGCAAAAAGCCCTGTGGCGGTGGTGTGCATGGCTAGGGCTAGGGCGT

90 100 110 120 130 140 150 160
————————— B i e e e il e it o
inc-ClR1l .......iiiiiennn.. Bl e e e e e et e e e e ettt et e et e e e e
inc-ClR2 ............ T e e e e e e e e e ettt Gttt e e e e e et e e e e e e e e e e e
INC—CARL ittt it i e e e e e e e e Bttt e e e e e et e et ettt e e e C.
INC=CAR2 & ittt ittt et ettt e e et e et e e e e e e e e e e e C.
INC=CAR3 ittt ittt it it e ettt ettt e e Ge ettt e e e e ettt e et e

Majority GGGGGGAGGAATGAGGTTTAATAGAATTAAGAGTGCTAGGAATGAC

170 180 190 200
————————— B i
a8 0o Tt O 2 [ 206
IS o R O 2 206
INC=CARL ittt it et e e e A C. 206
INC=CAR 2 ittt ittt ettt e et e ettt e e e T 206
I o Rl G 2 G Y 206
inc- inc- inc- inc- inc-
C1R1 C1R2 C4R1 C4R2 C4R3
* Kk 98.1 96.6 97.6 98.1 inc-C1R1
KEK 96.6 97.6 99.0 inc-C1R2
KEK 98.1 96.6 inc-C4R1
*A K 97.6 inc-C4R2
i inc-C4R3qg

Similarity: 96.6-99.0



S. infundibuliforme, ifd

Majority CCTTTTTGTCGAAATTTGGTCGTGTAATTGAAAAAATAATATTATTTATTTTTTGCAGGAACGACGTCGTTAGGACAGGT

10 20 30 40 50 60 70 80
————————— e R ST et
0 R
I 3 2
0 R G
1fd-C3R2 i e e Ao e

90 100 110 120 130 140 150 160
————————— i Rt s aat
0 R
1fd=-C2RL it e e e ottt et i e e et i it e e e e e e e e
ifd-C3R1 ... .. L T i i e i e e
ifd-C3R2 ............ Bl et e ettt e et e e e e e e e e e e

170 180 190 200 210
————————— Tt et ettt I BEPES
LEA=CLRL ittt ettt e e e e 213 bp
o 3 2 213 bp
LEA=CBRL ettt et e e e e 213 bp
o 1 5 2 213 bp
ifd-C1R1 ifd-C2R1 ifd-C3R1 ifd-C3R2
xR 99.5 98.6 98.6 ifd-C1R1
xx*x 98.1 98.1 ifd-C2R1
bk 97.2 ifd-C3R1
el ifd-C3R2
Similarity: 97.2-99.5



S. iopetalum, iop

Majority CCTTTTTGTCGAAATTTGGTCGTGTAATTGAAAAAATATAATTATTTXTTTTTTGCATGAACGACGTCGTTAGGACAGGA

10 20 30 40 50 60 70 80
————————— R T e e et e e e
I @ 15 1 T A e e
o} 1 T R Bt e e e e ettt e e e
I @ 15 1 T Toveoo.. Goe e e e e e e e e et
10pP5S.5 L L Gttt e i e e e e

Majority GATGGGGGCGTTGAGGATGGGCGTGACGGGCGACGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTXGGGGGCAGGCT

90 100 110 120 130 140 150 160
————————— B et e T i e e st T T e
I 15 1 T Gevvvneeeee
10P5S.3 i e e e e e e P Gevvwnnnneen
I 15 1 T Cuviieeee
iop5S8.5 ........ T e e e e e e e et et e e ettt e e et Covvvnnnnin

Majority AGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT

170 180 190 200 210
————————— fom fom fom Fom— +---
I @ 15 1 213 bp
o} 1 1 TR 212 bp
@ 15 1 T 213 bp
B o ) 1 1 TR T 211 bp
iop5S.2 iop5S.3 iop5S.4 iop5S.5
xk ok 99.1 98.6 97.2 iop5S8.2
* Kk 97.7 96.2 iop5S.3
*xx 97.7 iop5S.4
el iop5S.5

Similarity: 96.2-99.1



S. jamesii-1, jaml

DIRECT SEQUENCING - 213 bp

S. jamesii-2, jam2
Majority CCTTTTTGTCGAAATTCGGTCGTGXAATTGAAAAAATATATTATTAATTTTTTTGCAGAAACGACATCCGGATTGATGGG

10 20 30 40 50 60 70 80

Jam2-ClRl ..ttt ittt it e C et et e et e ettt et ieaeeeeeeeeeaeeeaeeeseeseneeanaeeeeeas
Jam2-C2R1 ..ttt ittt e e e e e e e e e e e e e e et ettt e e ettt e

Majority TGATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCAAGCGACGGTGCGTGGAGGCTAGGTCGGXGGGGGGCAGGCTA
90 100 110 120 130 140 150 160

BT 1002 Geveiiiie e
I 1002 O = Toe e e iee

Majority GGGCGTTGGGAGGAGGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT

170 180 190 200 210

————————— R e e et
I 102 212 bp
I (0 O = 212 bp
Jjam2- jam2-
C1R1 C2R1
xRk 99.1 jam2-C1R1

HxK jam2-C2R1

Similarity: 99.1



S. juzepczukii, juz

Majority CCTTTTT-GTCGAAATTCGGTCGTGCAATTGATTTTTTATTATTATTTATCTTTTTGCAGAA--AC-—————————~— GGC
10 20 30 40 50 60 70 80
————————— e St et
juz-ClR1 T..... i C T.G AACAA e T C P CG..ATTCGGATTGA.A.
juz-ClR2 ....... e e e e et ettt ettt ettt e e e —— e Ce
juz-C2R1 ....... i C T.G AACAA e T C P CG..ATTCGGATTGA.A.
juz-C4R1 ....... O —— e
juz-C5R1 ....... e e e e e e e e e e ettt ettt e e ——
juz-C6R1 P —— e
Jjuz-C9R1 ....... e e e e e e e e e e e e e e e et e e e e ettt e e
juz-Cl1R1l ....... O —— e
Majority GTCGTTAGGACAGGTGATGGGGGCGTTGGGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTC
90 100 110 120 130 140 150 160
————————— B it ittt
JUZ=CLRL ittt ittt e e e Ao Goe e e e e e e e e e e e
JUZ=C LR i ittt ettt ettt et et e ettt ettt e
A 3 o Ao Goe e e e e e e et e e
JUZ=C AR L i ittt ittt ettt et et e et ettt et
JUZ=COR L ittt ittt ettt et ettt e e et e e e Gttt e e i e e e
A0 0 2
JUZ=COR L i it ittt ettt ettt ettt ettt ettt e e
JUz=CLIRL ittt ittt it e e B e e e e e e e e e e e et e e e e
Majority CGGTGGGGGGCAGGCTAGGGCGTTGGGAGGAAGGAAAGGAGGTGCTTAAAAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210 220 230
———————— Fomm fomm - fomm - fomm - fomm - e +-——=
JUZ=C LR — i ittt e et e e e e e e e e e e e e T T T T e T e e e e e e e e e e 223
A 220
JUZ=C 2R — i it e e e e e e e e e e e e e T T T T e T e e e e e e e e e e 223
IS O o I e e et e e e et et e 220
JUZ=COR L ittt e e e e e e e e e e e e et T oo e e e e et e e et et e 220
JUZ=COR L i ittt ittt e e e e ettt e et et et e et e et e 220
B R 221
R A O 220
juz- juz- Jjuz- Jjuz- Jjuz-— Jjuz- Jjuz- juz-
C1R1 C1R2 C2R1 C4R1 C5R1 C6R1 C9R1 C11R1
xRk 83.8 99.6 83.3 82.9 82.9 83.3 83.3 juz-CIR1
xRk 84.2 99.6 99.1 99.1 99.6 99.6 juz-C1lR2
el 83.8 83.3 83.3 83.8 83.8 juz-C2R1
ol 99.6 99.6 99.1 99.1 juz-C4R1
ol 99.1 98.7 98.7 juz-C5R1
* Ak 98.7 98.7 juz-C6R1
bk 99.1 juz-C9R1
* Ak juz-C1l1R1

Similarity: 82.9-99.6




S. kurtzianum, ktz

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATGGAAGAAATATATTTATTTAT-TTTTTGCAGAAACGGCGTCGTTAGGACAGG
10 20 30 40 50 60 70 80
————————— T T Tt STt B Ttttk TR
KEZ=CLIRL et ttttt ettt ettt e e T T-.TAA.GATG.-..
KEZmCLIR2 e ettt et e e et e e e e e e e e e e e e e e e e e e
KEZ=CLIR3 et ttttt ettt ettt et e
R o s Y Bt BB ettt
KEZ=CLIRE et ttttt ettt ettt ettt PG
KEZ=CARL  teee e e e e e e e e e e e e e Bt BB ettt
Majority TGACGGGGGCGTTGAGGATG-G-GCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAG
90 100 110 120 130 140 150 160
————————— B i et e et
ktz-C1R1 C.T.CACC.A.A.CTAC.CTC.T..CC....C.AC..TCTTCCG. . Tttt tuuuuunnnnneeneennennnnnnnn
KEZ=CIR2  teeeeeeeaaaaaaaaanns PP T e e e e e e e e
KEZ=CIR3 ottt o
ktz-C1R4 T PPt
KEZ=CIR5  wevvvnnnnnnnnn Cout.. PPt
ktz-C4R1 T PPt
Majority GCTAGGGCGTTGGGAGGAAGGAGGCGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— et et et Sata e
T 5 213 bp
KEZZCLR2 et e e e e e e e e e e e e e e e e e e e e e e e e e e e 213 bp
S 15 Yc T 214 bp
KEZ=CIRA  teeeeee e e e e T et e T 214 bp
ktz-CIR5 ...... T e e e e e e e e e e e e e e 213 bp
KEZ=CARL  teeeeeee e e ee e T e e e e e e e e e e 214 bp
ktz-C1R1 ktz-C1R2 ktz-C1R3 ktz-C1R4 ktz-CIR5 ktz-C4R1
*okk 80.6 81.9 78.2 80.1 78.2 ktz-C1R1
*okk 98.6 96.8 98.1 96.8 ktz-C1R2
*okk 96.3 97.7 96.3 ktz-C1R3
*okk 95.8 99.1 ktz-C1R4
*x 96.8 ktz-CIR5
ok ktz-C4R1

Similarity: 78.2-99.1



S. laciniatum,

lac

Majority CCTTTTTATCGAAACTCATCATAATTTTATCTATTTGGTGATTAATTTTATTTTTT-AATTTTTGCGGAAAGGACATTCG
10 20 30 40 50 60 70 80
————————— B s s s s B et B e e
= o T e e e e e et e e e
S Rl GG 2 T e e e e e et et
= o T e e e e e et e e e
lac-C13R2 Teoo . (€ R Ao iiiiiia T e e e e AT. ...
= O G T e e e e e et e
B Rl G2 o R T e e e e e e ettt e
lac-C13R1 .T..... Gevunn. O AG-=——=—=—=——————— e P
Majority GGTGGAGACGTCGTTAGGACAGGTGATGGAGGCGTTTGAAATTGGCGTGAAAGGCGGCACCATGCGTCGGCAGGCTAGGG
90 100 110 120 130 140 150 160
————————— B i e e S il e et
1ac=ClRI it e e et e i ottt et et e et e ettt ettt i e et e e e
=l G
o e T e et e e e e e ettt ettt eaeaaaaeeeas
lac-C1l3R2 AA.C.GA......... AA..T....... A..C..C GG..G...... GChov e eeeeee (2
B el G G 5 2
1ac—C26RL it e e e e e e e e B i e e e e e et e e e e e e e
lac-Cl3R1 AA.A......ccveen.. AAG....... Covinnn C...GG..G....... Rt C.
Majority CGTTGGGAGGAAGGAGGTGTTTAATAAAATTTGGAGTGCTAGGAATGAC
170 180 190 200
————————— B i e e
lac-CIR1 . 208 bp
o o 208 bp
1ac-ClIRL ot e it 208 bp
1ac-Cl3R2 . .iiiiiiiiiinenn A...... [ [C 208 bp
1aC-Cl3R3 it e e et e e 209 bp
B W R 3 2 208 bp
1ac-CLl3RL ot e e e Govvinni 195 bp
lac-C1R1 lac-C3R1 lac-Cl1R1 lac-C13R2 lac-C13R3 lac-C26R1 lac-C13R1
KA AK 99.0 98.6 85.2 98.6 98.6 81.8 lac-C1R1
* ok ok 99.5 86.1 99.5 99.5 82.8 lac-C3R1
kK 85.6 99.0 99.0 82.3 lac-Cl1R1
bl 85.6 85.6 84.2 lac-C13R2
KK 99.0 82.3 lac-C13R3
bk 82.3 lac-C26R1
* KK lac-C13R1
Similarity: 81.8-99.5




S. lasiophyllum, las

Majority TTTTTTTCGCCGAAATTTCGTCGTCTATTCGGCTAATGATTATCTTTTTTGGCGGTTGGGTCGCTTGAXTXGGCAGAGAC
10 20 30 40 50 60 70 80
————————— B it e e e e Rk e
las-Cl1R1 ........ Bt et e e e e e e e e e e ettt ettt e et e e e T.Govvvvvnn
= R O 2 R A.T. T....
= L G A.T....T....
las-C4R1 ....... e A e e e e e e e e T.Govvvvvnnn
las-C4R2 C........ Teeeeenn. Acoeeee.. B e e e e e e e e et e e e e e e e T.Govvvvvnn
B S R 2 o P A.T........ -
Majority GTCGTTAGGACGGATGAGGAAGGGCGTCGCCGGCGCGCGGAGGCTAGGGCGACGGTGTGCAGGAATGACGTTTAATXGAA
90 100 110 120 130 140 150 160
————————— B it e e e e et e
= o [ Goevvvnn T.
1as—ClR2 ..ttt it iie et T e e e e e e e e et ettt e eeeaeeeeeeeeaaeeeeeeeenneeeeneennns A..
1as—C3RL ..ttt it T e et e e e e et ettt e ettt e i e A
s T e e e et e et e et e Geveven T.
L O A..
1las—-C2Rl ————————————— T m— T —— .. TT.
Majority TTAAGTGTGCTAGGAATGAC
170 180
————————— B s o
las-CIRl ......... ..., 180 bp
las-CIR2 ... ..., 180 bp
las-C3R1 ...... ... 180 bp
las-C4R1 ............ A....... 180 bp
las-C4R2 .......... Ao, 180 bp
1las-C2R1 ... .t 115 bp
las-C1lR1 las-ClR2 las-C3R1 las-C4R1 las-C4R2 las-C2R1
*A Ak 95.6 94.4 96.7 95.0 61.1 las-C1R1
*A Ak 98.9 94.4 95.0 61.7 las-C1lR2
bk 93.3 94 .4 61.7 las-C3R1
*A K 93.9 60.0 las-C4R1
KAK 59.4 las-C4R2
il las-C2R1
Similarity: 59.4-98.9



S. laxissimum-1, 1lxsl

Majority CCTTTTTGTCGAAATTCGGTCGTGCAACTGAAAAAATTTATTTATTTATTTTTTGCAGAAACGACGTCGTTAGGACAGGT
10 20 30 40 50 60 70 80
————————— Bt e i it e
Ixs 58.1 ........ A i e e e e et ettt e e e e e
I o 1
1xs 58.3 ........ A e e e et et e et e e e e T
D = 1
4= o 1
Majority GATGGTGGGCGTTGAGGATGGGCGTGACGGGCGTCGGTGCGTGGAGGCTAGGTCGGCGGAGGGCAGGCTAGGGCGTTGGG
90 100 110 120 130 140 150 160
————————— e e et e Rt i ittt
D= 1 T e e
4= o 1
IXS 5523 ettt PP Gttt et
1xs 5S8.4 ......... Gl e e et e i et it et e et e e e P
D = 1 R
Majority AGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200
————————— et e it S
1xs 58 .l e e e i e 202 bp
IXS 55 .2 e e e e e 202 bp
1xs 55.3 ....... e 202 bp
IXS 55 .4 e e e e e e e 202 bp
1xXS 55 .5 e e 202 bp
1xs 55.1 | 1xs 55.2 | 1xs _5S5.3 | 1xs_55.4 | 1xs_5S5.5
Vel 99.0 97.5 97.5 99.0 1xs 5s.1
* oKk 97.5 98.5 100.0 1xs 5S8.2
x kK 97.0 97.5 lxs 5S.3
x A K 98.5 1xs 5s5.4
* Kk lxs 5S.5
Similarity: 97.0-100



S. laxissimum-2, 1lxs2

Majority CCTTTTTGXCGAAAXTTCGGTCGTGCAACTGAAAAAXTTTXTTTATTTATTTTTTGCAGAAACGACGTCGTTAGGACAGG
10 20 30 40 50 60 70 80
————————— B e e et e e
1xs2-C1R4  ........ A..... A e e e e A A e et e e et e e e e e
1xs2-C1R5  ........ T..... T e e e et et TT DR Y
1xs2-C1R6  ........ T..... L T R Y T..... A...... A
1xs2-C1R10 ........ A..... 2 A B et et i e et e ettt et et e e e
Majority TGATGGTGGGCGTTGAGGATGGGCGTGACGGGCGTCGGTGCGTGGAGGCTAGGTCGGCGGGGGGCAGGCTAGGGCGTTGG
90 100 110 120 130 140 150 160
————————— B e e e et e =
D
1xs2-C1R5 e e e e e e e ettt et ettt et e e e e et e
1xs2-C1lR6 e e e e e e ettt et ettt e e Bt it e e e e et e e e e e e e
IxXS2=ClRI0 ittt ittt e it e et e e e e 2
Majority GAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200
————————— Bt e et
I = O 2 203 bp
1xs2-C1lR5 ..ttt ittt Coa et ettt it eeaaaas 201 bp
I1xS2-CLlRO ittt it e e et 202 bp
= O = 203 bp
1xs2-C1R4 1xs2-C1R5 1xs2-C1R6 1xs2-C1R10
bl 96.6 95.1 99.5 1xs2-C1R4
* ok ok 95.6 96.1 1xs2-C1R5
KA 94.6 1xs2-C1R6
*Hx 1xs2-C1R10
Similarity: 94.6-99.5
S. leptophyes, 1lph

DIRECT SEQUENCING - 213 bp




S. limbaniense, lmb

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAA-TATTATTATTTATTT---TTTGTAGAAACGACGTCGTTAGGAC
10 20 30 40 50 60 70 80
————————— Bt e it B ettt
8 041 @ Fel o e e e e e G e m e e e e e e e e e
8 041 @ Eel O e e e e e T e e e e e e e e e e e
Imb-ClR3 ittt ittt e e ettt eeeeaenn Goevvvvn vt AG. v it vt ii i ATT D
I8 1Y o Rl O I Y .. GG. .o it
Imb-C1R5 T........... [ i e Ao,
Imb=C2RL ..ttt ittt e e Gevvvvnnnn At ii i ATT e e e
Imb=C2R 2 ittt it e e e e e e e e et e - . .Coiiiiiia T e e e e e e e e e e
Imb=CA4RL ottt ittt et e e e e e e e e e e e e T e e e e e et e e e e
Majority AACAGGTGATGGGGGCGTTGGGAGGACGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGG
90 100 110 120 130 140 150 160
————————— et e it
8 041 @ Ee o
8 (41 @ T O
Imb-ClR3 ——== . . ittt e —— ... e e e e et et ettt ettt et e et e
lmb-C1R4 .T....... e Ao
Imb-C1R5 ........... L
Imb-C2Rl ——== . . . it iiieennn -= D
8 041 @ T O3
Imb=C4Rl . ittt ittt ettt B e e e e e e e e e et e e e e e ettt e e
Majority GGGGCAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210 220
—_———————— o o o o o +——=
Imb=CIlRL ..ttt ittt et ottt e e e et e e e e e e et e e e e e 219 bp
8 041 @ Fel O 219 bp
8 041 @ Fel O 2 217 bp
8 041 @ Fel O 219 bp
IS 10 o Tl O 2 Y 219 bp
IS 1Y o Tl 2 = Y 217 bp
Imb-C2RZ . ittt i i i e e e . 219 bp
8 (41 @ Fel O 219 bp
1mb- 1mb- 1mb- 1mb- 1mb- 1mb- 1mb- 1mb-
C1R1 C1R2 C1R3 C1R4 C1R5 C2R1 C2R2 C4R1
KAk 99.1 92.8 96.9 97.3 92.4 98.2 98.7 Imb-C1R1
KAk 93.7 97.8 98.2 93.3 99.1 99.6 1mb-C1R2
KAk 91.9 91.9 98.7 92.8 93.7 1mb-C1R3
el 96.0 91.5 96.9 97.3 1lmb-C1R4
el 91.5 97.3 97.8 1mb-C1R5
i 92.4 93.3 1lmb-C2R1
KAk 98.7 1mb-C2R2
*AK Imb-C4R1
Similarity: 91.5-99.6




S. linnaeanum, lin

Majority TTTTTTT-GCAGAAATTCCGTCGTCTATTCGGCGAATGATTATTTTTTTTGGCGGTTGGGTCGTTTGCTCGGGGATAGAC
10 20 30 40 50 60 70 80
————————— B i e e e il e it o
1in-C1R1 ....... T e e e e e e ettt et ettt e ettt eeeeeaneeeeeeeeeeeneeeeeeeeeeetaaeeeettteeeeaaaa
1in-C2R1 ....... e e e e e e et et et et ettt et
1in-C2R2 ....... e N
Majority GTCGTTAGGACGGTTGAGGAAGGTGGTCGATGTAGCAAAAAGGCCTGTGGCGGTGGTGTGCATGGCTAGGGCTAGGGC -~
90 100 110 120 130 140 150 160
————————— BT m T e et e ettt &
I S -
I o e 0 R -=
e 3 2 S TA
Majority ----GTGGGGGGAGGAATGAGGTTTAATAGAATTAAGAGTGCTAGGAATGAT
170 180 190 200 210
————————— fom Fmm— Fmm— Fomm +-=
1in-ClRL === i e it 206 bp
B e O 2 205 bp
1ANn=C2R2 GGG . v i i ittt ittt ettt e e ee e et eeeeeeeeaaaeeeeeeeeennans 211 bp
1in-C1R1 | 1in-C2R1 | 1in-C2R2
KAk 99.5 96.2 1in-C1R1
* ok ok 96.7 1in-C2R1
* ok k 1in-C2R2

Similarity: 96.2-99.5



S. lycopersicoides, lpd

Majority CCTTTTTGTTGAAATTTGATCTCGTAATTGAAAAAAAAAXXTATACTCATTTATTTTTTTTXXTGCGGAAAATACGTTCG

10 20 30 40 50 60 70 80

————————— T T Tt STt B Ttttk TR

1PA=CIRL ettt te et et e e e e e e e Tl et e e e ieeenn
1PA=CBRL ettt ettt et e e e - e

Majority GATTXAGGCGTCATTAGGATATGGGATGGTGGCGTCGGGGAXXXXXXXXXCGGGCGTCGTCGTGCGTCGGTGCGTGGAGG

90 100 110 120 130 140 150 160
————————— B e At e et
I T R O TGGGCGTGA . « vttt ettt ittt e i ienannn

IPA=CBRL  oe e et ettt e e e e e e e e e e e e e

Majority GTTTTAAAGCGGGGGGCGGGCTAGGGCGTTGGGAGGAAGGTTGTGTTTAATAGATTTTAGAGTGCAATGAATGAC

170 180 190 200 210 220 230
————————— B et e e e e et s T
L T R0 233 bp
I o R 0 224 bp
lpd-C1R1 1ph-C8R1
x K 92.4 lpd-C1R1
xRk 1ph-C8R1

Similarity: 92.4



S. lycopersicum var.

cerasiforme-1, 1lyccl

Majority CCTTTTTGTTGAAATTTGATCTCGTAATTGAAAAAAAAAAATATACTCATTTATTTTTTTTTT-GCGGAAAATACGTTCG
10 20 30 40 50 60 70 80
————————— +--—-— -t —————————
72 e i
o @ e T e e e e e e et
lyccl-C2R1 ....... L e e e e e e et e e e e e ettt et e et e e e e G.
o @ e N
Majority GATTGAGGCGTCATTAGGATATGGGATGGTGGCGTCGGGGATGGGCGTGACGGGCGTCGTCGTGCGTCGGTGCGTGGAGG
90 100 110 120 130 140 150 160
————————— +--—t 4
72 @ e
o @ e
1yCCLl=C2RL it e e e e e e e e e Gevvvvnnn
o @ e O
Majority GTTTTAAAGCGGGGGGCGGGCTAGGGCGTTGGGAGGAAGGTTGTGTTTAATAGATTTTAGAGTGCAATGAATGAC
170 180 190 200 210 220 230
————————— +--—t
o e 234 bp
o e 233 bp
o e 0 234 bp
o e C. 235 bp
lyccl-C1R1 lyccl-C1lR2 lyccl-C2R1 lyccl-C2R2
*okk 99.6 98.3 99.1 lyccl-C1R1
o 97.9 98.7 lyccl-C1R2
xx*x 97.4 lyccl-C2R1
xR X lyccl-C2R2
Similarity: 97.4-99.6

S. lycopersicum var. Cerasiforme-2, lycc2

ONE RIBOTYPE - 234 bp



S. lycopersicum-1, 1lycl

ONE CLONE from GB - 235 bp

S. lycopersicum-2, lyc2

Majority CCTTTTTGTTGAAATTTGATCTCGTAATTGAAAAAAAAAAATATACTCATTTATTTTTTTTTT-GCGGAAAATACGTTCG
10 20 30 40 50 60 70 80
————————— B et ettt e e
1yc2-C2R2 T e e e e e e e e e e e e e e Acuunn. e
1yC2-COR2 i e e e e T e e i e e Cmm i
Y 8 T i
72 02 0 i
1yC2-CLlORZ ittt it it i e e e e e e T e e Tt e
Majority GATTGAGGCGTCATTAGGATATGGGATGGTGGCGTCGGGGATGGGCGTGACGGGCGTCGTCGTGCGTCGGTGCGTGGAGG
90 100 110 120 130 140 150 160
————————— -t
o 0
o 00 N
1YC2-CBRL  eeeeeeeennn. Gt et e e e B e e
o O 0
Y O ) 2 A e
Majority GTTTTAAAGCGGGGGGCGGGCTAGGGCGTTGGGAGGAAGGTTGTGTTTAATAGATTTTAGAGTGCAATGAATGAC
170 180 190 200 210 220 230
————————— -ttt
B O 234 bp
1yc2-C6R2 . ..., A..A..A..... B et e e e e e e e 230 bp
e O 235 bp
lyc2-CI0R1 ............. e e e e e e e 234 bp
1yc2-Cl5R2 ..ttt it i T e e e e e i e e e e e e e e e e e 233 bp
lyc2-C2R2 lyc2-C6R2 lyc2-C8R1 lyc2-C10R1 lyc2-C15R2
e 94.9 97.9 98.7 97.4 lyc2-C2R2
*FxK 94.5 95.3 93.6 lyc2-C6R2
xxK 98.3 97.4 lyc2-C8R1
xxK 97.4 lyc2-C1l0R1
Hxk lyc2-C15R2
Similarity: 93.6-98.7



S. lycopersicum-3, lyc3

Majority CCTTTTTGTTGAAATTTGATCTCGTAATTGAAAAAAAAAA-TATACTCATTTATTTTTTTTTT-GCGGAAAATACGTTCG
10 20 30 40 50 60 70 80
————————— B el e et T et e e
1yC3=ClRL it e e e e e e e e e e S R
1YC3=CLIRL ottt ettt e ettt e e e B e Tttt eeean
1yC3=ClOR L ittt e e e e e e e e e S Tt e e e e e e e
lyc3-C25R1 .......... T oot e e e e et e ettt e et A e e e i
L1yC3=C3OR L it e e e e e e e e et e e
Majority GATTGAGGCGTCATTAGGATATGGGATGGTGGCGTCGGGGATGGGCGTGACGGGCGTCGTCGTGCGTCGGTGCGTGGAGG
90 100 110 120 130 140 150 160
————————— B et s st s A et
72 @G e
72 @G e
720 e 0
BT @G el O ) Ut
2T Ee GG 1 )2
Majority GTTTTAAAGCGGGGGGCGGGCTAGGGCGTTGGGAGGAAGGTTGTGTTTAATAGATTTTAGAGTGCAATGAATGAC
170 180 190 200 210 220 230
————————— B it e et ettt e
G F T.. 233bp
Y21 Eel 0 2 O 235bp
2T Eel G ) 2 234bp
O O 233bp
0 T G 1) 232bp
1yc3-C1R1 1lyc3-Cl1R1 1yc3-C15R1 1yc3-C25R1 1yc3-C39R1
HxK 98.7 99.1 98.3 99.1 lyc3-C1R1
il 99.6 98.7 98.7 lyc3-Cl1R1
ol 98.3 99.1 1yc3-C15R1
xx*x 98.3 lyc3-C25R1qg
* kK 1yc3-C39R1
Similarity: 98.3-99.6



S. macrocarpon, mac

Majority CTTTTTTTTCCCGAAATATCXTCGTCTATTCGGCGAATGATTAATTTTTTTTGCGGTTGGGTCGTTTGTTTGGGCAGAGA
10 20 30 40 50 60 70 80
————————— B e e et e e
mac-CLl2R1 ...ttt Bt et e e e e e e e e e e ettt ettt e et e e
mac-C1l2R2 e e T e e eeen At A e e e e e
mac-C64R1 .. ... e Bl e e e e e e e e e e et ettt et e e AT.......
mac-C91R1 ...ttt Bt e e e e e e e e et ettt et e e e e e e
mac-C91R2 ... it Gevvvvnnnnn I T e e e e ettt e e e e e
mac-C133R1 ......... T e eeeeen R T e e e e e e e ettt et
Majority CGTCGTGTCGTTAGGACGGTGGTGTGCAGGCTAGTGCGTGGCCGGCACGTGGGGGGGA-GGATTGAGGTTTAATAGAATT
90 100 110 120 130 140 150 160
————————— B e e e et i
(0= T O R Coueiiii i ie e
MAC—C L 2R ittt ittt ettt et e ettt et e e e T...A...... T e e e e e ettt
MAC—C B4R ittt it e et et ettt et et e e A e e e
mac-C91R1 ...ttt it A I [ A=, Choveeiieeen
mac-C91R2  ........ T e e e e e e e e ettt Gevvvvnnnnn G...T....... Coim e et et et i e e
MAC—CL33RL ittt ettt et ettt et ettt e et e 1 e [
Majority AAGAGTGCTAAGAATGAT
170
_________ +________
mac-CIl2R1  .......... .. ... ... 177 bp
mac-CIl2R2  ............. T. 175 bp
mac-C64R1  .......... .. ... ... 178 bp
mac-C91R1L  .......... ... ..., 177 bp
mac-C91R2  .................. 176 bp
mac-CI133R1  ............. T. 177 bp
mac-C1l2R1 mac-C1l2R2 mac-C64R1 mac-C91R1 mac-C91R2 mac-C133R1
bk 94.9 97.8 97.8 94 .4 96.1 mac-C1l2R1
el 93.8 92.7 91.6 95.5 mac-C1l2R2
KAk 95.5 93.8 94.9 mac-C64R1
KAk 93.3 93.8 mac-C91R1
*rx 92.7 mac-C91R2
x kK mac-C133R1
Similarity: 91.6-97.8



S. maglia, mag

Majority CCTTTTTGTCGAAATTCGGTXGTGTAATTGAAGAAATATXTATTXATTTATTTTTTGCAGAAACGGCGTCGTTAGGACXX
10 20 30 40 50 60 70 80
————————— ittt e it et A s
pSmagbS1l ... e Coae ettt et i 7 -=
PSmagbS12 L. e Coue et e e et e e A. T e e e e e e e et e e e e et -=
PSmagbS31l L. e Cout et e et e e A. T et e e e e et e et e -=
PSmMagbS33 ... e Cout et e et e e 2 --
PSmagbS13 L. e A e 2 AG
PSmagbS21l ... e A e - S AG
PSMagbS22 L. e A e - S AG
PSmMagbS23 L. e A e - S AG
Majority XXXXXGGGGGXGTTGAGGAXGGGCGTGAXX XXX XXX XXX XXX XXX XX KX XXX X XXX XXX X XXX XXX XXX XXGGGGGCAGG
90 100 110 120 130 140 150 160
————————— ittt e it et A s
pSmag5sll -----.....C........ Cout et T T i
pSmag5sl2 -----.....C........ [ ittt
pSmag5s31l -—-——-———.....C........ L e ettt SR
pSmag5s33 -—————.....C........ L et SRR
pSmag5S13 GTGAT.....A........ Tovevnnn. CGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTG . v v v v v vt
pSmag5S21 GTGAT.....A........ T...o.oo... CGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTG .. v v v v v v vt
pSmag5S22 GTGAT.....A........ T...o.oo... CGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTG. . LA .. ..
pSmag5S23 GTGAT.....A........ T...o.oo... CGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTG. . LA . .. ..
Majority CXAGGGCGTTGGGAGGAAGGAXGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— o
pSmag5S11 N Goe et e e e et e et e e e e e e 165 bp
pSmag5S12 N Goe et e e e et e et e e e e e e 165 bp
pSmag5S31 N Goe et e et et e et e et e e e 165 bp
pSmag5S33 Coe e e e e e e e e (G Gttt e e e e e e e e e 165 bp
pSmag5S13 P e et e e e e e e e e et et e et 213 bp
pSmag5S21 P e et e e e e e e e e et et e et 213 bp
pSmag5S22 T e et e e ettt e e T. B e e et e e 213 bp
pSmag5s23 T e et e e ettt e e T. B e e et e e 213 bp
pSmag5S11l | pSmag5S12 | pSmagbS31l | pSmag5S33 | pSmag5S13 | pSmag5S21 | pSmagbS22 | pSmag5323
xRk 100.0 100.0 99.5 72.6 73.5 72.6 72.6 pSmag5S11
i 100.0 99.5 72.6 73.5 72.6 72.6 pSmag5S12
xRk 99.5 72.6 73.5 72.6 72.6 pSmag5S31
*k ok 72.1 73.0 72.1 72.1 pSmag5S33
xxx 99.1 98.1 98.1 pSmag5sS13
*Ax 99.1 99.1 pSmag5S21
xR X 100.0 pSmag5S22
xR X pSmag5s23
Similarity: 72.1-100




S. mammosum, mam

Majority CCTTTTTGTGTCGAAATTCGGCATAATCTCGTCTGTCTGTGTTATTTTTGGCGGAAACGGCATTTGTTTGGGCCGGGACG
10 20 30 40 50 60 70 80
————————— R et e e et i it
LS 1S (0= 1
ST (T B Eeo 1 <
Majority TCGTTAGGACAGTTGAGGAAGGGCGTTGCCGCGCGGCGGTGCGTGGAGGCTAGGGCGGTGGCGXTGCAGGCTAGGGCGTC
90 100 110 120 130 140 150 160
————————— ittt e it et A s
L2512 3 N
S5 (= B s ¥ < Aottt
Majority GGGAGGAATGAGGTTTAATAGAATTTAGAGTGGTAGGAATGAC
170 180 190 200
————————- Fomm Fomm Fomm +-—=
POMamM—58T . e e e et e e 203 bp
PSmMam-588 ... et 203 bp
pSmam-5S1 pSmam-5S8
bl 99.5 pSmam-5S1
bk pSmam-5S8

Similarity: 99.5



S. marinasense, mrn

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAATATTATTATTTATTTTTTGTAGAAACGACGTCGTTAGGACTAAC

10 20 30 40 50 60 70 80

————————— -t

04 o e o
a0 0 e O
00 o e O
(a0 o E O -———=

Majority AGGTGATGGGGGCGTTGGGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGG

90 100 110 120 130 140 150 160
————————— -t
04 o e o
mrn-CIlRZ ......... ... . """ """ -
04 o e O
a0 0 R O

Majority CAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT

170 180 190 200 210
————————— -t
a0 0 e o I 219 bp
0 e O 2 151 bp
mrn-ClR4 ...... R T e e e e e e et et e e ettt e e 219 bp
00 e 2 215 bp
mrn-C1lR1 mrn-C1R2 mrn-C1R4 mrn-C2R2
kel 68.9 97.7 98.2 mrn-C1R1
KA AK 66.7 67.1 mrn-C1lR2
*A K 95.9 mrn-C1R4
*kx mrn-C2R2

Similarity: 66.7-98.2



S. medians, med

Majority CTTTTTTGTCGAAATTCGGTCGTGTAATTGAAAAAATAT-ATTATTATTTTTTTGCAGAAACGACATTCGGATTGAGACG
10 20 30 40 50 60 70 80
————————— B it T e it e e &
med-C1lR1 C et et e e e e e G. GGLoLl L TT ATA. . ittt it iiee e —
med-C1R2 C et e e G. GGLoL o TT ATA. it ettt i s e
med-C2R1 (O G..... G L CIC TT AT A . et e
MEA=C 2R ittt ittt ittt ettt e et e e e e e e e A e e e e e e e e
med—C4RL ...t ittt e et C..... T e e ettt et e e e e e e e e
MEd=—C 2R3 ittt ittt ettt e e e et e T e e e e et ettt e e
Med—CBRL ..ttt e e e e e e e e e e e et e 7
MEd=—CBRZ i ittt ittt ittt ettt e e R A e e e e e e e e e
Med—CBR3 L ittt ittt e e e et e e O
med-C8R4 C At e Goevvevnn G T...... TA . ettt i e A-——m———————=——=
med-C8R5 C 2 Govewvnnn G T...... TA. oo i it i i i A-—m———— =
Majority TCGTTAGGACAGGTGATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCG--TGGAGGCTAGGTCG
90 100 110 120 130 140 150 160
————————— B e i e e e e bt PRt e S
Med=—Cl R i i i i i i et i e e et e et e e e e e CG...Goven.
LTS R O CG...Gevviventn
med-C2R1 ... .. L CGovvvvniiinn,
TS R O . A.......
ST R O T e
LT R O T e
Med-CBRL L.t i i e it et e ettt e T e
LT R 0= T e
Med-CBR3 L.t i i e et e et e Covenvnnnans T e
med-C8R4  .......... Geveeeenennnn B Ao ===AG.......-—=—— .G...-...CT-
med-C8R5 .......... S A...-——==.AG.......————— G -...CT-
Majority GTGGGGG------ GGAGGCTAGGGCGTTGG-AGGAAGGAGGTGTTTAATAGAATTTAGAGTGGTAGGAATGAT
170 180 190 200 210 220 230
————————— o o o o o fmmm +-==
med-CIR1 .......-————- e o G..... C..T....... 213 bp
med-C1R2 Covvvim————- e Gevviiin Gewviiiei G..... C..T....... 213 bp
med-C2R1  .......-————— e e G..... C..T....... 213 bp
med-C2R2 ....... TGGGGG. v v v i i i e n T e T e e e i e e e 229 bp
med-C4R1  ....... jielelelelc I e PP 229 bp
med-C2R3 ... ... . -7 T i R T T T 223 bp
med-C8RL .......-————— .. ... ... ... S 223 bp
med-C8R2 .......-—————...... Gewvenneins ST T 223 bp
med-C8R3 .......——=—=— .. ... ... S 223 bp
med-C8R4 -—————-—-—-——-—— . ... ..., et e i e e C..T....... 193 bp
med-C8R5 ———————————————. .. ............ e AC..T....... 193 bp
med- med- med- med- med- med- med- med- med- med- med-
C1R1 C1R2 C2R1 C2R2 C4R1 C2R3 C8R1 C8R2 C8R3 C8R4 C8R5
ok 99.1 98.7 82.8 83.3 86.7 86.3 85.8 85.8 84.1 83.7 rg?g;
- med-
97.9 82.0 82.4 85.8 85.4 85.0 85.0 83.7 83.3 C1R2
- med-
82.4 82.8 86.3 85.8 85.4 85.4 82.8 82.4 COR1
- med-
98.7 96.1 96.6 96.1 95.3 74.2 73.8 COR2
. med-
96.6 96.1 95.7 95.7 74.7 74.2 CAR1
. med-
99.6 99.1 99.1 78.1 77.7 CoR3
. med-—
99.6 98.7 77.7 77.3 C8R1
. med-—
98.3 77.3 76.8 C8R2
. med-—
77.7 77.3 C8R3
. med-
98.7 C8R4
. med-
C8R5
Similarity: 73.8-99.6




S. medicagineum, mdg

Majority CTTTTTTCATCTGTTCGGCCGATGATTATTTATTTTTTTTTGGCGGTTGGGTCGTTTGCTTGGGCAGAGACGTCGTTAGG
10 20 30 40 60 70 80
————————— R et e e et i it
00T e et o
MAG=C2RL ittt ittt e e ettt e Gevvnneeee e e e e e e e e e e e e
04T e Eet G
mdg—CT7RL it e e e e e e e e e e e et et e ettt e et e e e
10T e e O T e e e e e e et e e et e e e
00T L R O 0
04T o e o A e e e e e
Majority ACGGTTGAGGAAGGGCGTCGCCGGCGCGTGGAGGCTAGGGCGACGGTGTGCAGGAATGAGGTTTAATAGAATTAAGGGTG
90 100 110 120 140 150 160
————————— R ettt e e et e R e Tt
mAg—CLRI it e e et e e e
04T K Eet
00T L B O
00T e et
MAG=CTRZ2 it ittt ittt e et e e e G e e e e e e e e e e e e e e e e et
mAg—CLORL ..t it ittt e e e e e Gttt e e e i i e e e e et e e
04T o et o
Majority CTAGGAATGAC
170
_________ +_
mdg-CIR1  ........... 171 bp
mdg-C2R1  ........... 171 bp
mdg-C3R1  ........... 171 bp
mdg-C7R1  ......... G. 171 bp
mdg-C7R2  ........... 170 bp
mdg-C10R1 Al 171 bp
mdg-C11R1 .......... T 171 bp
mdg-C1lR1 mdg-C2R1 mdg-C3R1 mdg-C7R1 mdg-C7R2 mdg-C10R1 mdg-C11R1
x KK 98.2 99.4 98.2 99.4 98.8 98.2 mdg-C1R1
* Kk 98.8 97.7 98.2 97.1 97.7 mdg-C2R1
xRk 98.8 98.8 98.2 98.8 mdg-C3R1
HrA 97.7 97.1 97.7 mdg-C7R1
* Kk 98.2 97.7 mdg-C7R2
il 97.1 mdg-C10R1
* Kk k mdg-C11R1
Similarity: 97.1-99.4




S. megistacrolobum (= boliviense), mga

Majority CCTTTTTGTCGAAATTCGGTCGTGCAATTGATTTTTTATTATTATTTATCTTTTTGCAGAAACGGCGTCGTTAGGACAGG
10 20 30 40 50 60 70 80
————————— R e s e ittt
mga-ClR3 ...t i e e T et e e e e e et e Covivnnn Al 1
00T = e O T et iiiiie e
0T = e O Tt
00T T O N
0T = e O
mga-C2R2  ............. ot e e et e e e e e e e e e et e e e e e e e e e ettt e
mga-C2R3 At Lo e e e e e e e i et e et ittt i e i e e
10T = e O
0T = e O
Majority TGATGG------------- GGGCGTGACGGGCGGCGTCGTGCGTCGGTGCGCGTGGAGGCTAGGTCCGGTGGGGGGCAGG
90 100 110 120 130 140 150 160
————————— e e e e e e
mga-ClR3 ...... (eleleleleliinel.eley. N LU Gevwvnn [ ¢ J ¢ S
mga-CIlRA . .G...GGGCGTTGAGGAT . ¢ vttt ettt e et e ttteee e taaae s eaeessoeanaseeennnnsennnnnsens
mga-ClR5 ...... eTeleTolel i el ele N OO
mga-ClR6 ...... TGGCGTTGATGAT . ¢ e v e veveeeeeeennns Bt e Acoviiiiaann,
MJa—C2R L i T T T T T T T T T T T T T e ettt e
MJa—C2R 2 L. T T T T T T T T T T T et e,
MJa—-C2RE i T T T T T T T T T T T T e ettt e
mga-CIRl ... ... -——— == mmmo o e e Gttt e e e e i e e e e e
mga-C1R2 i e Gee e e
Majority CTAGGGCGTTGGGAGGAAGGAAAGGAGGTGTTTAAAAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210 220
————————— e et ittt
mga-CIR3 ............... I S L 219 bp
mga-CIR4 ... i i CGut i e 220 bp
mga-CIRS ... i e L 220 bp
mga-CIlRG ..ttt i et e e Coviiiiil P 220 bp
MJa—C2R L ot e et 207 bp
mga-C2RZ Tttt ittt e e L 207 bp
mga-C2R3 ..t e e Gttt e e 207 bp
e 1o R O 207 bp
e = R O 207 bp
mga- mga- mga- mga- mga- mga- mga- mga- mga-
C1R3 C1R4 C1R5 C1R6 C2R1 C2R2 C2R3 CiRrR1 C1R2
* kK mga-
95.5 96.4 93.2 89.5 89.1 88.2 89.1 89.5 C1R3
* ko mga-
99.1 96.8 92.3 91.8 90.9 91.8 92.3 C1R4
* ko mga-
96.8 93.2 92.7 91.8 92.7 92.3 C1R5
* kK mga-
91.8 90.5 90.5 91.4 90.9 C1R6
* ko mga-
98.6 98.6 99.5 99.1 CoR1l
* kK mga-
97.3 98.2 97.7 COR2
* %k mga-=
98.2 97.7 CoR3
* % Kk mga-=
98.6 C1R1
* %k mga-
ClR2

Similarity: 88.2-9

9.5




S. melongena-1, mell

Majority CTTTTTTTGCTGAAAT TTCGT C = — === —m == —————m e —
10 20 30 40 50 60 70 80
————————— e e et e e
pSmell-5S11 ........ i, GTCTATTCGGCGAGTGATTATTTTTTTTGGCGGTTGGGTCGTTTGCTCGGGGAGAGAC
pSmell-55-1 ... ... ... T T T T T T
PSmell-55-2 .. ... T -
Majority @ —-m oo -
90 100 110 120 130 140 150 160
————————— e e et e e
pSmell-5511 GTCGTTAAGACGGTTGAGGAAGGTCGTCGCGGTAGCAAAAAGGACCCCCTGGGAAGTCCTCGTGTTGCATCCCTCTTTTT
pPSmell-58-] ———-— - -
pPSmell-55-2 ———-— - -
Majority — —-————————-————- GTTTGCTCGGGGAATGATTATTTTTTTTCGTCGTTTGCTCGGGGAGAGACGTCGTTAGGACGGT
170 180 190 200 210 220 230 240
————————— e e et e e
PSMe11-5S11 TTGCTGARATTTCGTC . « v v vt v e e et et e et ettt et e e e e e e et et et e e e et eenens
J RS S BB R B
POME Ll L -5 8= —mmm oo ittt e
Majority TGAGGAAGGTCGTCGCGGTAGCAAAAAGGCCTGTGGCGGTGGTGTGCATGGCTAGGGCTAGGGCGTGGGGGGAGGAATGA
250 260 270 280 290 300 310 320
————————— e et e ittt
S LS I 3 B
S LS I B E
POME L L= 0 S =2 L it e
Majority GGTTTAATAGAATTAAGAGTGCTAAGAATGAT
330 340 350
————————— R i st
pSmell-5S11 ... ... ... Govvnnn 352
pPSmell-55-1 .. ... ... i i e 198
pPSmell-55-2 ... ... .. i e 198
pSmell-5S11 Smel-5S-1 Smel-5S-2
xokx 56.0 56.0 pSmell-5811
x A 100.0 Smel-55-1
el Smel-5S-2

Similarity: 56.0-99.6



S. melongena-2, mel2

Majority

mel2-C1lR1
mel2-C3R1
mel2-C22R1
mel2-C2R1
mel2-C9R1
mel2-C11R1
mel2-C12R1
mel2-C17R1

Majority

mel2-C1lR1
mel2-C3R1
mel2-C22R1
mel2-C2R1
mel2-C9R1
mel2-C11R1
mel2-C12R1
mel2-C17R1

Majority

mel2-C1R1
mel2-C3R1
mel2-C22R1
mel2-C2R1
mel2-C9R1
mel2-C11R1
mel2-C12R1
mel2-C17R1

Majority

mel2-C1R1
mel2-C3R1
mel2-C22R1
mel2-C2R1
mel2-C9R1
mel2-C11R1
mel2-C12R1
mel2-C17R1

Majority

mel2-C1lR1
mel2-C3R1
mel2-C22R1
mel2-C2R1
mel2-C9R1
mel2-C11R1
mel2-C12R1
mel2-C17R1

CTTTTTTTGCTGAAATTTCGTCGTCTATTCGGCGAATGATTATTTTTTTTGGCGGTTGGGTCGTTTGCTCGGGGAGAGAC

10 20 30 40 50 60 70 80
————————— i R et s e
................................... L
................................... e
.................................. T i e it it ittt et e et i e
................... A e e i e e A e e e
............ T

90 100 110 120 130 140 150 160
————————— e R St T et
............................................................................... A
....................................... e

170 180 190 200 210 220 230 240
————————— B e e e it S
.................. s
.................. L e S
.................. s
............................................................ A e i e
............. AN &
............. e

A...... Coviiiiiii i Gttt it it it it ettt i et e e i e i e e Teveiieon.

250 260 270 280 290 300 310 320
————————— B ettt e e e e A =
...... B i it ettt e e et e e et e e e e e
.................. G CA T e e et et et et e e e e e e
AGGAATGAGGTTTAATAGAATTAAGAGTGCTAGGAATGAT

330 340 350 360
————————— Fom 4
........................................ 352 bp
........................................ 352 bp
........................................ 352 bp
........................................ 360 bp
........................................ 360 bp
........................................ 359 bp
........................................ 360 bp

206 bp



mel2- mel2- mel2- mel2- mel2- mel2- mel2- mel2-
C1R1 C3R1 C22R1 C2R1 CO9R1 Cl1R1 C12R1 C17R1
* %k mel2-
99.7 99.4 96.1 95.6 94 .7 95.6 51.7 C1R1
*x ok mel2-
99.2 95.8 95.3 94 .4 95.3 51.4 C3R1
* % K mel2-
96.1 95.6 94 .7 95.0 51.7 C2oR1
*k ok 98.9 98.1 98.3 54.7 melz-
. : : . C2R1
** ok mel2-
97.8 98.9 54.2 COR1
. mel2-
96.9 54.4 C11R1
. mel2-
54.2 Cl12R1
.. mel2-
Cl17R1
Similarity: 51.4-99.7

Note: mel2-C17R1 represents

a sequence of rare ribotype M17 that contains no duplication in IGS.




S. melongena-3, mel3

Majority CTTTTTTTGCTGAAATTTCGTCGTCTATTCGGCGAGTGATTATTTTTTTTGGCGGTTGXGTCGTTTGCTCGGGGAGAGAC

10 20 30 40 50 60 70 80
————————— B e e e it R s
TS G Rt 3 T e e e e e e et e e
Mel3-C3RL ..ttt ittt e it e ieeaeenn T.GC.....G..A. . .t itiiea =~ Coemm e e e e e e e e e e e e e
TS G Rl O Ge it et i i e e

Majority GTCGTTAAGACGGTTGAGGAAGGTCGTCGCGGTAGCAAAAAGGACCCCCTGGGAAGTCCTCGTGTTGCATCCCTCTTTTT

90 100 110 120 130 140 150 160
————————— B e i e e e e bt PRt e S
DTS G Rl 3 Y
mel3-C3R1 ....... Gttt e e e ettt e e e et e e ettt e ettt e et e
ME LB C AR ittt ittt e ettt et et et eeeeeeeeeeeaeeeeeeeeaeeeeeeeeeaeeeeeeeeeaeeeeeeeeeeeeea

Majority TTGCTGAAATTTCGTCGTTTGCTCGGGGAATGATTATTTTTTTTCGTCGTTTGCTCGGGGAGAGACGTCGTTAGGACGGT

170 180 190 200 210 220 230 240
————————— B e e e i R it
TS G Rl 3
DTSN G Rl G Y
TS G el O

Majority TGAGGAAGGTCGTCGCGGTAGCAAAAAGGCCTGTGGCGGTGGTGTGCATGGCTAGGGCTAGGGCGTGGGGGGAGGAATGA

250 260 270 280 290 300 310 320
————————— B it e e e e e et e
ME L3 =C 2R ittt ittt ettt ettt ettt et et e Ot
TS G el G 2t
TSN G Rl O

Majority GGTTTAATAGAATTAAGAGTGCTAGGAATGAT

330 340 350
————————— B Attt T e
Mel3-C2RL ittt ittt ettt e 352 bp
MEL3=C3Rl ittt ittt ittt eeeeeeeeeeennns 344 bp
Mel3-CARL ...ttt it ettt 352 bp
mel3-C2R1 mel3-C3R1 mel3-C4R1
bk 95.2 99.4 mel3-C2R1
* ok ok 95.5 mel3-C3R1
KAk mel3-C4R1

Similarity: 95.2-99.4



S. microdontum-1

Majority CCTTTTTGTCGAAATTCGGTAGTGTAATTGAAGAAATAT-TATT-ATTTATTTTTTGCAGAAACGGCGTCGTTAGGACAG
10 20 30 40 50 60 70 80
————————— e e i e
mcd 51.1 5S.1 —.C. i et s
mcd 51.1 58,2 L i e e e - I “Cei
mcd 51.1 58.3 L. i e e e - T T P
mcd 51.1 5S8.5 L i i e e - T T T P
mcd 51.2 55.50 L. et -. R R R T,
mcd 51.2 5S.1 ... Cllli i A T e e -=
med 51.2 55.2 ... Cllli i A. e e e e e e e -=
mcd 51.2 55.3 ... Clll il A T e e e -=
mcd 51.2 58.4 ... Calii i A. e e e e --
Majority GTGATGGGGGAGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGG
90 100 110 120 130 140 150
————————— e e i e
T B
1Tt o
11Tt o
11Tt o o
e B
med 51.2 5.1 -—----..... Covviinn et e e e e et e
mcd 51.2 55.2 @ -—----..... Covviinn et e e e e e et e e e e
mcd 51.2 58.3 ----- ACoa . ettt it e e i et et e e
mcd 51.2 55.4 ----- ACo . ettt e i ittt e e et e e
Majority CTAGGGCGTTGGGAGGAAGGATGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— e maaatat e e e
T I e = T 212 bp
mMCA 51. 1 55,2 L e e e et e e 212 bp
MCA 51. 1 55,3 L i e et e 213 bp
MCA 51. 1 55 .0 i e e ettt e 213 bp
MCA 5102 5505 e te et ee e et et et e e e e e e 212 bp
MEd 51.2 5S.1  cCuvvieeeeeneeieeeeaGaneieeieeie e, Bovinnnn. 208 bp
med 51.2 55.2  CuuvenevnnnnnnnaeeaaGuuernnnnn. Bt Bovinnnn. 208 bp
mcd 51.2 55.3  .C.....iii i G e Ao....... 208 bp
mcd 51.2 55.4  .C......ii i G Ao....... 208 bp
mcd 51.1 | mcd 51.1 | med 51.1 [ mecd 51.1 | med 51.2 | mcd 51.2 | med 51.2 | mcd 51.2 | mecd 51.2
55.1 55.2 55.3 55.5 55.5 55.1 55.2 55.3 55.4
mcd 51.
lelel 98.1 99.1 99.1 98.6 91.6 91.2 91.2 91.2 55.1
mcd 51.
x Kk 99.1 99.1 99.5 91.6 91.2 91.2 91.2 55.2
mcd 51.
el 100.0 99.5 92.6 92.1 92.1 92.1 55.3
mcd 51.
* 99.5 92.6 92.1 92.1 92.1 5S.5
mcd 51.
*ok 92.1 91.6 91.6 91.6 5S.5
mcd 51.
*ok 99.5 99.5 99.5 55.1
mcd 51.
o 99.1 99.1 5S.2
mcd 51.
*ok 100.0 55.3
mcd 51.
xokx 5S5.4
Similarity: 91.2-100




S. microdontum-2, mcd2

Majority CCTTTTTGTCGAAATTTGGTCGTGTAATTGAAAAAATAT-TATT-ATTTATTTTTTGCAGGAACGACGTCGTTAGGACAG
10 20 30 40 50 60 70 80
————————— B s s s s B et B e e
MCAZ2=C LRI ittt it e e e e et e e - e
MCAZ2=C LR ittt ittt ittt ettt eeeeeaeeeaaeeennaeens - e e e e e e A e e e e e e
MCAZ2=C 2Rl ittt e e e e e e et e e e - e
MCAZ2=C2R2 i e i ittt ittt e ettt ee et eaeeeeeeeennaaens - S e e e e e e ettt et e e
MCAZ2=C 2R3 ittt ittt et e et e e e C...- T e e e e ettt et e e e e
mcd2-C1R3 Covvnnniiii Cuviriii i i [C A. P A (€ GA.—-—-——-
mcd2-C1lR4 . ...ttt [ [N A. Tt et e et et eee A GA...... -A.-—-—-
Majority GTGATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGG
90 100 110 120 130 140 150 160
————————— B i e e il e et ol
MCAZ2=C LRl ittt ittt ittt e et ettt eeaeeeeeeeennaaans C ottt e e e e e e e e et e e et e e e e e
0T D2
MCAZ2=C2RL ittt ittt ettt e e e T S
0T D2 O
ez D2 G 2
mcd2-C1IR3 ——-..C.....iiiinnn. L e e oo SRR
mcd2-C1lR4 ——-..C....iiiiinnn. L et SRR
Majority CTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— R it i e s st L
MCAZ2-ClRL .t e e G. 213 bp
mcd2-C1R2 Gevewennnnn Tevennnn. Bt e et e et e et e e G 213 bp
MCAZ2-C2R L .t e ettt 213 bp
MCA2-C2R2 ittt ittt ettt Bl e e e e e e et ettt e e 212 bp
mcd2-C2R3 . ... .. A...... . 213 bp
MCA2=CLlR3 ittt ittt ettt e eenneeeeann O 166 bp
mcd2-C1R4 Covvinnnt A Gt e e e e 165 bp
mcd2-C1R1 mcd2-C1R2 mcd2-C2R1 mcd2-C2R2 mcd2-C2R3 mcd2-C1R3 mcd2-C1R4
KEK 96.7 98.1 98.1 97.7 71.2 70.2 mcd2-C1R1
* ok ok 96.7 97.7 97.2 69.3 68.8 mcd2-C1R2
*Hx 98.1 97.7 71.6 70.7 mcd2-C2R1
bk 98.6 70.7 69.8 mcd2-C2R2
KK 71.2 70.2 mcd2-C2R3
ok 97.7 mcd2-C1R3
* KK mcd2-C1R4
Similarity: 68.8-98.6




S. multiinterruptum, mtp

Majority CTTTTTTGTTGAAATTCGGTCGTGTAATATTTAAATATTATATTATTTTTCTGCAGAAACGACATTCGGATTGAGACGTC
10 20 30 40 50 60 70 80
————————— R ettt e e et e R ettt Tt
T e O
T @ e O
T e O
o @ T O
Majority GTTAGGACAGGTGATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGTGGAGGCTAGGTCGGTGG
90 100 110 120 130 140 150 160
————————— R ettt e e et e ettt Tt
L e O
T @ e O
T e O
mtp-C1RS .............. A e Tt e e e e ettt e A e i e e
Majority GGGGCAGGCTAGGGCGTTGGAGGAAGGAGGTGTTXAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210 220
————— Fom——— Fo———— Fo———— Fo———— Fo———— +--
mtp-CIRL ......... A e e e TG e 222 bp
MEP-CIRZ ..t i et i e Tt e e 222 bp
mMEP-CIRA .. i e O 222 bp
mEP-CIRS ... i e et e 222 bp
mtp-C1lR1 mtp-C1lR2 mtp-C1lR4 mtp-C1R5
xRk 99.1 97.3 97.3 mtp-C1lR1
x KA 98.2 98.2 mtp-C1lR2
el 97.3 mtp-C1lR4
ol mtp-C1R5
Similarity: 97.3-99.1



S. muricatum , mur

Majority TTTTTCCGATCGAAATTCGTCATAATTTCGTGTATTCGATAATATTTATTTATATTTTTTTGCGGAAACXTCATTCTGAT

10 20 30 40 50 60 70 80

————————— R Tt e T bt et e e TP T

LS 1S L a1 1 T Ao
LS 1S L a1 T Gevvvvvnnnn

Majority CGAGACGTCGTTAGGACCTGTGAGGGGGGCGTGACCGGCGGCGTTGXCTGGAGGGTCGGTCGGTAGGGGTGCAGGATAGG
90 100 110 120 130 140 150 160

LS 1S L0 B a1 et e e e e et e e e
POMUTL=5S LD ittt e e e e e et et et e T e e e e e i e i e

Majority GCGTTGGGAGGAAGGAGGTGTTTAATAAGATTAGAATGCAATTACTGAT
170 180 190 200

POMUTL =5 S Lttt it e e e ettt et e 209 bp
L3S L0 a1 209 bp

pSmur-5S5 pSmur-5S15

KAk 99.0 pSmur-5S5

el pSmur-5S15

Similarity: 99.0



S. neorickii, neo

Majority CCTTTTTGTTGAAATTTGATCTCGTAATTGAAAAAAAAA-TATACTAATTTATTTTTTTT-GCGGAAAATACGTTCGGAT

10 20 30 40 50 60 70 80
————————— o
NEO—CLRL L i ittt e e et e e e T e e e T T e e e et e
NEO=C2RL i e e e e e e e e e e A...... Cueei i e e e T e e e
NEO=C3RL ittt ittt ittt e ettt et e e e e e e e e e e e e e e e et A...
NEO=CARL i it e e e e e e e e e e T e e e e e e e e T e et et e
TS Ll 0 2 T e e et et T e e e et e

Majority TGAGACGTCATTAGGATATGGGATGGTGGCGTCGGGGATGGGCGTGACGGGCGTCGTCGTGCGTCGGTGCGTGGAGGGTT

90 100 110 120 130 140 150 160
————————— B e it e e e et et
Neo-CLlRL .. i ittt e e e e e B i e et e ettt e e e e e e e
oY@ R 67
0TS L 3 0 B e e e e e e e e e e e T...
TS Tl O
NEO=C ORI it ittt e e e e e e e e e e e 7

Majority TTAAAGCGGGGGGCGGGCTAGGGCGTTGGGAGGAAGGTTGTGTTTAATAGATATTAGAGTGCAATGAATGAC

170 180 190 200 210 220 230
——————— Fo————— Fo—————— Fo—————— Fo—————— Fo—————— Fom——— +-——-
NEO—CLRL i e e et e e e ettt e e Ao T e e e et e e ettt 228 bp
neo-C2R1  ............. Gttt e e e e ettt e et e ettt ettt e et e e 232 bp
NEO—C 3R ittt ettt et e e e e e et et et ettt e 230 bp
neo-C4R1 ... ..., Gttt e e e e e e e e e e e e e Tt e e e e e et e e 230 bp
NEO—C R L ittt ittt ettt et e e e e e e et ettt ettt e 229 bp

neo-C1R1 neo-C2R1 neo-C3R1 | neo-C4R1 neo-C5R1
xR K 95.7 96.6 97.9 97.9 neo-C1R1
f 96.6 97.0 97.0 neo-C2R1
xRk 97.9 98.7 neo-C3R1
x Kk 98.3 neo-C4R1
xxK neo-C5R1

Similarity: 95.7-98.7

S. neorossii, nrs

DIRECT SEQUENCING - 213 bp



S. nigrum, nig

Majority

CCTTTTTGTCGAAGTTCGGCATGATTTCGTCTATTTGATAATATATATTATTATTTTTTTGCAGAAACGGCATTCGTGCC

10 20 30 40 50 60 70 80
————————— it e e et st e
o B e 0
0T e e Aot
o B e OO Tevvvnnne.
o T e e )2
Majority TAGACGTCGCTAGGACGGGTGACGGAGGCGCTGAGGACGGGCGTGACAGGCATGCCGTCGGTGCGTGGAGGCTXGGGAGG
90 100 110 120 130 140 150 160
————————— ittt e it et A s
g B e 0 A......
nig-C3R1 Bl e e e e e e e ettt ettt ettt e e e A......
o B e [
a0 e e ) (C
Majority CGGGGGACATGCTATGTCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGCGCAATGAATGAT
170 180 190 200 210 220
————————— R et I et
e O 226 bp
e e 226 bp
nig-C4R1 L e e e et ettt 226 bp
T e e 0 1o 226 bp
nig-C1R1 nig-C3R1 nig-C4R1 nig-C35R1
xx Ak 99.1 98.7 99.6 nig-C1R1
* Kk 97.8 98.7 nig-C3R1
x K 99.1 nig-C4R1
xR X nig-C35R1
Similarity: 97.8-99.6



S. okadae-1, okal
Majority CCTTTTTGTCGAAATTCGGTCGTGTAATTGAAGAAATGAAATATATTAATATTTATTTTTTGCAGAAAGGGCGTCGTTAG
10 20 30 40 50 60 70 80
————————— Bt e i it
o= o T
o= T N 1
oka I 55.3 .t i e i e e e et e et i e e e et e e e e e e
Majority GACAGGCGATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGE
90 100 110 120 130 140 150 160
————————— e e e i Rt i ittt
O 1 AA.
o= o 1
o= T B
Majority GCAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTACGAATGAT
170 180 190 200 210 220
————————— i i e e
oka I 55.1 Ao, Gt Covivnnnn Govvvnnnns T.ooo.... 220 bp
O = T 1 220 bp
o= o T 220 bp
oka I 5s.1 oka I 5S.2 oka I 5S.3
foleld 96.8 96.4 oka I 5S.1
x kK 99.5 oka I 55.2
x Kk oka I 55.3
Similarity: 96.4-99.5



S. okadae-2, oka2
Majority CCTTTTTGTCGAAATTCGGTCGAGTAATTGAAGAAATGAAATATATTAATATTTATTTTTTGCAGAAAGGGCGTCGTTAG
10 20 30 40 50 60 70 80
————————— e e e it e
oka II 58S.1 .T...i.iiiuiiinnnnnnnn. ettt i et e et et e e e e e e
oka II 5S.2 ........iiiia... T A e et e
Oka II 58.3 ..ttt T T T T T T T T T T T i e
o= o
Majority GACAGGTGATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGACGGTGCGCGTGGAGGCTAGGTCGGTGGGGG
90 100 110 120 130 140 150 160
————————— Fom e}
o= T
oka II 55.2 ...... et e e et ettt
o= T
oka II 55.5 ..... T e e e e e i i e e i i ittt e ettt e e it et e et e e
Majority GGAGGATAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAC
170 180 190 200 210 220
————————— it e e et
o= L 220 bp
oka II 55.2 .C...C............. A e e e e e, Govvnn T 220 bp
o = T o 165 bp
O T 220 bp
oka II 5S.1 | oka II 5S5.2 | oka II 5S.3 | oka II 5S.5
x kK 95.5 74.5 98.6 oka II 5s.1
foleld 72.3 95.9 oka II 5S.2
x Kk 74.5 oka II 55.3
ol oka II 5s.5
Similarity: 72.3-98.6



S. okadae-3, oka3

Majority CCTTTTTGTCGAAATTCGGTCGTGCAATATATTTATTTATTTATTGCAGAAAAGGCGTCGTTAGGACAGGTGATGGGGGC
10 20 30 40 50 60 70 80
————————— B s s s s B et B e e
(= 1 e
oka3-ClR2 e e e e e e e e e e e e e et ettt et e et et e e e
L= G el 1 T
Majority GTTGAGGATGGGCGTGACGGGCGGCGTCATGCGACGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGGATAGGGCGTTG
90 100 110 120 130 140 150 160
————————— B i e B e bt e et
(3= G Rl [
(= 10 e
(= TG Rl O 2 O RSN
Majority GGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTAGGAATGAC
170 180 190 200
————————— fom—————— Fo——————— Fo——————— ===
[ T O 2 T..... G. 204 bp
0ka3-ClRZ .t i e 204 bp
0ka3-ClR3 ............ N 203 bp
oka3-Cl1R1 oka3-ClR2 oka3-C1R3
* ok ok 98.0 97.1 oka3-ClR1
el 98.0 oka3-ClR2
KAk oka3-C1R3

Similarity: 97.1-98.0



S. ossicruentum, oss

Majority CCTTTTTTGCCGAAATTTCXTCGTCTATTCAGCGAATGATTTTTT-TTTGGGCGGTTGGGTCGTCTGCTTGGGCAGAGAC

10 20 30 40 50 60 70 80
————————— B s s s s B et B e e
0ss—-CIlR1 ...ttt At e e e e e e e T e e e et e e e A—vooi..
0ss-C3R1 T oo ... G == i e T...T.......... AG. ... Teeeven..
0ss-ClO0RL ..., A-——————————= Attt G...Tevo... AG. v eenn. T
08s-Cl5R]l ...ttt it [ e e e e e e e ettt e e e
05s-C20R1 ...t A e e e e e e S
08sS-C26R1 ... ii ittt R Y e e e e e

Majority GCCGTAAGGACGGTTGAGGAAGGGCGTCGCCGGCGCGTGGAGGCTAGGGCGGTGGTGTGCGGGXTATGGCGTTGGGGGAG

90 100 110 120 130 140 150 160

————————— BT s e et e it &
0SS=C LRI i e e e e e e e 7 Aeiinnnnn. .
0oss-C3R1  ..... e e e e e e e e e e e et et e e eeaeeeaeeeeaaaaeaanenas At Clut et e et e e
0ss-C10R1 ..... e e e e e e e e e et e et e et ettt e et e e e Cove et
[Tl O 2 R Cout et e et e e
0SS=C20R L ittt e e e e e e e e e e e e e et e e e [
0SS=C26RL ittt ettt e e e e e Bt e e e e e e e e et e e G.G.A. ...

Majority GAATGAGGTTTAATAGAXTTAAGAGTGCTAGGAATGAT

170 180 190
————————— R i e
0ss-ClR1 ... ... Ao, T, 196 bp
08s-C3R1 ...t S 185 bp
0ss-CLlOR1 . ... ... T e e e e e e 185 bp
0ss-Cl5R1 ... S 196 bp
0ss-C20R1 ... ... Ao, Toooo... 197 bp
08s-C26R1 .. ... 2 196 bp
0ss-C1R1 0ss-C3R1 0ss-C10R1 0ss-C15R1 0ss-C20R1 0ss-C26R1

* ok ok 85.4 86.9 96.0 98.0 94 .4 0ss-C1R1

* ok ok 97.0 89.4 87.4 85.9 0ss-C3R1

xx*x 89.9 88.9 86.4 0ss-C1l0R1

KAk 98.0 96.5 0ss-C15R1

el 96.5 0ss-C20R1

*A Ak 0ss-C26R1

Similarity: 85.4-98.0



S. pachyandrum, pac

Majority CTTTTTTGTCGAAATTCGGCATAATTTCGTCXATTCGATXGTAT-TTTTTCGCAGAAACGACXTTTGAGCGGAXACGTCG

10 20 30 40 50 60 70 80
————————— e e et e Rt e i
pac-ClRl ... ... i Covinnan T.o.o..... T....T...... ARA......... A....G....GG..oL L
pac-C2R1  ...... F A P R T C Gevvvnin Covnn
pac-Cl1Rl ................. AR. ... ... TT....... CA...A..... N Ao, A.G......
pac-C30R1 ................. AR. ... TT....... CA...A..... Teoeeoonn Acooooaa A.G......
Pac—C33RL ..ttt e e A....... T e A...... T...G...A...... C.ooo...
pac-C39R1 ...... e A...-A..G R Gevevnnnn C..T
Majority TTAGGACAGGCXCTGAGGATGGGCGTGTCXGGCGTGACCACGCGCCGGTGCGTGGGGGCTAGTGCGGTGTGGTGCAGGCT
90 100 110 120 130 140 150 160
————————— e e et e Rt e i
pac-ClRl ........... Gevnv Tt Gevue O P Gevuwnn G T.....
pac-C2R1 ........... Aot Ao, T e e e e e e
pac-ClIRLl .......... TGA...T....... S T
pac-C30R1 .......... TGA...T....... A CG e e e e e e e T
pac-C33R1l ...... A Bovenen.. Aovenen.. PP Ao.... Tevuenn TRt
pac-C39R1 ........... Aot At Ao, T...... T
Majority AGGGCGTTGGGAGGAATGAGGTTTAATAGAATTTAGAGTGCTAXGAATGAT
170 180 190 200 210
————————— R aa it e e
pac-CIR1 ............ AA......... Coviiiiial AAT...G....... 211 bp
pac-C2R1 ... . i Coniii i G..G 208 bp
pac-ClIRIl ................ Ao, Al A..... c 211 bp
pPac-C30RL ... .. e A A..... T 211 bp
pac-C33R1 ............... T Coviiiii i G..G 210 bp
pac-C39R1 ..... A e e e e A..... A....... 208 bp
pac-C1lR1 pac-C2R1 pac-C1l1R1 pac-C30R1 pac-C33R1 pac-C39R1
ol 85.8 83.9 84.8 84.8 84.8 pac-CIR1
*x ok 85.8 86.7 92.4 94.3 pac-C2R1
el 98.6 83.4 84.8 pac-Cl1R1
xR x 84.4 85.8 pac-C30R1
el 90.5 pac-C33R1
b pac-C39R1
Similarity: 83.4-98.6



S. palustre (= brevidens)-1, pall

Majority  -—------------------—————--—- TGARA——— = === —— TGAT-—————
10 20 30 40 50 60 70 80

————————— Rt Tt e e i

brev 55.1 ————-----——--—-m——mmm—m e [
brev 55.2 -—---------—-mmmmmmmmmmm e R
brev 55.3 —---------—--mmmmmmm e [
brev 55.6 -—-----—---—--——m—m—m——m— e R
brev 55.4 ACTTTTTGTAGAAATTCGGTCGTGTATT....AAATATATATATATTTTTTGCAGAAACGACATTTGGAT. ...CGGTCG
brev 55.5 ACTTTTTGTAGAAATTCGGTCGTGTATT....AAATATATATATATTTTTTGCAGAAACGACATTTGGAT. .. .CGGTCG

Majority-GTAGGACAGGTGACGGGGGCGCTTAGGATGGGCGTGAAAGGCGGCGTCAAGCGTCGGTGCGTGGAGGCTAGGTCGGTGG

90 100 110 120 130 140 150 160

————————— et s T o s S N
o S T R
brev 55. 2  — i e e .
brev 55.3 - ... e e A e e e e et e e e e,
o S T N
o ol T R
ool B

Majority GGGGCAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT

170 180 190 200 210 220

————————- Fomm Fomm Fomm Fomm Fomm ==
o o 150 bp
brev 5.2 ........ e et e e et it e e ettt e e et e e 150 bp
o o T 150 bp
o S B 150 bp
o o B 223 bp
o o T 223 bp

brev 5S.1 | brev 55.2 | brev 55.3 | brev 5S.6 | brev 5S.4 | brev 5S.5
*oxx 99.1 99.6 100.0 67.3 67.3 brev_5S.1
x Kk 98.7 99.1 66.4 66.4 brev 5S.2
el 99.6 66.8 66.8 brev_5S.3
*oxx 67.3 67.3 brev 55.6
*oxx 100.0 brev_5S.4
*xx brev 5S.5

Similarity: 66.4-100



S. palustre (= brevidens)-2, pal2

Majority ACTTTTTGTAGAAATTCGGTCGTGTATTTGAAAAATATATATATATXXTTTTTGCAGAAACGACATTCGGATTGATCGGT

10 20 30 40 50 60 70 80
————————— B et e Rt T et e
S e A Ao
Pal2-ClR2 i et e e e e e N AT e e e e e et e e e e e e
ST I G 2 o
T T 2 AT e e e e e e e e e e e e e

Majority CGTGTAGGACAGGTGACGGGGGCGCTTAGGATGGGCGTGAAAGGCGGCGTCAAGCGTCGGTGCGTGGAGGCTAGGTCGGT

90 100 110 120 130 140 150 160
————————— Bt st T it
ST e e
S T e
ST B G 2 P A..
S T 2 B e e e e e e et e e

Majority GGGGGGCAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT

170 180 190 200 210 220
————————— et S Sttt e
= T [ 223 bp
= T O 224 bp
S D O 5 223 bp
= T O 225 bp
pal2-C1R1 pal2-C1lR2 pal2-C1R3 pal2-C1lR4

*xK 97.3 98.2 97.3 pal2-C1lR1

o 98.2 99.1 pal2-C1lR2

xxK 98.2 pal2-C1R3

xxK pal2-C1lR4

Similarity: 97.3-99.1



S. pampasense, pam

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAATATTATTATTTATTTTTTGTAGAAACGACGT-CGTTAGGACAGG

10 20 30 40 50 60 70 80
————————— B ettt e T T e e e
pam-ClR1 ...... ot e e e e et e e e e ettt e e e et e e et e e e e e e e e A
Pam—ClR2 . i et e e T.ooeoioo e AT....... Covivnnnn A.T..GATT G
pam-ClR3 ....... i, B e et e e e e e e e e e e e e e et e e e e e
pam-ClR4 .. ... i e C T...... GA....oovvnn A...... Covivvnnnn.. e T
PAM—C3RL L it e e e e e e et e et e e i e e e e e
Majority TGATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGGC
90 100 110 120 130 140 150 160
————————— o
S e O T o e e e e e e e e e e e
PAM=C LR ittt i et e ettt e e e T e e e e e e e i e e e
PAmM=C LR L e e e et B e e e e e e e e
LS R O Ao, e
pam-C3R1 ....... ... G i e Govvnnn G.C Govevvnnnn Cee i
Majority TAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— o
pam-ClR1 ....... ettt e e e e e 213 bp
pam-ClR2 C.......... ..., Ao, P G.... 211 bp
pam-ClR3 ............ et e e e e 213 bp
Pam—C LR e et e et e 199 bp
Pam—C 3Rl .. i it 213 bp
pam-C1lR1 | pam-ClR2 | pam-ClR3 | pam-ClR4 | pam-C3R1
x K 90.2 96.7 88.8 95.3 pam-C1lR1
x KK 90.2 85.5 89.3 pam-C1lR2
bk 88.8 95.3 pam-C1R3
*xK 86.9 pam-C1lR4
xR x pam-C3R1
Similarity: 85.5-96.7



S. paposanum, pap

Majority CCTTTTTGTCGAAATTCGGCATAATTTCGTCTATTTGATAATATATATTTTTTTGCAGAAACGACATTCGGXCGGGGACG

10 20 30 40 50 60 70 80
————————— R T e e et e e e
S5l O 2 Govvvnnnn
Pap-ClR3 ... ittt it P T
PaP—C2RL . it e e Goe e ettt e e e e e e e e e Tevennnn.
S Rl O Gevvwnnenn G

Majority TCGTTAGGACAGGTGACGGAGGGGCTTGGGATGGGCGTGACAGGCGGCACCCACGCGTCGGCGAGTGCAGGCTAGGGCGG

90 100 110 120 130 140 150 160
————————— e e e st e el
S5 &l .
S Rt O
SN Rl O
SN Rl O

170 180 190 200 210 220
————————— et I e et et e
S Rt O 2 226 bp
S Rt O 2 226 bp
ST Tl O 2 226 bp
Pap-C2R2 .. ittt i Gttt e e et e e e e e e e e e e et e 226 bp
pap-C1R1 pap-C1R3 pap-C2R1 pap-C2R2
xRk 99.1 98.7 99.1 pap-C1lR1
x K 98.7 98.2 pap-C1R3
xR X 97.8 pap-C2R1
*xK pap-C2R2

Similarity: 97.8-99.1



S. paucissectum, pcs

Majority CCTTTTGGTCGAAATTCGGTCGAGTGATTGAAAAAATATATTATTATTTTTTGCAGAAACGACATTCGGATTGAGACGTC

10 20 30 40 50 60 70 80
————————— B e e e T e
ST O
L= O C.
PCS=C 2R ittt it e e e e e et e e et e ettt et
L=t O G Coe et e e e e e e e e e
ST =Rl GG 2 T e e e e e e et e et

Majority GTTAGGACGGGTGATGGGGGXGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGTGGAGGCTAGGCCGGTGG

90 100 110 120 130 140 150 160
————————— B it e e et B i ittt bl o
pcs—-ClR1 ... ... i T e e e e e e e et e ettt ettt ettt e et e e e
PCs—C2RL .. i i e T e et e e e e e e et e e et ettt e et et e e
PCS—C2R2 ... T~ ...
PCS—C2R3 .ttt e L
PCS-C3R1 ... i e e e e e e e e e ettt e e e et e ettt e e

Majority GGGTCAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCAATGAATGAT

170 180 190 200 210 220
————————— R e e e e
L=t O 223 bp
PCsS—C2RL .. ittt e Gttt e e e et e e e e e e et e e e 223 bp
ST et O 156 bp
PCS=C 2R3 ittt ittt e e e e e e e e et e e e I 223 bp
PCS=C 3R ittt i e et e e e e e e ettt Gevivnnnn 223 bp

pcs-ClR1 | pcs-C2R1 | pcs-C2R2 | pcs-C2R3 | pcs-C3R1
x K 99.1 70.0 98.7 98.7 pcs-ClR1
x KK 69.1 97.8 97.8 pcs-C2R1
bk 69.1 69.1 pcs-C2R2
HrA 98.2 pcs-C2R3
xR x pcs-C3R1

Similarity: 69.1-99.1



S. pennellii, pen

Majority CCTTTTCGTTGAAATTCGATCTCGTAATTGAAAAAAATATACTCATCTATTTATTTTTGCGGAAAATACGTTCGGATTGA

10 20 30 40 50 60 70 80
————————— t————————
S TS0 o e O
Pen=—ClR2 ittt e e e e e ottt e e e e e e et e e e e e e e e
pen-ClR3 ........ccuii.n.. At i T e e e e e e et e e ettt e e et e
pen-ClR4 ....... ... Bl e e e e e e e e e e ettt e e et e e e e

Majority TGCGTCATTAGGATATGGGATGGTGGCGTCGGGGATGGGCGTGACGGGCGTCGTCGTGCGTCGGTGCGTGGAGGGTTTTA

90 100 110 120 130 140 150 160
————————— Bt e et e et e it P T et
Pen—-ClRL ...t i et e e e Bt e e e e e e e e e e ettt ettt e e e
TS0 0 ek O
Pen—-ClR3 ...ttt ittt e Gttt it e et i e e e e e e e e e e e e e e
pen-C1lR4 T L e e e e e e e e et e ettt et ettt ettt e et e e e

170 180 190 200 210 220
————————— +--—t 4
S 1D 0 el O 229 bp
S TSD 0 el O 2 229 bp
S0 0 Rt G 229 bp
LS 15T 0 el O T. 229 bp
pen-C1R1 pen-C1lR2 pen-C1lR3 | pen-ClR4
xxKk 99.1 98.3 97.8 pen-C1R1
xR X 98.3 97.8 pen-C1lR2
il 96.9 pen-C1R3
el pen-ClR4
Similarity: 96.9-99.1



S. peruvianum, per

Majority CCTTTTTGTTGAAATTTGATCTCGTAGTTGAAAAAAA-TATACTCATGTATTTATTTTTTGCGTTAAATACGTTCGGATT
10 20 30 40 50 60 70 80
————————— B ettt e T T e e e
Per—ClRL i e e e e e e e e B e e e e e e e e e
Per—ClR2 ittt e e e e e e e e e e e e e e e e e e et ettt e
PEr—ClR3 . it e e e e e et e Gm e e e et e e e i e et e e e
1ot GG 2 T e e e e e e e e e et e
Majority GAGAGTTCATTAGGATATGGGATGGTGGCGTCGGGGATGGGCGTGACGGGCGTCGTCGTGCGTCGGTGCGTGGAGGGTTT
90 100 110 120 130 140 150 160
————————— Bt e et e &
Per—-ClRL .. e e e e 7
STt O
ST et O G
STt GG 2
Majority TGAAGCGGGGGGCGGGCTAGGGCGTTGGGCGGAAGGTTGTGTTTAATAGATTTTAGAGTGCAATGAATGAC
170 180 190 200 210 220 230
————————— B et B i e e
PEr—C LR L e et et e et et e e 231 bp
LS et O 230 bp
LS et O A 230 bp
LS a0 ) 229 bp
per-ClR1 | per-ClR2 | per-ClR3 | per-C3R3
xR K 99.1 98.3 98.7 per-C1lR1
xR X 99.1 99.6 per-C1lR2
el 98.7 per-C1R3
xxx per-C3R3
Similarity: 98.3-99.6



S. phlomoides, phl

Majority CTTTTTTXGCCGAAATTTGGCCGTGTATTCGGCGAGTGATTATTTATTTCGGCGGTCGGGTCGTTTGCTTGGGCAGAGAC

10 20 30 40 50 60 70 80
————————— T T Tt STt B Ttttk TR
phl-CIR1 ....... e Bt e e
phl-C1R3 ....... T e e e e e e e e e
phl-CIR2 ....... T e e e e e e e e e e
phl-C2R1 ....... PP

Majority GTCGTTAGGAAGGGCGTCGCCGGCGCGTGGAGGCTAGGGCGXXXXKXXXXKXXXXKXKXXXKXKXXXTGGGGGG--AGGAATGAGG

90 100 110 120 130 140 150 160
————————— Bt et e e ettt
PRLI=CIRL  eeeeeeemeannnn. T e e e e e e e e e L .
) o o X H .
Phl-ClRZ it ittt et ettt e GTGGTGCGCAGGCTAGGGCG. v v v ... R
PhLloC2RL ittt ettt et ettt e et e GTGGTGCGCAGGCTAGGGCG. . ... .. [l

Majority TTTAATAGAATTAAGAGTGCTGGAAATGAT

170 180 190

————————— R ittt
PRL=CIRL  toee ettt e e e e e e e 168 bp
PRLI=CIR3  tete et e e e e e e 168 bp
Phl-ClR2 . i ettt it ieie e 188 bp
PRLI=C2RL  toete et e e e e e e e 190 bp

phl-C1R1 | phl-C1R3 | phl-C1lR2 | phl-C2R1
xx*x 98.4 87.9 87.4 phl-C1R1
*oox 89.5 87.9 phl-C1R3
ok 98.4 phl-C1R2
* ok k phl-C2R1

Similarity: 87.4-98.4



S. phureja-1, phul

DIRECT SEQUENCING - 212 bp

S. phureja-2, phu2

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAATATTATTATTTATTTTTTGCAGAAACGACGTCGTTAGGACAGGT
10 20 30 40 50 60 70 80
————————— o
) S0 8
PhUuZ—C LR . ittt e ittt et ettt ettt e e et i et i et e e i e e
phu2-C1R3 ............ Gttt et e G T e e et e e
phu2-C2R1  ......... Bl e e e e e e e et e et et et et e e et e e
S SN D G 2
phu2-C2R8 .......... Bt o
Majority GATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGGCT
90 100 110 120 130 140 150 160
————————— et e e b e e a2
2 S D
PRUZ=CLRZ ittt ittt e ettt e e e e e BAovenn.
PhUuZ—ClR3 . ittt ittt ettt ettt e 1 Tt e e e
PhU2=C2RL it ittt ettt e ettt e e e B e e e e e
PhUZ—C2R0 . ittt it ettt et ettt e e A e e e e e e e i e e e
PhUZ2=C 2R it ittt ittt it et e e e e e e e e et e e e Toeeieeeeenn
Majority AGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
——————— Fomm Fomm Fomm Fomm +-—=
PhUZ=CLRL ittt ittt it ettt e ittt ettt it e 213 bp
PhuZ-ClRZ .. i i it e et 213 bp
PhUZ=ClR3 ittt ittt it e it ettt it i e e e e e e, 213 bp
PhuZ—C2RL .. e e et 213 bp
PhUZ=C2RO vttt ittt ittt ittt ittt it ittt ittt 213 bp
PhuZ—C2RE .. e et 213 bp
phu2-C1R1 phu2-C1R2 phu2-C1R3 phu2-C2R1 phu2-C2R6 phu2-C2R8
xRk 99.1 97.7 99.1 99.5 98.6 phu2-C1R1
* Kk 96.7 98.1 98.6 97.7 phu2-C1R2
el 96.7 97.2 96.2 phu2-C1R3
xRk 98.6 97.7 phu2-C2R1
*okx 98.1 phu2-C2R6
ol phu2-C2R8
Similarity: 96.2-99.5



S. pimpinellifolium, pim

Majority CCTTTTTGTTGAAATTTGATCTCGTAATTGAAAAAAAATATACTCATTTATTTTTTTTGCGGAAAATACGTTCGGATTGA

10 20 30 40 50 60 70 80
————————— B e e e T e
BN 1
S (L O
LT 1 O N
PIM=C3RL it e e e e e T e e e e e e e e et et e e e e

Majority GGCGTCATTAGGATATGGGATGGTGGCGTCGGGGATGGGCGTGACGGGCGTCGTCGTGCGTCGGTGCGTGGAGGGTTTTA

90 100 110 120 130 140 150 160
————————— B et i st e
0 ¢t 2 Goe e e
S (L O
S (et G2 Y A i i i e
S (L GG

Majority AAGCGGGGGGCGGGCTAGGGCGTTGGGAGGAAGGTTGTGTTTAATAGATTTTAGAGTGCAATGAATGAC

170 180 190 200 210 220
————————— R et e e et e T I e
PIm=ClRL . e e e et Tt e e e e e e e e e e e e 229 bp
I (0 229 bp
S (Lt O 229 bp
Ppim-C3R1 ... o e e e e e e e e e e e e e e e e e e et 228 bp
pim-ClR1 | pim-C1lR2 | pim-C2R1 | pim-C3R1
x K 99.1 98.3 98.3 pim-C1R1
f 99.1 99.1 pim-C1R2
xRk 98.3 pim-C2R1
xxx pim-C3R1

Similarity: 98.3-99.1



S. pinnatisectum-1, pntl

Majority CCTTTTTGTCGAAATTCGGTTCGTGTAXXTGAAAAAAATATXATTAXTTATTTTTTTGCAGAACGACATTCGATTGACGG

10 20 30 40 50 60 70 80
————————— B et e Rt e Tt e et
PSPh6 e e e e e AT. ... T T e e e e e e e ettt et e et e e
PSPH10 i e GA. ' viiiinn. NN
PSPh32 e e e GA. . iiiiieennn 7
PSPhA48 i e AT..ovun.. TAT.A T e e e et e e e e e

90 100 110 120 130 140 150 160
————————— Bt st e e ettt s e e e
pSph6  ........ CG [ 2
pSphl0  ........ CG...GA........ Cooee e A
pSph32  ........ GC 72 A e e e e
pSph48 ..., GC A Gt e e e e e e e e e e e e et et ettt et e e e

170 180 190 200 210
————————— e mnt e e ettt
152 o 1 A.... 210 bp
2152 1 I GG. ... 210 bp
pSph32 .. i A e et e G.... 210 bp
S350 0 A.... 210 bp
pSph6 pSphl0 pSph32 pSph48
ool 96.2 93.8 96.2 pSph6
ol 93.8 92.4 pSphl0
HxK 94.8 pSph32
xxx pSph48

Similarity: 92.4-96.2



S. pinnatisectum-2, pnt2

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATTGAAAAAATATATTATTATTTTTTTGCAGAAACGACATTCGGATTGACGGGT
10 20 30 40 50 60 70 80

pnt2-C3R1  .......... A....... ottt e et e e e e e e et e e e e e e e e ettt e et e
pnt2-C3R2 S e e e e e e e e e e e e e e e e e e e e AT. ... Coviiniiii e
1S3 SR GG 5 2 G Ao
0 e G
S S e GG 5 2
S0 e GG A e e e e e e
3 0w GG 5
pPNt2-C3R8  ....iiunnn... Geveeeenn R
pnt2-C3R9 ... .. i e Bl e e e e e e e e e e e e e e e T e e e i e
0 e GG 2
pnt2-C3R11 .......... L
0 e GG L A e e e
pnt2-C3R13 T........... ot e e et e e e e e e e e e e e e e e Gt e Ao
PRE2-C3R1I4 . e e ottt e e e e e e et e e e e e e e e e
S S e GG 5
0 e GG
3 o e GG 5
S S GG 5

Majority GATGGGGG-CGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGTGGAGGCTAGGTCGGTGGGGGGCAGGCCA
90 100 110 120 130 140 150 160

pnt2-C3R1  ........ S B e e e e e e
pnt2-C3R2 € S Teeeeon.
pnt2-C3R3  A....... Gt e e e e e e e Gt
pnt2-C3R4  ........ [ 7
pnt2-C3R5  ........ L Toveeio. G.CG..CA.CGA.A...AC.C.CT.TCCCT.CAC.AC...C....G
pnt2-C3R6  ........ S A....
pnt2-C3R7  ........ e e e e e et e e e e e e ettt ettt ettt e
pnt2-C3R8  ........ Gttt e e e e e e e e e e e e Lo e e e e e e e e i et et i e e e i e e
pnt2-C3RS  ........ e e e e e e e e e e e e e e ettt e ettt ettt e
pnt2-C3R10 ........ RS C 2
pnt2-C3R11 ........ e e e e e e e e e e e e e et ettt ettt ettt et
pnt2-C3R12 ........ EEE S
pnt2-C3R13 ........ R T...
pnt2-C3R14 ........ O [
pnt2-C3R15 ........ S e e e e e et ottt et e e e e et e e e e e e e e e
pnt2-C3R16 ........ O
pnt2-C3R17 ........ e e e e e et e e e e et e ettt ettt
pnt2-C3R18 ........ R A e e e i e e

Majority GGGCGTTGGGAGGAAGGAGGXGTTTAATAGGATTTAGAGTGCTATGAGTGAT
170 180 190 200 210

pnt2-C3R1 e A L 2 A.... 211 bp
Pnt2-C3R2 . ittt e A e Ao A.... 211 bp
PNt2-C3R3 ..t e e e T e e e e e e e e e e ettt A.... 212 bp
Pnt2-C3R4 .. i e e e e e e e e e e e e A.... 212 bp
PNt2-C3R5 ...t et T e e e e e e e e e e ettt A.... 212 bp
PRt2-C3R6 .ottt 2 211 bp
pnt2-C3R7  ....... T et ieee e T e e e e e e e e e e ettt A...A 211 bp
Pnt2-C3R8 .. i e T it ettt et A.... 212 bp
pnt2-C3R9 ... ... i 2 Y 211 bp
pnt2-C3R1I0 ...t B e e e e e e e 211 bp
pnt2-C3R11 ...T... ... B e e e e e e e 211 bp
Pnt2-C3R12 ... i T ettt e i e e N 2 211 bp
Pnt2-C3R13 ...t i B e e e A.... 212 bp
Pnt2-C3R14 . ... e e et e e et et e e 212 bp
pnt2-C3R15 . ... ... B e e e e e e 211 bp
Pnt2-C3R16 ..t e e et e e et et e e e e 212 bp
Pnt2-C3R17 ... B e e e e e e 211 bp
Pnt2-C3R18 ...t B e e e e e e e e 212 bp



pnt2

C3R1

pnt2

C3R2

pnt2

C3R3

pnt2

C3R4

pnt2

C3R5

pnt2

C3R6

pnt2

C3R7

pnt2

C3R8

pnt2

C3R9

pnt2

C3R1

pnt2

C3R1

pnt2

C3R1

pnt2

C3R1

pnt2

C3R1

pnt2

C3R1

pnt2

C3R1

pnt2

C3R1

pnt2

C3R1

* Kk Kk

92.9

94.8

95.8

83.5

94.3

95.8

93.9

95.8

94.8

95.3

94.3

92.9

94.8

95.3

95.8

95.3

94.

pnt2

C3R1

* Kk Kk

94.3

95.3

83.5

95.8

95.3

93.4

95.8

96.2

95.3

95.8

93.4

94.3

95.8

95.3

96.7

95.

pnt2

C3R2

* * *

98.1

86.3

95.8

97.2

96.2

95.8

96.2

96.2

95.8

95.3

97.2

96.7

98.1

96.7

97.

pnt2

C3R3

* * *

86.8

96.7

98.1

97.2

96.7

97.2

97.2

96.7

96.2

98.1

97.6

99.1

97.6

98.

pnt2

C3R4

* * *

84.4

85.8

84.9

84.4

84.9

84.9

84.4

84.0

86.3

85.4

86.8

85.4

85.

pnt2

C3R5

ER RS

96.7

94.8

97.2

97.6

97.6

97.2

94.8

96.7

98.1

97.6

98.1

97.

pnt2

C3R6

* Kk Kk

96.2

96.7

97.2

97.2

96.7

95.3

97.2

97.6

98.1

97.6

97.

pnt2

C3R7

* Kk Kk

94.8

95.3

95.3

94.8

94.8

96.2

95.8

97.2

95.8

96.

pnt2

C3R8

* kK

97.6

97.6

96.2

94.8

96.7

98.1

97.6

98.1

97.

pnt2

C3R9

* kK

98.1

97.6

95.3

97.2

98.6

98.1

99.5

98.

pnt2

C3R1

* Kk *

96.7

95.3

97.2

98.6

98.1

98.6

98.

pnt2

C3R1

* Kk *

93.9

96.7

97.2

97.6

98.1

96.

pnt2

C3R1

* Kk Kk

95.3

95.8

96.2

95.8

96.

pnt2

C3R1

* Kk Kk

97.6

99.1

97.6

98.

pnt2

C3R1

* kK

98.6

99.1

98.

pnt2

C3R1

* kK

98.6

99.

pnt2

C3R1

* kK

98.

6

pnt2

C3R1

* kK

pnt2

C3R1

Similarity:

83.5-99.5




S. polyadenium-1, pldl

Majority CTTTTTTGTCAAAATTCGATATTATAATTTTTTTGCAGAGACGACATTGGGATTGAGACGTCGTCAGGAAAGGTGATGGG
10 20 30 40 50 60 70 80
————————— R Tt e T bt et e e TP T
1SS e G 1 0
PSP LASS L3 i e e e e e e et e et e e e
PSPLd5S12 .. A...T...... BBt et ettt e (I Choveiienns
Majority  —-—-—-—-----————- GGCGTAACGGGCCGCGTGACGCGTCGGTGCGTGGAGGCTAGGTCGGTGGGGGGTAGGCTAGGGCGTT
90 100 110 120 130 140 150 160
————————— R T e e e e bt e L T
POPLlADS Il mmmm e e e e e ettt e AL A e et Ao,
PSPldSS13 —mmmm e e e e e At iiinnnn ottt e e e e e e e e e e e e
pSpld5S12 CGTGTTGAGGACG..... Govvons Guovvnnninnnnn ot it e i i it et i i e e e
Majority GGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGGAT
170 180 190 200
————————— o
PSP LIAS S L L e e e e e e e e e e 193 bp
pSpld5S13 B e e e e e e e et e ettt e i e 193 bp
PSP LAS S L2 L e e e e e e e e e e 206 bp
pSpld5S11l | pSpld5S13 | pSpld5S12
el 96.6 87.4 pSpld5S11
il 86.9 pSpld5S13
HxK pSpld5S12

Similarity: 86.9-96.6



S. polyadenium-2, pld2

Majority  CTTTTTTGTCAAAATTCGXTATTATAATTATTTTGCAGAGACGACATTGGGATTGAGACGTCGTCAGGAXAGGTGATGGG
10 20 30 40 50 60 70 80
————————— T T et et e s
pld2-CIRL  ..uenn... Gevinnnn Gt e e e e e e e e e Covenennnn
Pld2-CIR2  iierneennnnnn. Gt tee e P Coveeennnn.
PLA2-CIR3  vveineennnn. S T e e e e e e e e e e S
pld2-CIR4 .......... Gevunnnn Gt te e T e e e e e Acooo... A
pld2-CIRS  .vvvnn... Covo ALA—.... R o Aooenn.. Geveeeennnn Covenennnn
Pld2-CIR6 A..ieeuneennnenen.. Avviennnnnn T e e e e e e e Teeeeennn. Avviiennn..
Majority  CGTXTTGAGGACGGGCGTGACGGGCGGCGTGACGCGTCGGTGCGTGGAGGCTAGGTCGGTGGGGGGTAGGCTAGGG-——-
90 100 110 120 130 140 150 160
————————— T T s ST it TR
S Te o= R AP -——-
PLAZ=CIR2 ot Gt te ettt et e e e e e e e e e e e e e e e e Bt -
pld2-CIR3 ——--———---———. . ... Ao..... et e e e e e e A....TGTT
pld2-CIR4 ...C.c.unnnn.. CT ettt eeen - Covoennnnn TPt iieeeennnn. -
PLAZ7CIRE e e G et et e te e et et e e e e e e e e e e e e e e e e e e e e e -——-
pld2-CI1R6 ——--———=--———. . ... Ao..... et e e e e e e e A....TGTT

Majority---CGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGGAT

170 180 190 200 210
—— oo pommm oo pommm oo pommm o +-—=
PLlA2—Cl Rl — == e et e e e e e ettt et e 206 bp
DPLAZ=CLRZ oo e e et e e e e e 206 bp
PLA2-CLIR3 GGGt v ottt ee e ee e et et e et e e et T-.. 199 bp
DPLAZ=CLRA  mmm e e e e e e e e e e e 206 bp
PLAZ=CIRE ===t et ettt et et et e e e 205 bp
DPLAZ=CLRE GGG v e v et e e et e e e e e e e e e e e T-.. 199 bp
pld2-ClR1 | pld2-C1R2 | pld2-C1R3 | pld2-C1R4 | pld2-C1R5 | pld2-C1R6
ol 98.1 86.4 95.3 95.3 85.4 pld2-C1R1
xxK 85.9 96.2 94.4 85.0 pld2-C1R2
xxK 83.1 83.6 99.1 pld2-C1R3
x ok 90.6 82.2 pld2-C1R4
*xK 83.1 pld2-C1R5
* ok pld2-C1R6
Similarity: 82.2-99.1



S. pseudocapsicum, pse

Majority CCTTTTTGCCAGCAGAAACGGGGCGAGGAGGGGCGTCTGACGGCCGGAGCATTTTTTTTTCAGCAGAAACGGGGCGAGGA
10 20 30 40 50 60 70 80
————————— R e e e Rt e R et Tl
pSpse-5S5 O
PP SE =S T (L) T u ittt et et et e e e et e e ettt e ae e oo e e aeeeeeeeeeaeeeeeeeeeaeeeeeeseeneeeeessenneenens
PO SE =S T () ittt e e e e e e e e e e e e e ettt e P T e e e eee e
Majority GGGGCGTGTCGGGGGTCACGACGCGCCGGGGCGGGGEGTGGAGGCTGGGGGAGGGGAGTGAGGCTTAATAGAATTTCGAG
90 100 110 120 130 140 150 160
————————— B e e T it e A e e Tl
F 1S ST TSt 1 1
pSpse-5S7(1l) ..., B e e e e e e e e e et e e e e e Geuounw C et e e e e e e e e e e e e et e e e
POPSE =S T () it e e e e e e e e e e e e ettt e e e T e e e e e e e e e et e e
Majority CGCGCTGGATGAT
170
—_—— i ————— +___
pSpse-585 ..., 173 bp
pSpse-587 (1) ........ ... 173 bp
pSpse-5S7(2) ...... T...... 172 bp

pSpse-5S5 pSpse-5S7 (1) pSpse-5S7(2)
bk 97.1 97.1 pSpse-5S5
xx*x 95.3 pSpse-5S7 (1)
it pSpse-5S7(2)

Similarity: 95.3-97.1



S. pseudolulo, psl

Majority CCTTTTTTTTGTCGAAACTCGGCATAATTTCGCCATCACTATTTTTTTTCC-CGGAAACGAXATTTGTTTGGGTCGAGGC

10 20 30 40 50 60 70 80
————————— B et e e Rt e e
S35 = T - O N
LSS 2 e T e O,
POPSL=5S L Tttt ittt ettt et Tt e e e e eee e C.TTG. v v v vnnn I

Majority GTCGCTTGGGCAATTGAGGAGGGG-CGCCGCCGTGCGACGGTGCGTGGAGGCTAGGGCGGTGGTGCGCGGGCTAGGGCGT

90 100 110 120 130 140 150 160
————————— R e e T e Rt e Rt it Tl
PSPS1=2 e e e e e e e e e e e e e e ettt ettt et e e
PSPSl=3 e e e e e e e e e e ettt e et e e e e e e e e e
pSpsl-581 ...... Aou... Gevieeeenn Gt G e e Bt A.

Majority AGGGAGGAATGAGGTTTAATAGAATTTAGAGTGGTAXGATTAAATAGAATTTAGAGTGCTACGAATGAC

170 180 190 200 210 220
————————— B e ettt I e e e it

LS TS = T Gttt e e e e e e e e e e e e e 227 bp

PSOPSL=3 i e e e e ottt e e e e e e e e e e 227 bp

PSPsS1-5S1 ... e e Covvnnnnn.. C..m——————————————————- T A 204 bp

pSpsl-2 pSpsl-3 pSpsl-5S1

bk 98.3 81.2 pSpsl-2
HxK 82.1 pSpsl-3
*ok ok pSpsl-5S1

Similarity: 81.2-98.3



S. quitoense, qui

Majority CCTTTTTTAT-TCGAAACTGGGCATAATTTTGTCATCATTATTTTTTTTGGAGGAAACGACATTTGTTTGGGCCGAGGCG
10 20 30 40 50 60 70 80
————————— R et e e et i it
pSqui-5S1 ........ i c Coveeennn C.Co.... Coveneennn TCC.A.euvenn... Avuvnnn. Tevunn..
pSqui-5S2 .......... e e e e e e e e e e e e ettt e ettt et
pSqui-5s4  .......... e e e e e e e et et e e e ettt e e
pSqui-5S5 ... e e e e e e e e e e e et ettt ettt ettt e e
Majority TCGCTAGGAATGTTGATGAGGG-CGCCGC——=—==————— GCGTGGAGGCGATGGTGGTGGTGCGCGGGCTAGGGCGTCG
90 100 110 120 130 140 150 160
————————— ittt e it et A s
pSqui-5S1 ..... T CAA G..... [ CGTGCGACGGT . ..o v v v vt T.G..C....... At iiiiiee A
PSqui-5S2 ... e e R 2
PSAui=-5S4 ... e e T L i N
PSqui-5S5 ... e e T T T T T T T T T T e e e e e e e et ettt e e
Majority GGAGGAATGAGGTTTAATGGAATTTAGAGTGCTGGGA-———————————————————————— ATGAC
170 180 190 200 210 220
————————— R e e et et T T e
PSqui-5S51 ..., 2 G.A...TTAAATAGAATTTAGAGTGCTACGA. .. .. 227 bp
PSAUi=582 L.t eeeeeeee. AL T e e L 188 bp
LSS 1 B s 1 e N 189 bp
Fo TS T 16 T A 1 1 T it N 189 bp
pSqui-5s1 pSqui-5S2 pSqui-554 pSqui-585
el 71.4 72.2 72.7 pSqui-5S51
*k K 98.2 98.7 pSqui-5S52
xRk 99.6 pSqui-5S4
xR X pSqui-5S5

Similarity: 71.4-99.6



S. raphanifolium-1, rapl

DIRECT SEQUENCING - 172 bp

S. raphanifolium-2, rap2

Majority CCTTTTTGTCGAAATTXGGXCGTGXAAXXXTXAAAXAXTATATTXXXXTTXTGXAGAAACGACK XXX XXXXXXXXXXGTC
10 20 30 40 50 60 70 80
————————— Bt it B T it
rap2-L-DS ... c..T....T..TAT.T...T.T...... ATTT..C..C..ovvvn ATTCGGATTGAGAC. ..
rap2-S-DS ..., G..C....C..A——.G...A.A...... ——== T .G c.
Majority GTTXXGXXXXXXGATGGGGGCGTXGAGGATGGGECETXX XXX XXX XXX X XXX XXX XCGGTGCGTGGAGGCTXGGTCGGXGG
90 100 110 120 130 140 150 160
————————— f——t ¢}
rap2-L-DS ...AG.ACAGGT........... Chuoveiieeeiae GACGGGCGGCGTCATGCGT e v v v v v v v v e e v e A...... T..
rap2-S-DS LGAL =i T et e e e e T T T e e e e e e e [C C..
Majority GGGGCAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210 220
————— fom Fom— Fom— Fo————— Fo————— +-—-
A= D2 T D I 223 bp
A= D2 T I I 178 bp
rap2-L-DS rap2-S-DS
KA K 73.5 rap2-L-DS
il rap2-S-DS

Similarity: 73.5

Note: DIRECT SEQUENCING of long (L) and short (S) bands isolated from gel



S. raphanifolium-3, rap3

Majority CCTTTTTGTCGAAATTGGGTCGTGCAAATGAAAAAATATATTTTTTGGAGAAACGACGTCGTTGAGGATGGGGGCGTTGA
10 20 30 40 50 60 70 80
————————— ot —————¢}
rap3-ClR1 ...... Gle e e e et et e et e e e e e e e e et e ettt et e T
rap3-ClR2 ..t iiit it e L
AP 3=ClRE ittt ittt et e e e e ettt e N
FaP3=C 2Rl i e e e e e e e e e et et A T L
BT T T O 2
rap3-C3R1 ...... Gle e i e e e e et e e e e e e e e ettt et et e et
BT ST T O 2 Aoeiiiiinnn.
rap3-C4R1 ...ttt L
Majority GGATGGGCGTCGGTGCGTGGAGGCTGGGTCGGCGGGGGGCAGGCTAGGGCGTTGGGAGGGAGGAGGTGTTTAATAGAATT
90 100 110 120 130 140 150 160
————————— R ettt e e et e R s
B 1 E 2
FaP3=ClRZ ittt e e e e e et e T e e e e e e e et e et A e
B2 1 T O 2 A e
A= @ G el T.
A= @G el O
a2 1 E O 5 2 A Covnn
A= G R O
B T Ee O o A e
Majority TAGAGTGCTATGAATGAT
170
_________ +________
rap3-C1R1 A 178 bp
rap3-C1R2 .................. 178 bp
rap3-C1IR3  .................. 178 bp
rap3-C2R1  ............. ..., 163 bp
rap3-C2R2 ... ..., 178 bp
rap3-C3R1  .................. 178 bp
rap3-C3R2 ....... Govvvnnnnns 178 bp
rap3-C4R1  ............... A. 178 bp
rap3-ClR1 | rap3-ClR2 | rap3-C1lR3 | rap3-C2R1 | rap3-C2R2 | rap3-C3R1 | rap3-C3R2 | rap3-C4R1
xR K 96.6 97.2 88.8 98.3 97.8 97.2 96.6 rap3-C1lR1
* Kk 98.3 88.8 98.3 96.6 97.2 98.9 rap3-C1R2
*rAk 90.4 98.9 97.2 97.8 98.3 rap3-C1R3
x ok 90.4 88.8 89.9 88.8 rap3-C2R1
* Kk 98.3 98.9 98.3 rap3-C2R2
Hxk 97.2 96.6 rap3-C3R1
KA x 97.2 rap3-C3R2
KERx rap3-C4R1
Similarity: 88.8-98.9




S. scabrum, sca

Majority CCTTTTTGTCGAAATTCGGCATAATTXCGTCTATATGATAATATATATTATTATTATTTTTGCGGAAACGGCATTCGTGC
10 20 30 40 50 60 70 80
————————— B it T e it e e &
sca-ClR1 ............. Gevewnnn G T..ooon.. 1 I A...... Ao,
SCA—C2RL ittt e et e e T et e e e e e e e et e et ee e L Y
sca-C5R1  ....... ... Ao, ot e e et e e e e e e e e et e e e e e e e 1
Sca-C5oR2 ...ttt e et R 1 A e
Majority CTAGACGTCGCTAGGACGGGTGACGGAGGCGCTAAGGACGGGCGTGACAGGCATGCCGTCGTTGCGTGGAGGATAGGGCG
90 100 110 120 130 140 150 160
————————— B e e e i R it
LS e O A e e e i e e e
SCa-C2RL ittt e e e e e T e e e e e e e e e et et et e e eeaeeeeeeeenaeeeeeeeenneaenneennns T
SCA=COR L i e e e e e ettt e et e e T e e e e e e e et e e e e e
ST el G152 Y
Majority GCGXGGGAXATGCTAAGGCGTTTGGAGGAAGGAGGTGTTTAATAGAATTTAGAGCGCAATGAATGAT
170 180 190 200 210 220
————————— B e s st
sca-CIlR1 AL T A e Al 226 bp
sca-CZR1 B T e e e e e e 227 bp
sca-C5R1 G....C...... Tt e e e e e et e 227 bp
sca-C5R2 G cC e e e e e e e C 227 bp
sca-C1lR1 sca-C2R1 sca-C5R1 sca-C5R2
KEK 94.3 92.5 93.0 sca-ClR1
*A Ak 94.3 94.7 sca-C2R1
el 96.0 sca-C5R1
*A K sca-C5R2

Similarity: 92.5-96.0



S. seaforthianum, sea

Majority TTTTTTGGTCGAAATTCGACATAATATTTTCGTTTGACAATGTATATAAATATATTTTGCAGAAACGACATTAGAAGCCC

10 20 30 40 50 60 70 80

————————— B et e Rt e Tt e et

L ST TS L= e B e e e e e e e et e e
pSsea-3 ... Bl e e e e e e e e e e e e ettt et et e e e
pSsea-4 I A e e e Covvvnnnn A e e e e T

90 100 110 120 130 140 150 160
————————— e e e it e e e
LS ES =T = e ]
PSSEa™3 it i i e e e e G. Gttt e e e e e e e e e Coet e e e e e e e C.A
pSsea-4 Covvvvnnnn Gttt e e G G A..... A...... Gevvvnnnn T et

170 180 190 200 210 220 230
————————— e et e e E e
pSsea-1 Cut et iiiieee e L C..TC.A.T. v iennnn 230 bp
pSsea-3 ... e 230 bp
pSsea-4 ... 72 Tt e e e e e et et e e 230 bp

pSsea-1 pSsea-3 pSsea-4
xR 93.0 89.6 pSsea-1
xx*x 90.9 pSsea-3
*xx pSsea-4

Similarity: 89.6-93.0



S. sejunctum, sej

Majority CTTTTTTAGCCGAAATTTCGTCGTCTACTCGGCGGATGATTATTTTTTTTGGCGGTTGGGTCGTTTGCTTGGGCAGAGAC

10 20 30 40 50 60 70 80
————————— B et e e Rt e e
ST el O 2 A e e e e e e e
S Rl 2 2 Ao,
S el G 2
o el

Majority GTCGTTAGGACGGTTGXGAAAGGGCGTCGCCGGCGCGTGGATACCCAGGCGGTGGTGTGCAGGCTTGGGCGTGGGTGAGT

90 100 110 120 130 140 150 160
————————— Bt st T it
sej-ClR1  ............ O
sej-C2R1 ... ... ... Goe e e ettt e e e e B e e e
sej-C6R1  .........iiinn... et e e et e et et e e ettt e e e e ettt e e e et e e
sej-Cl1lR1 ..........co.... e e e et et e e e e e e e e e e e et e ettt e e e

Majority XGAGGAATGAGGTTCAATAGAATTAAGAGTGCTAGGAATGCC

170 180 190 200
————————- Fomm Fomm Fomm +--
sej-C1R1 et e e e e e e e et et e e et e e e e 202 bp
sej-C2R1 Rt 202 bp
sej-C6R1 ottt e et e e e et e e e e e e e e e e e 202 bp
S e O 202 bp
sej-C1lR1 sej-C2R1 sej-C6R1 sej-Cl1R1
xx Ak 97.0 99.0 98.0 sej-ClR1
*k K 98.0 99.0 sej-C2R1
xRk 99.0 sej-C6R1
* ko sej-C11R1

Similarity: 97.0-99.0



S. sisymbriifolium, sis

Majority CCTTTTTGTCGAAATTCGGCATAATATCGCCGTCTGTTTGATGAGATAXTTTTTTTTTCCGCGGGAACGACATTTTGGCC
10 20 30 40 50 60 70 80

SIS =C IR ittt ittt e ettt ettt e e Coe et e e e e e e e et e e e
S =l G2 T e e e e e e e et e e et et

Majority GAGACGTCGACAGGACGACGGTTGAGGAAGGGCGTCACCGCGCGCCGGTGCGCGGAGGCTGGGGCGGTGGTGTGCAGGGC
90 100 110 120 130 140 150 160

————————— e e s e e

e O

S R O

Majority AGGGCGCTGGGACGAATGAGGTTTAATAGAATTTAGAGCGCTAGGAATGAT

170 180 190 200 210
————————— e e e T Pt
o= e 211 bp
SIS =C 2R ittt ittt e e e et e et e ettt e e e 211 bp
sis-C1R1 sis-C2R1
el 99.5 sis-C1lR1
bk sis-C2R1

Similarity: 99.5



S. sitiens, sit

Majority CTTTTTTGTCTAAATTCGGTCGCGTGATTGAAAAAAATATACTTATTTATTTATTTTTGCAGAAAATACGTTCGGATTGA

10 20 30 40 50 60 70 80
————————— B T T it s e R
£ e Y
L T e
sit-C1R3 .......... [
S T w2 S Civieenenn.
sit-C3R1 .......... Gle e et e e et e e ettt e ettt e ettt e et e e

90 100 110 120 130 140 150 160
————————— B i e s et ittt
1 T w0
S el O OO G....
LS T e O 0 Y T et et e e et et ettt eteeaeeaseansans
S ol 23 OO
LS T e G 33 Y T e e et e e e et et ittt e teeaeaaesansans

Majority AAGTGGTGGACGGGCTAGGGCGTTGGGAGGAAGGATGTGCTTAATAGAATTTAGAGTGCAACGAATGAT

170 180 190 200 210 220
————————— R it e T e Tt T
SIt=ClRL .ttt ettt e e e e e e e e e e e e e e e et e e 229 bp
o o 229 bp
S e I T.oooo... 229 bp
S1It=C2RL ittt i i e e e e ettt e it i e e e i e e 229 bp
S e G Tooooa..

sit-C1lR1 sit-C1lR2 sit-C1lR3 | sit-C2Rl1 sit-C3R1
xxK 99.1 97.8 99.6 98.3 sit-C1lR1
xxK 97.8 98.7 98.3 sit-C1lR2
*xx 97.4 99.6 sit-C1R3
*xK 97.8 sit-C2R1
*xx sit-C3R1

Similarity: 97.4-99.6



S. sogarandinum-1, sgrl

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATTGAAGAAATATATTATTATTTTTTTGCAGAAACGACATTCGGATAGAGACGT
10 20 30 40 50 60 70 80

St e 2 et e e i e e
ol e O et e e e e e e e e
St e G T
SPTrL-ClR2 ittt it et et e e e 2
1St e O T
SOrL1-CARL ittt e e e e e e e 2N Gt
SGr1—ClR3 ..ttt e et e e e e e L
SOrl-C2Rl ... T e e e e e
STl e GG
o e O

Majority CGTTAGGACAGGTGATGTGGGAGTTGAGGATGGGCGTGACGGGCGGCGTCACGCGTCGGTGCGTGGAGGCTAGGTCGGCG

90 100 110 120 130 140 150 160

————————— R e e et e e bl LT e P
Sgrl-ClRLI ... .G. ittt ienennnnn R T e e e e e e i et et i i e e e e
o e O
STl e G 2 Couee e
sgrl-C1R2 ...C....ciiven... Cmmmm o o oo e e e e e e e e e e e e e e e e e
sgrl-Cl1R4 ...C....iiiiv... G e et e et et e et e et e e e A
sgrl-C4R1 ...C........ O Ot
ST e O G-—————-—- .
STt e 2 P G-=—==———- .
STl e GG G-—————-—- .
STl e G 2 P G-=—==———- .

Majority GGGGGCAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT

170 180 190 200 210 220
—————— fmm————— fom———— fom———— Fmm———— Fmm———— +-——=
ST e O G... 224 bp
LSt e G2 2 224 bp
ST e G 224 bp
STt e O 2 C ottt e e e e e e e e e e e 210 bp
sgrl-C1lR4 Ao CGACC.C.GA.A..T...C.C...CCC..C.CG.CGC.CT.C.G.TC. .. ... 210 bp
STt e O o C et e e e e e e e e e e e e e 210 bp
ST e O Coe et e e e e e e et e i e 215 bp
sgrl-C2R1 ....—-...... P 170 bp
ST e GG 216 bp
STl e O Gttt e e e e e e e e et e e 215 bp
sgrl- sgrl- sgrl- sgrl- sgrl- sgrl- sgrl- sgrl- sgrl- sgrl-
C1R1 C2R2 C6R1 C1lR2 C1lR4 C4R1 C1R3 C2R1 C3R1 C4R2

xHx K 98.2 96.9 89.7 77.2 88.8 92.4 71.9 93.3 92.4 sgrl-C1R1

xxK 97.8 90.2 7.7 89.3 93.3 73.7 95.1 93.3 sgrl-C2R2

rxK 89.7 77.2 88.8 92.9 72.8 93.8 92.9 sgrl-C6R1

xxK 87.5 99.1 87.1 66.5 87.1 86.6 sgrl-C1R2

*xK 86.6 74.6 54.9 74.6 75.0 sgrl-C1lR4

e 86.2 65.6 86.2 85.7 sgrl-C4R1

el 78.1 98.2 98.2 sgrl-C1R3

xxK 78.6 77.7 sgrl-C2R1

el 98.2 sgrl1-C3R1

xxx sgrl-C4R2

Similarity: 54.9-99.1




S. sogarandinum2, sgr2

Majority ACTTTTTGTCGAAATTCGGTCGTGTAATTGAAAAAATATATTATTATTATTTTGCAGAAACGAAATTCGGATTGAGACGT

10 20 30 40 50 60 70 80
————————— R et e e et i it
S a2 T..
o e O
ST el G 2
ST e G A e e e e e
Sgr2-C6R2 ...t i et e e e e e e e e e e e Coeee e
Sgr2-ClR3 ...t e e e e e e e e e e e e e e e e e et Coue e i
Majority CGTTAGGACAGGTGA-————————————————————————————— GCGTCACGCGTCGGTGCGTGGAGGCTAGGTCGGTG
90 100 110 120 130 140 150 160
————————— it e it et A 2
SOr2-CIlRL .. T T T T T T T T T e e et et e
Sgr2-ClRZ2 ... .. T e Al
SOr2-CORL ... T T T T T T e e ettt e e
Sgr2-C6R3 ... . . T e Al
sgr2-Ce6R2 ....... Tovovn.. TGTGGGAGT TGAGGATGGGCGTGACGGG G . v v v v v vttt ittt ettt it tiiea e e
sgr2-ClR3 ....... Tevenn. TGTGGGAGTTGAGGATGGGCGTGACGGGCG. « v v v v -« P

Majority GGGGGCAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT

170 180 190 200 210 220
—————— fmm————— fom———— fom———— Fmm———— Fmm———— +-——=
ST e O 194 bp
LS e G 2 194 bp
ST e G 194 bp
ST e G 2 194 bp
ST 2= COR ittt it e e e e e ettt e [ N 224 bp
sgr2-C1R3 ..... 2 224 bp
sgr2-C1R1 sgr2-C1R2 sgr2-C6R1 sgr2-C6R3 sgr2-C6R2 sgr2-C1R3
*xK 99.1 99.6 98.7 84.4 83.9 sgr2-C1lR1
*xK 99.6 99.6 84.4 83.9 sgr2-C1lR2
xxK 99.1 84.8 84.4 sgr2-C6R1
xxK 83.9 83.5 sgr2-C6R3
xxx 97.8 sgr2-C6R2
xx*x sgr2-C1R3

Similarity: 83.5-99.6



S. sparsipilum-1, spll

DIRECT SEQUENCING - 216 bp

S. sparsipilum-2, spl2

Majority CCTTTTTGTCGAAATTTGGXCGTGTAATTGAAAAAATATTATTATTTATTTTTTGCAGGAACGACGTCGTTAGGACAGGT

10 20 30 40 50 60 70 80
————————— R T e e e e bt e L T
Spl2-ClRl ...vvunn.. A..T...T-———————~ R e 2
spl2-C1R3 .G......o.o... T...T-———————- B
SPl2-ClR2 ..ttt ot e e e e e e e et e e e e e i e Goe ettt
SPl2-C1lR4 ... ..ttt e et e e e e ettt et e ettt e ettt e e e e G...
Spl2-C1R5 ... i e e e e e et e e e e e et e ettt e ettt et e

Majority GATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCAAGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGGCT

90 100 110 120 130 140 150 160
————————— R ettt e et et e
SPL2-ClRL ittt e ettt e e Ao, e e et e e ettt e e e e et e e e
1S TR G 2
SPL2-ClR2 ittt it e e e e e et e e N
spl2-C1R4 ........... L L
SPL2-ClR i e e e e e e e e e e e e e e e e e e e e e e e e ettt e

Majority AGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT

170 180 190 200 210
—_————— fom Fom— Fom— Fo————— +-—-
spl2-C1R1 ........... et e e e e e e e 196 bp
SPl2-ClR3 .. ittt Goe e e e e e e e e e e e e e 197 bp
SPL 2= C LR it e e e e e e e e e 213 bp
o T D O 213 bp
SPL2=C RS i e e e e e e e e e 213 bp
spl2-C1R1 spl2-C1R3 spl2-C1R2 spl2-C1R4 spl2-C1R5
e 96.2 87.3 87.3 88.3 spl2-C1R1
*FxK 89.2 89.2 90.1 spl2-C1R3
xxK 96.7 98.6 spl2-C1R2
xxK 98.1 spl2-C1R4
il spl2-C1R5

Similarity: 87.3-98.6



S. spegazzinii-1, spgl

DIRECT SEQUENCING - 205 bp

S. spegazzinii-2, spg2
Majority CCTTTTTGTCGAAATTCGGTCGTGTAATTGAAGAAATATATTTATTTATTTTTTGAAGAAAAGGCGACGTTAGGACAGGT
10 20 30 40 50 60 70 80
————————— e e e st e el
SPT2=C LR it e e e e e e e e e e ettt e A e G
S ST e G 2
S e D2 O 2
spg2-ClR4 ............. ot e e e e e e e e e e e e e e e e e e e e e e Gt e e e
o T D2 O 2 T
SPI2=CLlRO ittt ittt e e e e e et et e e et e e e i et et e i e e e
Majority GATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGAGGGGG
90 100 110 120 130 140 150 160
————————— f——t ¢}
S ST 2 O 2
S T D O
spg2-C1lR3 .......... Gttt e e e ettt e e e e e e et e et et e e e e AR, .t e
S e D2 O GeoGuovvwneni i
spg2-C1lR5 ........... 2 A T
spg2-ClR6 ........... B e e e e e e e e e e e e e e e ettt ettt e e
Majority CAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— e e e e ittt
S} e B O 219 bp
SPG2=C LR o et e 219 bp
SPG2-CIlR3 .t e e e e e 219 bp
SPG2-CLlRE ot e et Covviint Covviiin 219 bp
SPG2-C LR o e et 219 bp
SPG2-CLlRO et e e e CChviiiiii i 219 bp
spg2-C1lR1 spg2-C1lR2 spg2-C1R3 spg2-C1lR4 spg2-C1R5 spg2-C1lR6
e 99.1 97.3 96.3 98.2 97.3 spg2-C1R1
e 98.2 97.3 99.1 98.2 spg2-C1lR2
xxK 95.4 97.3 96.3 spg2-C1R3
xEx 96.3 95.4 spg2-C1lR4
xxx 98.2 spg2-C1R5
KKK spg2-C1lR6

Similarity: 95.4-99.1



S. spirale, spi
Majority CTTTTTTCGTCG—====—————— TCTATTCGGCGAATGATTTTTTTTTTTT---GCGGTTGGGTCGTTTGCTTGGGGAGA
10 20 30 40 50 60 70 80
————————— e e s e Rt ettt b bt 3
SPLI-CLRL i T T T T T T e e e et e e Gevivnnnn
SPL=CLR2 it T T e e e e ettt e e e e ettt e e
SPL=CBRL ettt ettt e m e TTT .o veenn.. Tt e et
SPLI=COR2 i T e e e e e et S
SPLI-ClORL i T T T T T T T e e e e e et o e e e e e e e e e e
spi-C20R1 ......... C. . AAATTTTGTCA. . v ittt et e e e i eeeaa === B
Majority GACGTCGTTAGGACGGTTGGGGAAGGGCGTCGCGATAGCAAAAAGGGCTATGGCGGTGGTGTGCATGGCTAGGGCGTGGG
90 100 110 120 130 140 150 160
————————— e e s e Rt ettt b bt 3
5] e O
spi-ClR2  ......... ottt i i i it et e e e e e e e e
spi-C5R1 ... ... ..., Al ettt e e
SPA=C R i e e et
5] e O o
SPi-C20RL AL ...ttt it 2
Majority GGXAGGAATGAGGTTTAATAGAATTAAGAGTGCTAGGAATGAT
170 180 190 200
————————- Fomm Fomm Fomm +-—=
spi-CIlR1 B T S s Teieii i 188 bp
spi-C1lR2 . Gevennnnes 188 bp
spi-C5R1 B T Y T...T....... 191 bp
spi-C5R2 e Gevevnnnes 189 bp
spi-C15R1 e ) 190 bp
spi-C20R1 T 198 bp
spi-C1R1 spi-C1R2 spi-C5R1 spi-C5R2 spi-C15R1 spi-C20R1
xxx 97.0 96.1 98.0 97.5 89.7 spi-C1R1
*oxx 94.1 99.0 98.0 89.7 spi-C1R2
*oxx 95.1 95.6 88.7 spi-C5R1
* K x 99.0 89.7 spi-C5R2
xoxx 89.2 spi-C15R1
xxK spi-C20R1
Similarity: 88.7-99.0




S. stenophyllidium, ste

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATTGAAAAAGTATATTATTATTTATTTGCAGAAACGACATTGGGATTGAGACGT
10 20 30 40 50 60 70 80
————————— B e i e e e e bt PRt e S
1S UL
S U O
S w02 o Y
Majority CGTTAGGACAGGTGATGGGGGGCGTTGAGGAGGGGCGTGACGGGCGGCGTCGTGCGTGGAGGCTAGGTCGGTGGGGGGGE
90 100 110 120 130 140 150 160
————————— B e e et B e e
S U
S w2 Y
S U O
Majority —--AGGCTAGGGCGTTGGGAGGAAGGTGGTGTTTAATAGAATTTAGAGTGCTATGAATGAC
170 180 190 200 210 220
————————— Bt e it e e ettt
STE=ClRL  —— i et 218 bp
SEE=CLRZ  GGu ittt ittt it it ittt ettt et e 220 bp
ste-C2R1 -——...... ... .. ..., 2 218 bp
ste-C1lR1 ste-C1lR2 ste-C2R1
KEK 99.1 99.5 ste-C1R1
*A Ak 98.6 ste-C1lR2
el ste-C2R1
Similarity: 98.6-99.5



S. stenotomum subsp. goniocalyx, gon

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAATATTATTATTTATTTTTTGTAGAAACGACGTCGTTAGGACAGGT

10 20 30 40 50 60 70 80
————————— e T e T e D e
gon—-CIRL ..ttt i e e e C G it e e et e et e e e e e e
GON=C LR ittt ettt e e e e e et e et e e [CR T,
[0 0 R
GON=CARZ ittt it ittt et e et e e e B e e e e e e e e e

90 100 110 120 130 140 150 160
————————— e T e T e D e
[ 0 R 0
gon-ClR2 ...t innnnn Lot e e e e e e e e et e et et ettt e et et e
gon-C4R1 ..... Bl e e e e e e e ettt e et e et e e e
gon-C4R2 .. ... ot e e et e e e e e e e e e e e e e e e e C ettt i e i e e

170 180 190 200 210
————— Fom——— Fo———— Fo———— Fo———— +-—=
[ £ o R 0 5 213 bp
gon-ClR2 ...ttt ettt et e et et e e e e e e e 213 bp
[ £ o R O P 213 bp
GON=CARZ ittt et et et e e e e ettt et 213 bp
gon-C1R1 gon-C1lR2 gon-C4R1 gon-C4R2

xRk 97.2 98.6 97.7 gon-C1R1

x KA 97.7 96.7 gon-C1R2

bk 98.1 gon-C4R1

ol gon-C4R2

Similarity: 96.7-

98.6



S.

stenotomum-1,

stnl

DIRECT SEQUENCING - 200 bp

S. stenotomum-2, stn2
Majority CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAAAATTATTATTTATTTTTTGTAGAAACGACGTCGTTAGGACAGGT
10 20 30 40 50 60 70 80
————————— e e et e e et
stn2-C1R1 .......... .. e e e e e e e e e e e e
SENZ2-CLlRZ .t i i i e e e e e T e e e e e e e e e e e e e
stn2-C1R3 ........ i e e e e e e e e e e e e
S o 0 0 S
ol e O .
S8 0 0 S
SENZ2-C2R4A . i e e e e T C.C i e
Stn2-C2R5 .. i i i e e Gttt e e e e e e e e e e
Majority GATGGGGGCGTGGGGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGG
90 100 110 120 130 140 150 160
————————— et T R et et
U0 0 O
o o O
stn2-CIR3 ....... ... .. ..., L
o o O
U0 o O
o oD O S
stn2-C2R4  ........... T e e e e i e it e e et e e e e e Y
SENZ2=C 2R it ettt Gt e
Majority CTAGGGCGTGGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— et e e e
SENZ2-CLlRL .t e e e e Aol 215 bp
SENZ2-CLlRZ .t e e e e Ao, 215 bp
stn2-CIR3 ....... ... ... A e e e 215 bp
stn2-C2R1 A e e e Coviiii i Gewvieieee 215 bp
stn2-C2R2 ......... T e e e e e e et e e e e e e e 215 bp
SENZ2=C2RE ot e e e e e e 215 bp
stn2-C2R4  ......... T i 213 bp
SENZ2-C2RS .t e e e e e e e Ao, 215 bp
stn2-C1R1 | stn2-C1R2 | stn2-C1R3 | stn2-C2R1 | stn2-C2R2 | stn2-C2R3 | stn2-C2R4 | stn2-C2R5
* %k 99.1 98.6 97.2 98.6 99.1 94.9 98.6 stn2-C1R1
x A 97.7 97.2 98.6 99.1 95.8 98.6 stn2-C1R2
x kK 96.7 98.1 98.6 94.4 97.2 stn2-C1R3
KA K 97.17 98.1 94.0 96.7 stn2-C2R1
x Kk 99.5 96.3 98.1 stn2-C2R2
* Xk 95.8 98.6 stn2-C2R3
*kx 94.4 stn2-C2R4
el stn2-C2R5
Similarity: 94.0-99.5




160

S. stoloniferum, sto
Majority CCTTTTT-GTCGAAATTCGGTCGTGTAATAGAAAAAATATGATTATTTATTTTTTGTAGAAACGXCGTCGTTAGGACAGG
10 20 30 40 50 60 70 80
————————— B e e et et e et e e e e
sto-C2R1  ....... T e e e e e e T. G..G —— e - ... Covivinn G. T...... G
sto-C7R1  ....... T e e e e e e e e ettt e T G..G e ——— ... Covinnnn G...T...... G
sto-C9R1 ....... e e e e e e ettt ettt et e e e e [
sto-C1l4R1 ....... e e e e e e ettt et et et et ettt e e At i
sto-C18R1 ....... e e e e e e ettt ettt e e e e A e
sto-C23R1 ....... e e e e e e ettt et ettt et et e e e A i
Majority TGATGGGGGCGT-—-—-—-—-—-=-==———- GACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGGC
90 100 110 120 130 140 150
————————— B e e et et e et e e e e
sto-C2R1 C........... TG AGGAT GGG G T . s it it i it et et et et et ettt e e e e aeeeeeeeeseseeesesesnsnsnns
sto-C7R1 C........... T GAGGAT GGG G T . v v v ettt ettt e e e e e eeaeeeeeeeeeeeanaeeeeeeeeeeeaaeeseeens
S oo el G ) = NN
STO—CLARL .. ittt it e T T T T T T T e e et e et At e e Al
S oo Rl O I S 2 Y
STO=C23RL ittt et T T T T T T T T e e e e e et B e e e e e e e e e
Majority TAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— B i e e it T e bR R
sto-C2R1 ....... Gttt e e R 208 bp
o o R 209 bp
S w e R G 200 bp
o o R O 200 bp
STO=CLBRL ..ttt ittt et ettt Coe et e e e e e e e e e e e e 200 bp
o o R GG 200 bp
sto-C2R1 sto-C7R1 sto-C9R1 sto-C1l4R1 sto-C18R1 sto-C23R1
el 98.6 86.9 86.0 86.4 86.4 sto-C2R1
folalel 87.4 86.4 86.9 86.9 sto-C7R1
bk 98.1 98.6 98.6 sto-C9R1
ol 98.6 99.5 sto-Cl4R1
bk 99.1 sto-C18R1
KAk sto-C23R1
Similarity: 86.0-99.5




S. tarijense, trj

Majority CTTTTTTGTCGAAATTCGGTCGTGTAATTGAAAGAATATATTCATTTATTTTTTGCAGGAACGACGTCGTTAGGACAGGT
10 20 30 40 50 60 70 80

90 100 110 120 130 140 150 160

170 180 190 200 210
————————— B T T e mmtnie T T e A
Lri-CLlRL ittt et e e Coe et e e et e e et e e e e 213 bp
o8l 0 213 bp
Lri-CLlR3 ittt ittt ittt e et e e e e e e e e e e e 213 bp
o8l 213 bp
Loy e 213 bp
o0l O 200 bp
Lri-C8RL . ittt ittt i e e Ga e e e ettt e e e e e e e 213 bp
trj-CI1R1 trj-CIlR2 trj-ClR3 | trj-C4R1 trj-C7R1 trj-C7R2 trj-C8R1
i 98.1 97.2 97.2 97.2 92.5 97.2 trj-CI1R1
x KK 99.1 99.1 99.1 93.9 99.1 trj-ClR2
xRk 98.1 98.1 93.0 98.1 trj-CI1R3
*k ok 98.1 93.0 98.1 trj-C4R1
*xK 93.0 98.1 trj-C7R1
*okx 93.0 trj-C7R2
Hxk trj-C8R1

Similarity: 92.5-99.1



S. torvum, trv

Majority CCTTTTTTGCGGAAATTCCGTCGTCTATTCTATTCGGCGAATCATAATTTTTTTTGGCGGAAACGACGTTTGCTTGGGAC
10 20 30 40 50 60 70 80
————————— B anat s et R e itk
trv-C2R1  .......... ottt e e e et e e e e e e e e e e e e et e e e e ettt e et e e
LU v O
LU v O T e e e e e e e e e e e e
trv-C40R1 .......... e T e e e e e e e e e e e et e
LU e O Ge et et i e e e e e
Majority AGTTGAGGAAGGGCCAGGAACGCGCGCCGTCGCATATGGAGGCTAGGGGCGGTGGTGTGGAGGCTAGGAATGAGGCTTAA
90 100 110 120 130 140 150 160
————————— -t
Lo v Y
trv=CORL i e e e T e e e e e ee e [ Ao,
Lo v G 2 Aooooo..
LU o v
trv-C4R1  ........... Aot Tt e e e e L Ao,
Majority TAGAATTAAGAGTGCTAGGGATGAT
170 180
_________ +_________+_____
Erv-C2R1 .. e i 185 bp
Erv-CO9RI .. e 185 bp
Erv-C23R1 ................ T, 185 bp
trv-C40R1l ... 185 bp
Erv-C4R1 ... i 185 bp
trv-C2R1 trv-C9R1 trv-C23R1 trv-C40R1 trv-C4R1
bk 97.3 97.8 99.5 96.2 trv-C2R1
kel 96.2 96.8 98.9 trv-C9R1
KA 98.4 95.1 trv-C23R1
KAk 95.7 trv-C40R1
*rx trv-C4R1
Similarity: 95.1-99.5



S. tuberosum ssp. andigena, tbrAl

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAAXATTATTATTTATTTTTTGTAGAAACGACGTCGTTAGGACAGGT
10 20 30 40 50 60 70 80
————————— T T T s STt e itttk ST
EDTA=CIRL e et ttteaee et ttiae et iiaae e PP
EDTA=C2RL e et ttteae e e et e e T e e e e e e e e e e e e e
EDTA=CARL  vvteitiiiaeeeeann Bt PP
EDTA=CBRL e et ttueae e ettt o c
EPTA=CIORL  vevvvvnnnnnnennn Teveennnnn Teveennn Tttt o <
Majority GATGGGGGCGTGGGGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGG
90 100 110 120 130 140 150 160
————————— B St it s
EDTA=CIRL 4t ettt ee et e ettt et e e e ettt e e e e e e e e e e e e e
EDTA=C2RL ettt tttee et e ettt e e e e e ettt e e e e e e e e e e e e e
EDTA=CARL ettt ettt e e et e e et e e e e e e e e e e e e e e Tt
tbrA-C8RL  ....cevn... PP
tbrA-C1ORL  +.eeevnnn.. T e B e e e e
Majority CTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— T ettt
tbrA-CIRL  ......... P 215 bp
tPrA-C2R1  ..cevn... Gt ettt e - 215 bp
EDTA=CARL 4ttt ettt e e e e et e e e e e e e e G.... 215 bp
EDTA=CBRL  veetttimeeeeeennnnn. B G.... 213 bp
EDTA-CLIORL  eeeevvinneeeeeennnns B Tevernnn. 213 bp
tbrA-C1R1 tbrA-C2R1 tbrA-C4R1 tbrA-C8R1 | tbrA-C1OR1
o 99.1 98.1 96.3 94.4 tbrA-C1R1
o 97.2 95.8 94.4 tbrA-C2R1
L 96.3 93.5 tbrA-C4R1
ok 95.8 tbrA-C8R1
oo tbrA-C10R1

Similarity: 93.5-99.1



S. tuberosum ssp. andigena, tbrA2

Majority

tbrT-C1R1
tbrT-C7R1
tbrT-C2R1
tbrT-C5R1

CCTTTTTGTCGAAATTCGGTCGTGTAAXXXXXXXXATATAXTTATTTATTTTTTGXAGAAACGXCGTCGTTAGGACXXXX

10 20 30 40 50 60 70 80
————————— i Rt s aat
........................... TAGAAAAA... . TA. ... ..o . To oo AL oo oo . TAAC
........................... TAGAAAAA....CA. ... ..o . To oo AL oo oot . TAAC
........................................ € N
........................................ € e

90 100 110 120 130 140 150 160
————————— T e i e i el bt et
tbrT-C1R1 Teeeeneio. P
tbrT-C7R1 Teeeeneiio.. P
tbrT-C2R1 ool T e e e e ettt e GevvvvniiiaaL
tbrT-C5R1 ool T
Majority CAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————— s e e et B
BB T—Cl R ottt i e et et e 219 bp
EbrT-CTRL .. i i e 219 bp
L 0 S 205 bp
L ) 205 Dbp
tbrT-C1R1 tbrT-C7R1 tbrT-C2R1 tbrT-C5R1
xxx 99.1 90.9 91.3 tbrT-CIlR1
*xx 90.4 90.9 tbrT-C7R1
el 99.5 tbrT-C2R1
*okx tbrT-C5R1

Similarity: 90.4-99.5



S. tuberosum-1, tbrl

Majority CCTTTTTGTCGAAATTCGGTCGTGTAAATATATTTATTTATTTTTTGCAGAAACGGCGTCGTTAGGACAGGCGATGGGGG

10 20 30 40 50 60 70 80
————————— e St et
T 518 R
PO EBLS 2 ettt et e Gt e e e
T =518 R F A

Majority CGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGGCTAGGGCGTT

90 100 110 120 130 140 150 160
————————— B et e e
DB LS e L ettt ittt e e e e e e e e e e
PO B LS e 2 ettt et e e e e e e e e
DB LS e 3 ettt ettt e e e e e e e e e e e e

Majority GGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT

170 180 190 200
————————— B et e
S5 = 1 T 205 bp
TS = 2 T 205 bp
S5 = G T 205 bp
pStB15.1 pPStB15.2 pStB15.3

xx*x 99.5 100.0 pStB15.1

* ok ok 99.5 pStB15.2

KA pPStB15.3

Similarity: 99.5-100.0

S. tuberosum-2, tbr2

ONE CLONE - 216 bp



S. tuberosum-3, tbr3

Majority

pStbr3-B1076_5
pStbr3-B1076_2
pStbr3-B1076_1
pStbr3-B1076 3

CCTTTTTGTCGAAATTCGGTCGTGTAAATATATTTATTTATTTTTTGCAGAAACGGCGTCGTTAGGACAGGCGATGGGGG
10 20 30 40 50 60 70 80

Majority CGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGGCTAGGGCGTT
90 100 110 120 130 140 150 160
————————— R i it
ST o B ot B = 0 O
PSEDI3=BL076 2 ottt et et
PSEDIE3=BL076 1 ottt et e e et
PStbr3-B1l076 3 ... . i e et i i et e e e e e
Majority GGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200
————————— Rt s
PSTOT3=BL0T6 5 & e eetuneeeee ettt ettt 205 bp
PSEDBE3=BL0T6 2 ot tteee e e ettt e e e e e 205 bp
PSTDT3=BL0T6 1wt ettteeeueeeee ettt e et 205 bp
PSEDBE3=BL0T6 3 ot tteee e e et ee e e e e e 205 bp
tbr3-B1076 5 | tbr3-B1076 2 | tbr3-B1076 1 | tbr3-B1076 3
xkx 100.0 100.0 99.5 tbr3-B1076 5
xokx 100.0 99.5 tbr3-B1076_2
kK 99.5 tbr3-B1076 1
o tbr3-B1076 3
Similarity: 99.5-100



S. tuberosum-4, tbr4

Majority

pStbr4-Bl.
pStbr4-Bl.
pStbr4-Bl.
pStbr4-Bl.

Majority

pStbr4-Bl.
pStbr4-Bl.
pStbr4-Bl.
pStbr4-Bl.

CCTTTTTGTCGAAATTCGGTCGTGTAATAGAAAAAATATTATTATTTATTTTTTGCAGAAACGACGTCGTTAGGACAGGT

10 20 30 40 50 60 70 80
————————— e s St T i ialele e e
T e e e e e e e e e e T C.T...C.A.........
.............................................................................. T.
................. T
....................................... T

90 100 110 120 130 140 150 160

Majority AGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
————————e o oo oo oo +——=
PSEDTA-BL.l et et Goetee e Guveeeenn 213 bp
PSEDTABL .2 oot et et e e 213 bp
pStbhrd-Bl.4 ... e L 212 bp
PSEDTABL 5 et et et e e 213 bp
tbr4-Bl.1 tbr4-B1l.2 tbr4-B1l.4 tbr4-B1.5
*xK 93.4 92.0 94.4 tbr4-Bl.1
o 95.8 98.1 tbr4-B1l.2
xx*x 96.7 tbr4-B1.4
*ok ok tbr4-B1.5
Similarity: 92.0-98.1



S. valdiviense, val

Majority CCTTTTTGTCGAAATTCGGCGTAACTTTGATAATATATATATATATTTTTGCAGAAAGGACATTCGGGCCGAGACGTCGT

10 20 30 40 50 60 70 80
————————— B e i e e e e bt PRt e S
BT T 2
T T G
T T

Majority TAGGACAGGTGATGGAGGCGCTTAGGTTGGGCGTGACAGGCGGCGGTGCGTGGAGGCTAGCGCGGCGGGGGACAGGCTAG

90 100 110 120 130 140 150 160
————————— B e e e i R it
T T
V2= T e
Val-ClIRL .ttt it ittt et e e e et e G

170 180 190 200 210
————————— B e e R
T T e 211 bp
val-C7R1 ........ e e e e e e e ettt et ettt e 211 bp
T B 211 bp
val-C2R1 val-C7R1 val-Cl1R1
kel 99.1 99.5 val-C2R1
KA AK 98.6 val-C7R1
*A Ak val-Cl1R1

Similarity: 98.6-99.5



S. venturii, vnt

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATTGAAGAAATAAAATATATTAATATTTATTTTTTGCAGAAAGGGCGTCGTTAG
10 30 40 50 60 70 80
————————— Bt e i it e
72 0 S O
7 S O Gevivvniiaa
7 S S O
VNE—C2RZ ittt e e i e e e e e L
7 SN ) e
7 S S )
7 S S O 5t
VNE—C O R it e e e e T T T T T T T e e e N
Majority GACAGGCGATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGATAGGTCGGTGGGGG
90 100 110 120 130 140 150 160
————————— Bt e e it e
vnt-C1IR1I ....... e et e i it i e et e it e e et e e e Coniiie i
72 S o O
7 S S O
Y S Covvnnl T.
7 0 O
72 S S )
vnt-C2R3 ......... .. ... T T e e e e i e e e e e
Y S e ) Conieie il
Majority GCAGGCTAGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210 220
————————— R e et e i o
vnt-ClR1 B e 220 bp
T2 e O 220 bp
VNE—C2R L i e et et e, 220 bp
T R 0 220 bp
VOE=CORL it ittt ittt ettt TC e ettt e eeeeeaeaenn Bvnenen. 220 bp
vnt-C5R3 ... i i G 220 bp
72 R 0 212 bp
VNE—CO R it i i i e e e ettt e 212 bp
vnt-C1lR1 vnt-C1lR2 vnt-C2R1 vnt-C2R2 vnt-C5R1 vnt-C5R3 | vnt-C2R3 vnt-C5R2
el 97.7 98.2 97.17 96.4 97.17 93.6 94.5 vnt-ClR1
* %k 99.5 98.2 97.7 99.1 95.0 95.9 vnt-C1lR2
xokx 98.6 98.2 99.5 95.5 95.5 vnt-C2R1
x A 96.8 98.2 94.1 95.0 vnt-C2R2
* Kk 98.6 93.6 93.6 vnt-C5R1
ol 95.0 95.0 vnt-C5R3
* Xk 98.2 vnt-C2R3
x KoKk vnt-C5R2
Similarity: 93.6-99.5




S. vernei-1l, vrnl

DIRECT SEQUENCING - 202 bp

S. vernei-2, vrn2

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATTGAAAAAATATATTTATTTATTTACTGCXXXXXXXXXXXXXXXXGGACXGGT

10 20 30 40 50 60 70 80
————————— B i e B e bt e et
vrn2-C1lR2 ...... Gttt i et Gt e e it it ittt et e e et AGAAATTCGGTCGTTA....A...
R a0 0 07/t O 2 G J Y AGAAATTCGGTCGTTA....A...
VEN 2= C R ittt i et ettt ettt et ettt et e et e ....G
vrn2-ClRL ...ttt et C et e et e e e e e e e et e et e T T e e — ....G

Majority GATGGGGGCGTTGGTGATGGGCGTGACGGGCGGCGTCATGXGTCGGTGCGCGCGGAGGCTAGGACGGTGGGGGGCAGGCT

90 100 110 120 130 140 150 160
————————— B i s s e e et e e &
VENZ2=C LR it ittt ittt et e et ettt ettt ettt e, Coveeiiee e T..... A e A.......
vrn2-ClR3 ... ... - ———mmm e e m e e e e e e et e e e e et e e e e e e e e e e e e e e
VIENZ2=ClRA ittt ittt et ettt e e et e e Y
T 0 2 L Guovvnnieie e

Majority AGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGCGCAATGAATGAT

170 180 190 200 210
—_——————— o e e t———————— +-——=
VIN2-ClR2 ..ttt ettt Gttt e e e e e e e e e e e 213 bp
T 0 D2 O 5 198 bp
T 0 O 197 bp
V200 0 D2 G C 197 bp
vrn2-C1R2 vrn2-C1R3 vrn2-C1lR4 vrn2-C1R1
Hk K 90.1 88.7 87.3 vrn2-C1R2
bk 84.5 83.1 vrn2-C1R3
KAk 98.6 vrn2-C1lR4
* Rk vrn2-C1R1

Similarity: 83.1-98.6



S. vernei-3, vrn3

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATTGATTTTAATATATTTATTTATTTACTGCA----TT--ATCAT-AGGACAGG
10 20 30 40 50 60 70 80
————————— Bt e it B ettt
vrn3-C1R5 e i e e e e e i e e GAAA..CGG..G.T........
vrn3-CIRl ....... ... ..., Gevvvvnvnn N GAAA..CGG..G.T........
vrn3-ClR2 .. e e e AAA-G......... Gevwneeiai GAAA..CGG..G.T........
vrn3-CIlR3 ............. Govvniiiiein Gevivnnn G..G..CG.vvvviiiia. . i P T TR
72 0 G Fe O P iU PP .G.
VIN3-CLlRO .ttt i i i it e i e Guetie e i P T TR
vrn3-ClR7 ..ttt it Goe et e e e e T e T T e e T e e
7 E O i O R T Ian
vrn3-CIR9 ....... ... .. ..., et e e e e e I
Majority TGATGGGGGCGTTGGTGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGCGGAGGCTAGGACGGTGGGGGGCAGGL
90 100 110 120 130 140 150 160
————————— et it e s
7 0 E O
vrn3-ClRl .......-=—=———————————————————— ettt i et i ittt it et et
VIEN3-ClR2 . oo o i et ettt e e e e e T.....
7 0 T Fe O 2 G.TCG....... G.C..G...G...... G.
7 0 E O ALG c..C
vrn3-ClR6 ........... N U
7 0 E A e e e
7 0 G Ee 2
7 0 E O
Majority TAGGGCGTTGGGAGGAAGGAGGTGTTTGATAGAATTTAGAGCGCAATGAATGAT
170 180 190 200 210
————————— Fom Fom Fom Fom +e——-
vrn3-CIRS .. e i e L 214 bp
vrn3-CIRL ... i A e 189 bp
VIEN3-CIlRZ . i i e e e e e Covvnen 189 bp
vrn3-ClR3 G..C...G Ol e T ¢ P G 207 bp
vrn3-ClR4 G.T.T..... c c C..G..G..C..C Coviinnn Govvnnnns 207 bp
VIEN3-CLlRO . i e et e Covvnnt. 207 bp
T 0B L 207 bp
VEN3-CIlRE . e e et e e e 207 bp
vrn3-CIR9 ..., ... i et e 207 bp
vrn3- vrn3- vrn3- vrn3- vrn3- vrn3- vrn3- vrn3- vrn3-
C1R5 C1R1 ClR2 C1R3 ClR4 C1R6 C1R7 C1R8 C1R9
. vrn3-
84.1 84.1 83.2 86.0 92.5 93.5 94.4 93.5 C1R5
xx vrn3-
97.2 70.1 72.0 79.0 79.4 80.4 79.9 C1R1
. vrn3-
70.1 72.4 79.0 79.4 80.4 79.4 C1R2
xx vrn3-
83.6 87.9 88.3 88.8 87.9 C1R3
e vrn3-
89.7 90.7 91.6 90.7 C1R4
. vrn3-
97.2 98.1 97.2 C1R6
.. vrn3-
99.1 98.1 C1R7
. vrn3-
99.1 C1RS
xx vrn3-
C1R9
Similarity: 70.1-99.1




S. verrucosum, ver

Majority CCTTTTTGTCGAAATTTGGTCGTGTAATTGAAAAAATATTATTATTTGTTTTTTGCATGAACGACGTCGTTAGGACAGGT
10 20 30 40 50 60 70 80
————————— s At e e e e
ver-C2R1 ... i e T e
ver-C2R2 T e e e e e ettt e Ao, 2
ver—-CORL ... i i e et e e e e e
Ver—CORZ it i i i e e e e e e e L
ver-C13R1 ....... T T T T T
Ver—Cl3RZ i e e e e e e e e e P
Ver—-Cl3R3 . i i e e T G.A...... L
Majority GATGGGGGCGTTGAGGATGGGCGTGACGGGCGGCGTCATGCGTCGGTGCGCGTGGAGGCTAGGTCGGTGGGGGGCAGGCT
90 100 110 120 130 140 150 160
————————— et s T s s S e
ver-C2R1 ... ... i i, Gttt e e e e et e e e et e e e e
ver-C2R2  ..... T e e e e e A e ettt
TS a0
Ver—CORZ ittt i et e
ver-CI3RIL ... i e Gt et et
TS ot O
ver-CI3R3 ... ... . i, e e e e e e e -
Majority AGGGCGTTGGGAGGAAGGAGGTGTTTAATAGAATTTAGAGTGCTATGAATGAT
170 180 190 200 210
———————— Fom Fom Fom Fom— +——=
ver-C2R1  ....... .. ... ..., T, . 213 bp
ver-C2R2 ... e et e e 213 bp
ver-C6R1  ......... A e e e e e e 213 bp
TS a0 213 bp
ver-CI3R1 ................ T e i e e 212 bp
ver-CI3R2 ... ... G ] 213 bp
ver-CI3R3 ... i G TT e 213 bp
ver—-C2R1 | ver-C2R2 | ver-C6R1 | ver-C6R2 | ver-C13R1 | ver-C13R2 | ver-C13R3
el %94.8 96.7 96.7 96.7 96.7 96.2 ver-C2R1
xokx 96.2 96.2 95.3 95.3 93.9 ver-C2R2
el 99.1 97.2 97.2 94.8 ver-C6R1
xkx 97.2 97.2 94.8 ver-C6R2
el 96.2 93.9 ver-C13R1
*kx 97.17 ver-C13R2
xkx ver-C13R3
Similarity: 93.9-99.1



S. vespertilio, ves

Majority TTTTTTTT-GCCAAAATTTCGTCGTCTATTCGGCGAATGATTATTTTTTTTXGCGGTTGGGTCGTTTGCTTGGGGGGAGA
10 20 30 40 50 60 70 80
————————— B it s e e st T e e ettt et
pSves-8(1) G e e e [ Ao, A e e T et e e e e e e e e ettt et e e e
pSves-8(2) ........ S Coe e et e e e e e e e e e e e et e e e [ T e e e e e
pSves-10  ........ 1N e e e e e Aveeeiinn
Majority CGTCGTTAGGACGGTTGAAGAAGGGCGTCGCGGTAGCAAAAAGGCCTATGGCGGGCGGTGGTGTGCATGGCTAGGGCGAG
90 100 110 120 130 140 150 160
————————— B e i i st
pSves-8(1l) ........ L e e e e e e e e e e e e e e e e et et ettt et ettt ettt et e ettt et ettt e e T
P OVES =8 (2) ittt i e e e e e et e e ettt ettt e e e e D e e e e e e e e e e
LS TS VA= et
Majority GGGGGAGGAATGAGGTCTAATAGAATTAAGAGTGCTAGGAATGAT
170 180 190 200
————————— o -
pSves-8 (1) B 204 bp
PSVES=8(2) i e e e e T....C. 204 bp
pSves-10 Ao, L A...... A 204 bp
pSves-8(1) pSves-8(2) pSves-10
bk 93.7 92.2 pSves-8(1)
* ok ok 93.2 pSves-8(2)
KAk pSves-10
Similarity: 92.2-93.7



S. villosum, vil

Majority CCTTTTTGTCGAAGTTCGGCATXATTTCGTCTATTTGATAATATATATTATTATTATTTTTGXAGAAACGXCATTCGTGC

10 20 30 40 50 60 70 80

————————— B e T et it

PSVIL=T ot B e e Tevrnn.. Aveernnnn.
PSVIl=8 e PP Covivnn Gevwnnnn

Majority CTAGACGTCGCTAGGACGGGTGACGGAGCGCTGAGGACGGGCGTGACAGGCATGCCGTCGGTGCGTGGAGGCTAGGGCGG
90 100 110 120 130 140 150 160

170 180 190 200 210 220

Similarity: 96.9



S. violaceimarmoratum, vio

130

203 bp
203 bp
203 bp
203 bp

140

150

50 60 70 80
fommmm - pommm - pommm - +
.......... T
.................. €
........ A e e e

160

Majority CCTTTTTGTCGAAATTCGGTCGTGTAATTGAAAAAAAATATATXTATTTATTTTTTGCAGAAACGACGTCGTTAGGACAG
10 20 30 40
————————— BT et e
vio-ClRl ............ Cooon. Covvnnl C.o..Coviiiie A.....
Vi0=ClRZ ittt e e e e e e e e e A
VIO=CIRE ittt it ittt i ettt et e e e e e C.T
7 T 1 T.....
Majority GCGATGGGGGCGTTGAGGAAGGGCGTGACGGGCGTCGGTGCGTGGAGGCTAGGTCGGTGGGGGGCAGGCTAGGGCGTTGG
90 100 110 120
————————— B et e e
Vio=CIRL  .Teeeninennenannn. P
o O
Vio=CIR3  .iiiiniennn.. G.T..GG
o 0 5
Majority GATGAAGGAGGTGTTTAATAGAATTTAGAGTGGTATGAATGAT
170 180 190 200
————————— o
vio-CIRl ....... o e e e e e e e e
vio-CIR2 ............... ittt ettt
Vi0=ClR3 it i e e e
VIO=C3RL ittt i i i e e e
vio-C1R1 vio-C1R2 vio-C1lR3 | vio-C3R1
xk ok 93.6 91.1 93.1 vio-C1lR1
x KK 95.6 98.5 vio-C1lR2
e 96.1 vio-C1R3
el vio-C3R1
Similarity: 91.1-98.5



S. wendlandii, wen

Majority CCTTTTTGTCGAAATTCGGAATAATTTTGT-CTATTCGATGGTA-TTTTTTGGCAGAAATGACATTTGGGCGGAGACGTC
10 20 30 40 50 60 70 80
————————— e e s e e s
pSowen-3.1  ...... et e et e e e e e e e et S
PSOWEN—=3.2 e Covivnn Covmvniinnn.. A.A.G...... Coe e e e e e e e e e e e e e
pSowen—13.1 ... et e e e R T e e e e e e et e Ao, T
pSowen-13.2 ... e At i e e e e e e e e T e e i e
pSowen-13.3 ...... Gttt e e e T, e e e B e e e e e e
pSowen-14 B Gttt T e e e T A..
pSowen-18.1 .T......iiiuue.o.. Ao, e e et S
pSowen-18.2 ..... ... oo, A.C....... CA.-T...... G.A.A.G...... T.o.o..... CT....... Ao,
Majority GTTAGGACAGGCGCTGAGGATGGGCGTGTCGGGCGTCACCACGTGCCGGTGCK -~ - =~~~ =~ —————————————————
90 100 110 120 130 140 150 160
————————— e e s e Rt bl b bt 3
pSowen-3.1 B e ettt D
pSowen-3.2  .......... T.A..... Cueee e A.A...A....C...A....GTGTCGGGCGTCACCACACTCCGGTGCG
pPSowen-13. 1 ... e T, A T-———————————————
pSowen-13.2 ... ... i e Toeeooin.. AC AL .G e e e
pSowen-13.3 ........... T e e e e e e e e A-—mmmmm oo
pSowen-14 ... ...l T T..A..... A.G-—-——-mmm oo
pSowen-18.1 ... ... ... .. T e e e A-—mmmmmm s
pSowen-18.2 A...... A..T.TT.A....... B e CA.T. . —m—m—m o
Majority =  —-----mmmmm oo TGGGGC-TAGGXTGGTGGGGTGCAGG
170 180 190 200 210 220 230 240
————————— e e e T e s e
pSowen-3.1  ---—------—-- o L., . Coll Tl
pSowen-3.2  TGTCGGGCGTCACCACGCGCCGGTGCGTGTCGTGCGTCACCATGCGTCAGTGCG. . . . . GA..T.GCuvvvrnunnn. T.
pSowen-13.1 ——-——-- - T .G.To el
pSowen-13.2 ——-—- - - - L. GA.T..GC...... T.T.
pSowen-13.3 -—-—------— - - .. - L
pSowen-14  -—--—--- - -— oo .. e G
pSowen-18.1 -—-—-—---—-—-—- - - .. -G...C....T........ A
pSowen-18.2 ———————————————- GC--CGGAG-----—- GG———=—————m—m—m - LGC..T.CChvvvnnannn
Majority CTAGGGCATTGGGAGGAACGAGGTTAAAGG-AATTTAGAGTGATAGGAATGAT
250 260 270 280 290
————————- Fomm Fomm Fomm Fom +-—=
pSowen-3.1 ... e i T e A....T. 208bp
pSowen-3.2  .......... C....A..T...... TG.TAG...... T....C...A...... 292bp
pSowen—-13.1 T... ...ttt e I T S T. 209bp
pSowen-13.2 ....... L T.C....T..TAC........... Covviiiin 210bp
pSowen-13.3 ... ... e i S AT...... 208bp
pSowen-14 T e e e e e T 208bp
pSowen-18.1 ... ... ... i i e T 208bp
pSowen-18.2 LT..T.G..CA...... T...... T..TAG N CP C.C.A..... A 215bp
pSwen-— pSwen-— pSwen-— pSwen-— pSwen- pSwen-— pSwen- pSwen-—
3.1 3.2 13.1 13.2 13.3 14 18.1 18.2
x xR 59.7 94.2 90.8 96.9 94.9 96.9 79.9 pSwen-3.1
*oxx 58.4 61.8 59.4 59.4 59.4 61.4 pSwen-3.2
*okx 89.4 92.8 95.6 93.9 77.8 pSwen-
13.1
pSwen-
*oxk 89.8 90.4 91.1 81.2 13.2
pSwen-
el 93.5 95.6 78.5 13.3
ol 95.2 78.8 pSwen-14
pSwen-—
xAK 79.5 18.1
e pSwen-—
18.2
Similarity: 58.4-96.9



S. wrightii, wri

ONE RIBOTYPE -183 bp



